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but the same medium should be used Ihmughnﬁt the

paper.
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~ Question Nﬁ. 1 is compulsory.
- Answer any four qucstinn§ from question no. 2 to 7.

All questions carry equal marks.
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Answer any five :

0

(i)

(iii) |

(v)

5x3 |
Two economics namely Economy A and Economy B

can produce both the goods X and Y. However

cconomy A is spccmhzcd in production of good X and

cconomy B is spccmllzcd in production of goud Y. Dm'w

and explain the production possibility curves for both |

1
the economies, _ - |

?
Lalita consumes only two commodity X and Y. The pnt::’
of X has increased but it is observed that Lalita 'u‘
consuming the same amount. of good X. Explain thisl..-
condition using income effect and substitution eﬂ‘ur. |

Do you agree that price controls often hurts thase for

whom these were meant to help ? Discuss this in view

of rent control. - S ‘

Dm a firm npemnng under- pcrl‘cctly cnmpchtwe rnaﬂ:ul,:i

it

always exnt whr:ncver it mcurs lnss.es in the short-run]
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( 3 ) 2435

() - In a city there is only onc company providing
" telecommunication service. The. company is asked to set
its price equal to its marginal cost. What problems will

the company face in doing .s0 ?

() 'Does the doubling of wage rate cause demand for
labour to be half ? Discuss.
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- What -is thei‘role of 'gnw:mment 'in a. modem

economy ? UL | ' .5
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( 5 ) 2435

L]

(i)  The demand and supply of labour in a village is given
by :
D, = 210 -3W and § = 2W,
Calculate the minimum wage (Wg) fixed by the

government which causes an unemployment of 40. §

(iif) Due to increase in income of residents of a city the
demand for car rises. What happens to pm{lucer surplus
in the market for car-? What happens to producer
surplus in the market for tyres ? Use diagrams to |
e:rplam ' 5

) UF Iy ddeEaT § WER R w1
e & 2 |

(H T& 7E H maﬁn‘h'aﬁ‘r{'ﬁfﬁmmm
%o |

D, .= 210 - 3W TH 5= 2W
TR g i =gmem TRl (W) T
T fomat awE | 40 HfFF RR A W
4 |

P.T.O.
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0] Shnuid a bumper- crop due to favourable weather
- condition be a cause of concern for -m;:.fanners ?
Explain. ' | 6

(i) Government imposes a tax‘ on sale of foods served in
a restaurant. Can the government ensure that the entire
burden of this tax will be bome by the rcs:taur:mt
owner? Discuss.”.- _ T R T .. 5

(i)  Studies indicate that the pﬁ& elasticity of demand for
milk in a particular village ‘is —1.2. If a litre of milk
currently priced at Rs. EU:and the government wanr.s

‘- to increase mllk cunsumptmn by 20%, I:nIy how much

5““““ it decrease the price of milk ? | 4-
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(1) 2435

() T RS WEH FH AIE § TE W FEA
frorl @ fog 9o =1 @ Frw g 9iee?
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g W wm @ 12 gy w wm
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LR

(7 . "Explain using income and substitution effects, why Giffen
T A% b S S T
goods have upward sloping demand 'curve ? 7
i : e - = eI

(i)  Use indifference curves to show how an individual

decides to allocate her time between work and leisure.
G RN *4 & R4 o . R

_ Will she necessarily work more if the wage rate

'll"'l—_ ~ - — gl
- g - & 5w f

rises 7 p
PTO.
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| |
(i) A consumer consumes two goods bread and rice.

Measuring rice on Y-axis, the MRS of rice for bread

is 0.5 at equilibrium. The market price of rice is Rs 20,

() What is the market price of bread ?

() Derive the equation of budget line. 22!

0] mqﬁwﬁmmymmmmmmi

fmwﬁwmuﬁtﬂn’{mmﬂﬂmﬁm;
t 2
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( 9 ) 2435

In the long run there are five altemative technologics

(N

to produce a commodity. Explain the derivation of long

- run ATC curve. 5

(i) The long run supply curve of a perfectly competitive
industry is more clastic in the long run than the short
run. Do you agree ? Give rcason (0 your answer. “

| (iiry A fanﬁ:r is in cquilibrium when he produces 100 kg
of potato. The total cost function is given as
C = 1000 + 10 Q + 0.05 Q*. The pricc of potato is
Rs. 20 per kg in the market.
(a) Calculate MC and AVC, AFC and AC of the
producing potato at cquilibrium level.
(b) Calculate total profits of the farmer. 42

() TewE d Tm a) W S9na w3 & fay
va fafis a@e overs &1 S
W @ feen & oA Fif)

P.T.O.
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C =1000 + 10 Q + 0.05 Q2
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(id)

(iii)

0]

( 1) . 2435

A monopolist produces a commodity X at a constant
average cost-of Rs. 20 and faces the  following

demand function :

X=20~-5P .
What is the equili.briurt-'; uul]:':lI:It and price and prﬁﬁl
of this monopolist ? .. ' 322 |
To produce _s.nciallyllefﬁcifnt ql.mntity in monupoly: what
ihnuld be done : per unit tax b-q“l:vi;d or per unit

subsidy be given ? S L 4

qwﬁﬂaﬁmﬁ@mﬁm%m

1&%%%%@%!?@@

mﬁmﬂ:ﬁm,_m‘ﬁqﬁﬁﬂﬁmm-
T ofiw 4 gfe B ¥ 2 i

PTO.
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X=200-5P
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(i) TEHEIYRRT § g o Sifieas R W @

a‘:ﬁqwmw A T T
aﬁmmmmﬁrﬁm ?

7. () Ina perfectly competitive markets, explain why the value

-of marginal product of labour curve is the demand curye

]

I

for labour, 5

(i) According to new labour laws, firms are now required
to give workers health insurance. How this law will affect

employment and wages considering no éhange'in labour ¢

_.supply ? G S . oo 4

1
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( 13 ) | 2435

(iif) Suppose labour is the only input used by a competitive

firm whose production function is as follows :

Units of labour Total Product
0 0
| 8
2 15
3 21
4 A% = 3
s _ 28
~ 2

(@) Each unit of output sells for X 5, calculate the

value of marginal product of each worker.

(6) Compute the demand schedule showing the number

of workers hired for wages of2¥ 15, 20 and 30.

() What happens to this dcrnn{td curve if the price
of output rises from t._S to ¥ 10 p;rlunit. 6
PTO.
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This question paper, contains 16+3 printed pages]

Roll No.

S.No. of Question Paper : 2436
- Unique Paper Code 2 12271102 o JC
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_ Semester BN

Duration : 3 Hours . R Maximum Marks: 75 .
(Write your Rall No.: on the top immediately' on’ réceipt of this question paper.)
Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper. _ .
ool @ - W W St W R feddt o s
% difse; dfF ot Il =1 mem ™ @t
=ifga |
There are six qu:stiu'n'_.i in all.
All questions are compulsory.
A simple calculator can be used.
R B: WA 14
it 71 sifardd ¥
WYRY HTReR F IYAT fFa s wHa B
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(2) T
1.--*-Do any- two'of the following : T 2x4=g
(@) Solve the following inequalities : |
0w St {oee s b Y g b
0 =<2
ot ; 2 | 12
el L O Bl P RO AR DO P LHH T EFF O
fi % (i1)  In(In(e* - 1)) < 0. .
\ FEe) o5 aed 2 Mt 1 ol 0 T b w1

(&) () Thecurvey=x2 + 4;6 is symmetric about the line

-

ol 3 Ih’.'if..‘ I.”h:.-:'. ’

x = k., Find k.

ey ... () Find the domain for fix) =

)

(¢) Show graphically the regions iﬁ the (x, y) plane

log (1 - x):

represented by-the following sets :

CA={(xy): y2

[x=1]
x

s x>0}
B=[(xy):p<21 - 18 - 322
C=_Ar\'B.

ﬁnﬁf@aﬁﬁﬁa‘r%mﬁm; R

o
0 <3
2 12

(i) In(in(ex - 1)) :'ﬂf 0.
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( 3) o 24%
® WJ;#:’Hx.mxnkﬁ?awmmmﬁa
¥k B I BT
(if) x%ammﬁﬁqﬁﬂ#fﬁq

+-..’x+2

fx) = log (1 - x)

© ﬁqﬁmw-mmaﬁaﬁmﬁ
w'ﬁﬂm:

A={x): yle;”.x?D}

B =[(x,y): y <21 — 18 -3¢
C=ANnB
Do any four of the following : - 44=16
(@ Show that the inverse of the following function exists :
y=ab*(@>0,56>1)
Find the inverse function g(x). Find g'(a) without finding
e derivative of 200 -
() Find the limits :
e b ¥ 3 |
0 lﬂ[T:;—] m,n> 0
|

(i) lim x* .

X =p

PTO.
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(4} 2436

© () Find an equation of the ine tangent to_the graph
of (2 +}2j3 = 837 ot the pqint (=1, 1.
(i Given :
V= nﬂﬁ.
How is the proportional rate of increase in V related
to the pmportipﬁal rates ‘of increase in r and h 7
Assume h and r are functions .of time.

(d) Determine whether the following converges or diverges.

If it converges, find the limit :

-« |-
0 2

nal ‘2_]1

@y ™ {—"—]

2n+1 n=l
@ () Point P moves so that the difference of its distances
from (3, 3) and (-3, -3) is a!l;.va‘}'s 6. F.ind the equation
that the n:nbrdina;q_f. (x, y) of P must satisfy. What
curve dees i;-rc-pres:ent Y3 -_ .
(i i)raw the graph of y = e‘" — 4, using the graph

ufy.n ft.
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« s ) 2436
frefafen § A fol W B Sw AR
@ T fe frefafan v @ wfem wo

(Inverse function) &1 e & .
y=ab*(@a>0,b>1) .
'Hﬁﬁﬁqwﬁg{x) 3ﬁ A I g(r) F
FEFEA (derivative) T ﬁh'q fam g = T
i
()) HHIA | T wIfWC

lim 2+ 3" mi.u::-l.‘l
(0 1| | = " ’

|
(i) lim x*

I—hsa

© @ @+ =t H IR FH fag -1, 1) |

Wy @ 1 wiEm §m s

i T@mwng:

ERT TR £ < PR
vV I rguifas gf& ST (Proportional rates of

*increase), r T h Tt IAH gfG 70 A A

mmﬁmt?mﬁlﬁqﬁwrw'
? wem 1

- PT.O.
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(9. ¥ S & ﬁ‘“fﬁ':@"‘ S l(chuence)
S (Convergent) ¥ A1 ATART (Divergent) |

iz 7% Afiart §, @ $7at SN (Limits) T

« |
n=lﬂ

- _1y"Hl n "
@ =D {2n+l}ﬂ_l

@ 0 I rwW wER TR w@m ¥ R o, ) 3

&)

-(-3,~3)ﬁmﬂﬁ{ﬁ’€ﬁ3ﬂwm&éﬂl
Tl P%ﬁ«i’?ﬁﬁ (Coordinates) (x, y) BRI
mwmaﬁmﬁaaﬁmlaﬁm
LR — 3 ?l

(id) y=e‘%§fﬁ'@aﬁmﬁy=eﬂ--4"ﬂ

e Ty
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Do any three of the following : Ix5=15

(@) Find the clasticity of y w.r.t. x :

) y=x2 b

(i) y=x+ Jo

®) O

(i)
© O

(i

Verify the quadratic approximation :

=l+x+x forx=0
1-x '

Determine-its accuracy for x| < - 0.1.
Show that the equation x> + 3x + 1 = 0 has exactly
one real root.

Let f be defined by

2t -1, x<0
f(x)=

5x2 =3, x>2
Define f(x) as a linear function on [0, 2] so .thal f
is cﬁntinunus for all values nf‘ .
Solve for x : 4% — 41 = 3_’f+1 - 3%

PTO.
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( 8 ) 2436

(d (i) Check for differentiability at x = 0 for the function

f(x)=¥x.

(i) Examine the continuity for :

f(x) = lim :

, x>0
n== | 4 x”

| Plot the graph.
frefafen § ¥ el 99 F I T :
@ y@F x D FUH A (Elasticity) T DI
. y=x7 b
(i y=x + Yo | | .
® () Frefafen fam SFHeT (Quadratic approxi-
mation) ﬁﬂmﬁa (Verify) Eﬁrl%fq :

| y .
=] $x + x° x.=0%§

l-x .

< 01 %ﬂmm(accumcy) ‘ﬂ'ilﬁ
B-ﬂfi'rm '

“ m%mﬂ+h+l*0${@w
(mt) i’l
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© O TA @ & s
- |2t -1, x<0
S(x)=
_ 5x2 -3, x>2
zr gfonfaa 1 s F [0, 2) R & W @A
(Linear) T B w9 & wRfa g fF £
x @ @i WH ¥ Ha@ (Continuous) W1
(i x %ﬂ Bal H'ﬂﬁﬂl :
4x — g0l = 3=+l _ gx

@ @) T fo)=Yc F x =0 T SNGHEHEM

(-Diﬁ'erentiahility) ¥ W= Hifog

. :
@y JSG)=lim —— x>0 | F[AA (Continuity)

¥ W Hiow| ARG =B
PTO.
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’ ( 10 ) U |
4 Do any three of the following & | 3xSe(s
(@ () The estimated value of a diamond bought fo,

investment. purposes is :

Vv = 250000(1.75)*¥

: |
If the rate of interest under continuous !

compounding is 7%, how"long should the diamond | -
1'

- R

be held ? o ‘
:

(i) Consider two cashflows. For cashflow A, you !
i

receive Rs. 10 Ew:ry year for 5 years with the first 1
payment being today. For cashflow B, you receive
Rs. x every year forever with the first payment being

today. What is the vallie of x in order for

cashflow B to have the same present value as

cashflow A 7

E ..-1
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Given a logistic function describing the population growth

over time, { :
K
)= ——
/1 1+ Ae™"
() What is the initial population ? At what rate is P(f)

(in)

(i)

(ii)

increasing at time ¢ = 0 ?
What happens to the population over time ?
Find the point of time when the rate of growth of

population starts declining.

2 2

Find all points (x, ) on the graph of x3 4 3 =38
where lines tangent to the graph at (x, y) have
slope = - 1.

The function f(x) is everywhere cuntin;mus and
diff_erentiai:lc. Prove that if the ﬁlncﬁu;i f (x) has two
real roots, then its dcrivatfve J’(x) has at ieast one

root,

P.T.O.
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( 12 ) 2436

- (d) Find the inverse g(x) of the following function :

2x, x<0

Sx)=1 |,

x, x>0
Also find the domain of the inverse. Show graphically thay

f(x). and g(x) are sme:ﬁc about the line y = x,

fefafes 4 & ffs 99 @ s S

@ @ 9% R IR ™ R w
.(Estimated} TV =250000(1.75) ¥ ¥ afe T
=1 (Continuously compounded) AT TX ™%

&, T 70 R = e 7o T S e 2
i) R TR wEE W R Fif TR
A ®F 19 5 o4 7@ Wiy ad 10 T el
%ﬁﬁﬁmmﬁmﬁmtmﬂ?ﬁﬁ
B ¥ SR T @ ferw ¥ ad « o
L U - firer &1
| TR YAE B W adam o e T4 A
® WA AN R www @, g kg o WO

R 2
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( 1) Wy

| (b) W ¢ ® T srrren yfy W uftfn w73 =m

wfafes woA ¢

TYv

() wRRam SFEEn @@ ¥ 2 5 =0 W P

()

fFram Ao w@eE?

(if) T B WY SN W P IVE S
£ 2

(iif) Emm%ﬁ%mﬁmﬁﬁm
ﬁmmﬁaﬁﬁl

2 2 -

B x3+yI=8 % UH R W Gz (x,)) F
d Wl MR W e @ () §
=-1 %I o f

(i) B f(x) W e i IR s T
wifea S i@ afe r() & D awaias q@
(root) &, T TP TEH fx) H T A =W
TF Y (Roo) ¥i

P.T.O.
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@ W B (Inverse fonction) &) 9 D Ty

F @ HIAC =

2x, xS0
J@=1,

xt, x>0
sitm & wEEW Qe o) T ) W@
y=x @ WA GAGE (Symmetric) 14
Do any three of the following : 3x5=15
(@) Consider the function f defined by
f(x) =4 - x + log(x - ), x> 1
Determine where /'is increasing and where f is decreasing.
Does it have any global extreme points 7

(b)) Given the function :

Ix? -8
x* -4

Sf(x)=

() Find the asymi:rtules. :
(i) Find the possible local extremes

(iif) Find the intervals of concavity and convexity

(v) Draw the graph.
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A tour service offers the following rates :
Rs. 1000 per person if 50 people (the minimum number to
book the tour) go on the tour for every additional person,

up to a maximum of 80 people total, everyone's charge

is reduced by Rs.. 10.

It costs 3000 (a fixed cost) plus Rs. 200 per person to

L]

conduct the tour.

How many people does it take to maximize the profit ?

Given a demand curve p = f(x) is convex from below

42
ie ";ZE? 0.

The total revenue TR = px is defined in terms of x and

d(TR)

the marginal revenue MR = =

Show that the MR curve is also convex from below if

3d°p|

&p &p d*p|
x d?|"

—£ <0 e e 0 i - <
dr?'} urlfdr,': it is dx’l
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Fretfafaa # @ ﬁﬂ'fﬁ’ﬁﬁ#m CUCIE

(@ JS(x)=4- x+lngx—l)r?|~mmm
fﬂwmlfﬁm'q(]nmmg)%a
w@mﬁ(m.ng),mﬁmlwsﬁﬁg

‘&ﬁﬁﬂ; (Global) = &g (Extreme points) £ 2

_‘(b) ﬂﬁﬂﬁm%:

3x --8'

f(:r)— =y

() Tt gevg aqﬂwﬁf‘qf (Asymptotes) E
i | |

(uﬁ T (Local) Sﬁﬁamﬁuﬁﬁﬁaﬂ sﬁ
T e

(i) e el I (Cunvtx) % aqn EET am‘c"
(Concave) T |

(v) @ T o ' t
© T{ﬂ?ﬂm'%mﬁqﬁm" Ry ]
“ﬁSUFﬁﬂ(qﬁTEﬁ%‘qﬂﬁﬁg:ﬁaﬂm)?
“ﬁ‘“‘ﬁﬂﬁrimmgﬁmﬁmmaﬁﬁ&ﬂ{
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=g ¥ (e |/E 80 W Tw) W =P

F X 10 T T H e wmom

T FH H fer @ 3000 T A wht wfmE

200 TW el @ amdt #1

o Al @ e O ¥ @ sifrwan B 2
(& T&o @0 um aw p =) TR A T (Convex)

squ-—-:»u |

HT T (Total revenue) TR = px, x & TG H
Rwfea & a4 W W (Marginal revenue)
MR = 20R)

mﬁmawﬁﬁﬁm%qﬁ ——:=-0

d’p|

4
0, I dx'JI - Pl

xdxll a"ﬂ'l

d’p
mfrfq&,

Do any two of the following : | 2x3=6

(a) Ata certain factory, the marginal Eqst is 3(q — 4)? per
unit. when. the .level of production is g units. By how
much will the total cost increase if the level of production

is raised from 6 units to 10 units ?

P.T.O.
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( 18 ) - A%

(5)  Find the arca of the region enclosed by the graphs of

j*"'.lJ and y = 2 - x,
(¢) Given the demand and supply functions in a competitive
market :
Q! =1200-6p, and Q! =2p,,
Find the equilibrium price and quantity in the market. What
is the stability of the adjustment to a disturbance in the
market ?

Wﬂ%mﬁﬁ:ﬂ\:

(a) mmﬁﬁwm'mmqm
TR e T 3 - 42w sEE R
R I TR 6 IR A WG 10 vl

W T N oww v e g
R ? |

i)
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k) y=2dy=2-x % @ g Wag & F
8% T BT
(© TF WREE (Competitive) TR F WM & MY

( 19 )

Fed 3 TR T

Q/ =Ié{}0-6p, qQ =2p.,
+q AR B TeH F A (Equilibrium) aﬁﬂﬂ
7 T I FAT ) TR § G S (Disturbance)
F yiomTeEy guEeE & @A (s:aﬁiri:y) G2
%2 '

19 : 600

Scanned with CamScanner



)
J
This q'uutioln paper contains 8+4 printed pages]

" Rall No.

S. No. of Question Paper : 3546

Unique Paper Code : 12271101 | 'JC -
}':Iamc of the Paper : Introductory Microecdnomics
Name of the Course , : B.A.(Honours) Economles
\ Semester _' 2 1 '
Duration : 3 Hours Maximum Marks : 75

. (Write your Roll No. on the top Immediately on recelpt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;
_ - but the same medium should be used throughout the

paper. .
‘Rrwoft ;T -9 W I SN AT} R o v
7§ difg; dfer o s w1 m w § e
e | - -

The question paper consists of-6 questions.
Attempt any five questions, ' .
All questions carry I:qual marks.
.Usc of simple calculators is allowed.
W WA d 6w §
fel ufa el & Im g
o # o ww b
T FegdR W I fewm W wwm b
P.T.O.
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(2) 1Y

. (@) : Use the concept of the production possibilities fronter

to explain the concept of an efficient outcome. Explain
the difference between a straight line and a concave

production possibilities frontier. 5,

(b} Using indifference curves analysis, the impact of a change

in price of a normal good 'on its consumption uglng

substitution and income effects. .S
e
(¢) Consider a non-lincar demand curve, : 5
Q7= A (PB)

Where A and B are positive constants.
. ' '| . [

()  Show that the price elasticity of demand for this

demand curve is (-B) at all points on the dv:ma]'ld

curve. ’ |

(i)  Write the equation of the total expenditure curve.

(if)  Suppose B = 2. Will the total expenditure rise when

price increases ?

(@) SR m q® (production possibility frontier)
WO § R (cfficiency) F IyuRn B

| WIHIRY | TR YW (straight line) F S (concave)
R TN T FOAE A H GHGE
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(3) 3546
mfuqﬁl'ﬂ'ﬁ fergetot (indifference curvc.nnnlysis) &l
e R F W B RomEEy 8
W ¥ 379 WM (substitution and income effects)
@ HHERC |
freffoe atfas ot wm w frem FC,

Q= A (P)

Wl A T B v femw €

o i fe T A S wh Rl W
ahr F1 FId @ (price elasticity of demand)

(»

(c) -

(-B) &I
(i) el =49 T (total expenditure curve) 1 gt ¥
. fafem | ' .
Gin W A T B =21 F Fwa A afs
RoreEs =a A FE i ?

(a) 'Dischss the effects of a price floor imposed by the

gm-emmcnl in the labor marl-::t.// 5

: - o
(h)  If the world price of a good exceeds the domestic price

of the good. will the cnunt-ry export or import the
" good ? In this case, who gains from trade — domestic

‘consumers or producers or both 2 5

P.T.O.
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(4) : 8%
()

E . . 'y
Xplain how and why a per unit tax creates dead weight

losses.in the marke. Can the dead weight losses be

avoided if the consumers and producers voluntarily donate

the tax amount and the government repeals the tax in the
market ? ' 5

l
(@) o™ e ¥ g # AT HHI (price floor) TR

ﬁ'ﬂl IE| 3 qﬁ“ﬂ'ﬁ'ﬂ'ﬁq IR (short run) 'ﬂ
ST (long run) B ¥R a0 anfd @ wet
R w fE @R

() A Felt o = Afvaw @ Iwa e Fvm
R ol &3 W 20 F1 30 am W Fraf w
afee o om ? 3@ feafa # =R R Y @™
B & — W sl @ @ sdRE @ oA .
q w7,

() WEET 6 e R i T W @ sy
AR H FA 'ﬂﬂ.’r W (dead weight loss) I
B ¥ U TR T W R w2 i i
amﬁmﬂmm’mﬁrﬁmmh?
1 FA UK THIA B A T FEA § ?

(a). The recent drone attacks on Saudi Arabia destroyed oil

facilities and the country's crude oil productior is expected

(o reduce siglziﬁﬁnllj;' in the short run. Discuss the impact’
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(5) o . 3846
of drone strikes on the.petrol market in the world and

subsequently the used car market. 5

(6) , How and why does a firm's average total cost curve differ

in the short run and the long run ? 5

"(c) Calculate the income r.;lutit:iry of demand of good X i'.rom

the following data. Hence, conclude whether X is an

" inferior or normal good. . 5
L
PRICE OF QUANTITYOF | INCOMEOF |
GOOD X (Rs.) GOOD X THE CONSUMER
.10 i 0 100
7.1 K9 200
10 0 400

[a). Hﬁmﬁmﬁﬁm;ﬁm_ﬁqﬁ#
. TS Rl W T w ¥ P ety
B T W R TR F aewww A wmTe
F B = W 1 2 T B ey
fova 5 e TR 7 wER v w g @
_ %mmﬁmMmmml
(b)) mmmhuﬁ%@a%agﬂm
ﬁﬁﬁﬂmmﬁ%iaﬁi’ |

P.T.O.
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. (6) - 35%

@ Frefafaa stegi # wemm & 75 X ® N
) 31 i # o w1 v frewd Frefeg
ﬁﬁﬁﬁmaxqmﬂﬂmmmnﬂqtﬂnmmm
(normal) T ¥ :

g x W | mgx @ | i
Had (F.) HAT AT
— - -

10 0 . 100 -

20 40 EﬂD
ml m 4[}1.3

(@) A countyy levies ; 3% digital tax on the rcvcnuc:é: earmed
| by a local internet search engine company. The -:u.fnp'uaﬁy
responds by reducing the hourly wage ratl: of n;l its
employees. Using indifference curve analysis, show how

the workers may respond to reduction in their w}agc rate.

Will }nur analysis depend on whether lcisure is -normal

or inferior 7 . 7

(5) The demand curve for Meltro rides for a female employee

Vidhi is given by : . 8

: 1 |
P=so-3Q . ., |

|
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st R (7) 3546

| Wllr;rc Q is the number nl'mclrt:irﬂ takes per month
‘+ﬂ|ld p is the cost of th:ﬂ;._tt ickel. _.
‘ l':'} Suppose the supply of metro s.cnric:s she avails
is perfectly clastic at Rupees 30 per ride between

two destinations. Find the equiii_brium number of

rides taken by Vidhi per month and the consumer

surplus enjoyed by her.

(i The government proposes to make metro rides free
for all women. Calculate the new equilibrium rides

and the consumer surplus she now enjoys.

" (ii)  If Rupees 30 represents the total cost per ride to

the supplier of metro services, do you think the

extra trips Vidhi takes is economically justified ?

@ TH AW TF WAE et w9 $H R FE
™ ST W3y 1 fefaed w a2 ¥ v
VW e Sy ot s w wh e
TRd @ w1 A ws e
1 T A Tvive s o TR
T FH F e YR W} € F:m s
favelom ¥a = W Fl e & T SR (leisure)

T ¥ smm dH 7
PTO.
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(8) 3546

®) @Wﬁwmﬂaﬁﬁﬁrmﬁaﬁaﬁaﬁﬁ -

P=50- 10
. )

Hﬁqmmwﬁwﬁﬁﬁaﬁaﬁaﬁvﬂmﬁ
H WM toam p ¥ @ free W A

() WH difie o sws gw B3 A F IR
At aEel w oW 30 T¢ 9 A W
Qi e . (perfectly elastic) & 1. T Eof
'aﬁmwmmm SR (cunSumert
surplus) 1 A eI | |

0 TR T o s 4
Wmﬂméﬂ?%lqﬁmm"
ﬁﬂmaﬁﬁmﬂmmﬁmﬁmm
ﬂﬁﬁm

(i % ¥ yarn g W A 30 w0 ufa
a0 ¥, W EW v wm E e ﬁﬁ: i
- A ot aeng Wﬁﬁ w9 ¥

| RIEDLUN (economically justifieq)
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(9) 3546
. (@) .. Define price discrimination. Can perfect price

discrimination remove the dead weight loss ”socqi.at':d

with a monopoly ? | 4

(h) © Why do competitive firms'stay in business if they make

., zero profits ? Explain. 4

(¢)  Consider two countries Japan and Australia producing
two goods T-shirts and brownies. Each country has one -
million workers. The following table gives the production

of two goods per worker per day in each country : 7

T-SHIRTS | BROWNIES

(IN DOZENS]
JAPAN - 10 8
AUSTRALIA 10 | 0

() ~“Which 'cuuntry has nhsulutc'ndvantagc in

producing brownies ?

'(ff) Draw the proélulf:tiun possibility frontier of both .

countries.

(i By calculating opportunity cost, find which country
has cnmpn-rﬁb-udvnntage in Ttsh!n;'. and bro\;mie

production ?

'(fv) What should be the pattern of trade ?

g i P.TO. '
-~ i ) . . - ... -!

e "'..l'-
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(10) 3546

(a) wqn favz (price discrimination) & gfowifoa
Hﬁ‘ﬁl‘lll HT‘-IP? 'ﬂ-ﬁ"[ﬁ favg (perfect price discrimination)
@ITH®R (monopoly) | i Tﬁﬁ R E’Iﬁ iﬁT

 omwm Tt ?

) {dmﬁﬁwﬁaﬁﬁtﬁ!u& .
Y@ o waw € 7 wEenC

© B gy, z’r-vréammﬁmﬁﬁiwﬁw
7 e U fEaER g | frerfafaa agvi @
v 2w # ¥ gl # it st wlafe seweE |

‘e g ¥

Ay Lica
[Tl 7]
A 10 18
e 10 10

o SR @ e # fea 2w ww PR

(g1 (absnlulu uduntag:) t?

(i) :’ﬁi%ﬁ%mﬁﬁn{rﬂmuﬁﬂaﬁm

Hifg |
(i) ~STEET T (opportunity cost) ”l"'I‘TI =
© 9 i R Ay 7 A @ v |7 ..-i
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(a)

(b)

(i) 1546
qAATTHS  WIY (comparative advantage)
|
fra-fra 20 & T ¥ 2

(v) SR F TEEY (pattern of trade) TN B
=feq ?

Derive the demand curve for labour in the competitive

market. What causes the labour demand curve to

" .shift ? Explain. | | g

Why is 8 monopolist's marginal revenue less than the

price of its goods ? Show the profit maximizing level of

output and price for a monopolist, 5
(¢) - Consider variable cost for a competitive ﬁrm in the
following table : _ | "5
s ¥
Quantity 0 1 2 3 4 5

Tveigs) | o s]oju|@|B|®

~ produce

'_lhe firm operate or shut;jl.u

If the tota] fixed cost of the firm is Rs. 12 and pric: of

" output is Rs. 7, how many units of output will this firm

9 What is total revenue and total cost ? Will

2 he short run? Briefly

explain. -
P.T.O.
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Roll No.
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5. No. of Question Paper : 3547

Unique Paper Code : 12271102 JC

-

Name of the Paper :  Mathematical Methods for Economics—I
Name of the Course : B.A. (Hons.) Economics

Semester A |

Duration : 3 Hours Maximum Marks: 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
Note :—  Answers may be written either in English or in Hindi:
but the same medium should be used throughout the
paper.
. el 5 yE-wm W oIw s @ e et o oy
} ' 7 <ifee; dfFa. ot W =1 ram ww § e
e | -
There are five qt.msliuns in all.
A‘ﬁl questiuﬁs are cumpulso:;y.

A simple calculator can be used.
FA g v E
ot 7 e )
YR %a?ﬁém F1 IEm fwar s wwa %l

P.T.O.

Scanned with CamScanner



2 ) 3547
(

llowing 2x4=
Answer any Mo of the following - =g
(A) Let fix) bea function with domain [-2, 3] and range

8]. What are the domains and ranges of the following

[0,
functions ?
@ S==-D

(i) 4f I(-x) + 1.
(B) The given figure shows the gréph of the ‘function-:

y=gx)=p +gtr
() Check which of the constants p, g and r are

>0,=0,0or <0.

Y
4

J—"=g{x)=P_12+qx+r

i . 7
| S graph is symmetric about the line x = k-

Find &
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( 3 ) 3547

Determine the dircction of logical conclusion (P — Q
or Q = P or P < Q) in case of the following

propositions :

(0 P : The serics ) " a, is convergent.
Q:lim,,, a =0

(i P:x2> 16

Q:x>4

Frefafas § @ frsi @ & s <ifg -

(A) WA @Y fF gy, g (domain) [-2, 3] @ 9T

(B)

(range) [0, 8] ATET UF Bed &1 Fr=fafem woe
h P OWH g W F 2

D (= -1) +-
(i) 4 fNx) + 1.

ﬁqﬁﬁgﬂmmﬁ'ﬂy=g{x)=pﬂ+¢g+r
F oAE T § .

P.T.O.
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o Sta e fE ﬁaﬁaﬁ_p_qﬂrﬁ' k|
q.-}‘l:'_aﬂ?ﬁ?U':Dadﬂ%l

Y

F

—» X
v _ )
y=gk) = p o+ ge +r
(i) mm%@;=k$uﬁr Fﬂlﬁ:l'd (symmetric)
€l k& WA W e
© Trfafan Fofl g afes Fewd (logical

cnnclusiun)‘uﬁ ﬁ?ﬂ(?—rd'ﬂTQ - PP & Q)

I wifew .

® P : 9o Z:..f-',,‘ art (convergent) ¥1
Q: lim,, a, = 0,

(M P:x2> 6

Q:x> 4
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(S)I RASTANR

|2 Answer any fhree of the following : 3x4=]2
(A) Find the equations of the tangent lines to the curve
I
| v 22l arallel o the I 2 = 2
» =T+ parallel to the line x - 2 .
(B) Find the asymptotes of the following functions :
=
() yp=ela
. JI+x?
(in y= .
x-1
. L. E“'—-E""
(©) () Evaluate the following limit "m:—-ﬂ_z__
X
| (i) Consider ‘the infinite series
; 2 3 '
2x 2x 2x
1+(—J+[—] +[—] +... .For what values of
3)\3 3 .
x does the series converge ? Find the sum of the
series if x = 1.2.
(D) Approximate the function Jx) = x'3 by a Taylor

polynomial of degree 2 at Xo = 8. Use it to find an
approximate value of 9!, Find an .upper bound for the

error of approximation corresponding to the result

b

obtained. -

P.T.O.
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( 6 ) ' 3547

frafafas § ¥ f&l @9 & W dfe .

(A) aa;;-——aﬁi‘@r: 2y=2%mﬁt(pm|¢u
Wyl ¥Esl (tangents) ® FHIEU @ Fifeg

® frefafea s AN (asymptotes) T
AR .

() }l:gi:_:
) _Vl+x?
(i y= )
x-—1
© @ dm nmm“"';"" ® O TW W)
2 3
() = A |+(%”J+(%] +(%] +.. T

foem Fif@) « & & wF ¥ aw SR
YA (converge) Bt & 2 A x =12 W
@ SVt w1 ATEA FA i |
D) hEH fix) = x' B x; = 8 W FME (degree) 2 B
2T FEIR (Taylor polynomial) ¥ f~Tefed
(approximate) FISTQI THHT WErmm & 93 H
|- WH (approximate valuc) T HIFTT| WIS
9RO & W WEHE T (error of approximation)

& Etlﬂ €1 (upper bond) T ﬁ'ﬂﬁt{l
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Answer any four of the following : +x5=20

LY
:

(A) Graph the function g(x) and check its continuity at
x=1and x = -l.

(2x—1 if x<-1

gx)={x?+1 if-1<x<l

x + 1if x> 1
B 0 If yJx*+I=log(x++x?+1) show that :

@ G +)Zex-1=0

& ey

(i) Find the point(s) of inflection of the function
J(x)=xe*,

€©) () Let fbe twice differentiable on [0, 2], show that

if [0) = 0, A1) = 2, A2) = 4, then there is an

Xy € (0, 2) such that f"(x) = 0.

J

(i) Graph the function y = e — 1.

PTN
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@) () Find the expression for elasticity of h(x)

(E)

(i)

(M) The equation Jyen?

( 8 ) _I
354

hﬂl}ﬂll
in terms of F,f and lig. the clasticitjes ﬂf’jh] -

¢(r) w.rnt x respectively.

Prove that f(.t)=c‘ﬁ -3 |llﬂ$ 4 unique $0lution
in the interval (1, 4).

Suppose that the interest rate ‘7 sych that g,
present value of receiving Res. Ay in 1, yeun

from now is the same as receiving Rs. A inyg

!
years from now, given that I > 1. Assuming
interest is compounded annually :

“} Show that Aq - Jﬂi'

(i) Show that the present value of receiving
Rs. Ay (1 + k) years from now is equal ©

the present value of receiving Rs. :’L,. (r, +8

years from now.

=2y =3x2+y? definesy ¥

a differemiab)e function of x about the point

(% 2) = (1, 0). What is the linear approximatio®

0 » about x 9
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( 9 ) 3547

fefafag 4 @ fesl 9OR & IW <fSg

B)

©

(A) HEH g(x) @ IR@ FARY adl TEH x = |

x = -1 | Had (continuity) %ﬂ i ﬂ-ﬂﬁm :

(¥

(if)

(2x—1 if x<—1

g(x)=4x2+1 if-1<x 51

x + 1if x> 1
g _}'J‘_r1+ =log (x + Vx2 +1), ﬁf; Ll WFSQ
.

(a) (r?+ni+xy-1 0
d%y . dy
() (I‘+_!)ET+3:-—+J: 0

BT f(x)=xe-*. B A ﬁﬁaﬁ (points of
inflection) Sl A El'ﬁﬁﬂ{l

- FH Y 0, 2) A AR sy

(differentiable) 1 <wsq % afy o) -
IN=2/ =4, T @ Wy, e (0,2 %
e s = 0

_(ii) Wy=|,r?_]|$[ g TR

P.T.O.
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( 10 ) 3547

® O Ko =T T (chsticit) I 07 g
W x ® WG T, B EFE, B ow
A s O wife
() T HNC 1F fx)=ef-3 F e
| (1,0 F T S @nigue) T B
© (o) ¥ cifw fm v 9% o W & e w
@, F4 A WG B oAt A, T o#
A F TIE TET (present value) 3F
oW H oW B e A, T W O
F OWAH Y H oaE ¥, Wl g, >
IF AAd §C 5 == # ‘q'lf':fm ?laa—c,[ﬁ;
(Compounded annually) Bl & -
() TYIZU f&A,>4A,
(i) T BF o ¥ (1, + 4 A9 F W
B A A, T B a9 qew e @
(f, +k) Tui i e | ar@[ AT B
T T B T B
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( 1) 3547

() WAE jeen? 22padxd 4y, y B fag
(v, ») = (1, 0) ® IM-YTH x & SAFAT FEIA
w wy N wfonfon w1 TR
M-I it qf=rmen .(Iint:nr approximation)
T ok ?

d, Answer any mwo of the following 2%75=15

(A)

(B)

() For Ax) = 3x(x + 4)"'” find the global cxtreme

points on the interval [-5, -=I].

(in If fis a one-to-one twice differentiable function

. . LT f.{g{'r)}
with inverse g, show lhnt. £ (x)""m.

Show that if f is increasing and concave its inverse

IS convex.

() Show that the function fix) = a® + br + ¢ is
“concave if @ < 0 and convex if @ > 0 without
using derivatives.

E:l

4+ °

Find the intervals on which

(i) Let f(x)=

the function is increasing and/or decreasing.

P.T.O.
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( 12 ) | 397 |

(C) () The curve C, passes through the origin in the .

x-y plane and its gradient is given by

%:x(l—x:)c": . Find its stationary points and

classify them as maximum or minimum points.

(i) A coin and stamp dealer estimates that the value
of V(1) of his collection (in lakhs of rupees)
increases over time according to the following :

. '
function V() = IDUUe"E* If rate of interest is 8%

compounded annually, find optimal time * for the

coin and stamp dealer 10 sell his collection such

that the present value of the collection is

max:m1§ed (second order condition for optimum

need not be verified). How does g change in the

- g

discoun
t rate change the optimal time ¢+ 2

| |
|
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C153)
ﬁ'ﬁ%{'ﬁ@'ﬁﬁﬁﬁg}%mfm:

(A) @ fx) = 3xx + 4 ¥ = [, -1] 9 &=
(global) 9TH ﬁ% (extreme points) T FN=T |

(i) At f W-ﬁ-@ (one-to-one), T FIX
SaHAE e & faes e (inverse)

g ¥, @ gwisy ey L8(x)
&=y |

mﬁqﬁfm? (increasing) TGl 3{TFde
® ﬁmaamﬁaﬁﬂm%mﬁquw

(i) qﬁﬁm%f{x)zf-jrln

/39 wane

©

PTO
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R
. m ﬁ:ﬂ'( ﬁ%ﬁ (Stati'ﬂﬂﬂl}' pnims) 3} Hm

(minimum) & ®9 H 'q'lﬁq.m .Eﬁ.ﬁﬂql

( 14 )

(f:}ﬁﬁﬁ‘aﬁﬁmﬁ%@.wm
W%ﬁmmmﬁﬂwﬂ(m
T W E BTy,
ﬁmm’%lqﬁmm#%%’
I e b we, d T e
mmmaﬁaﬁﬂm(@ﬁmu
T~ 6w w ses W W

T e R (v by
mﬁmﬁwmmﬁﬁmm

T

) T ) X (discount rate) | ftad
Ty TG e
t

& 8 wer wfafia w@
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Answer any four of the following : 4x5=20

(A) () Show that for any two n x n matrices A and
B, tr(AB) = tr(BA), where tr(A) denotes the trace

of a m x n matrix A,

(i) Find the rank of the following matrix for all values

of the parameter. A :

(1 2 4
3 5 7-
2 A -6

\
B) () Solve the fo!!uwiﬁg system of equations :
X-Y+2Z=0

X+2Y -Z =0

2X+Y +3Z =0

(i) What are degrees of freedom ? Determine the
number of degrees of freedom of the above system

of equations.
P.T.O.
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(D)

Given that {u, v w} is a linearly independent set of
veclors in some vector space V, prove that :

() the set {u v} is lincarly independent.

(i the set {u, u + v} is linearly independent.
(iif) the set .{u + v, v + w} is lincarly indcﬁcndenh

Consider the following system of equations :

-mx + y = b

—myx + y = by -

() Prove that if m; # m,, then the system of equations

has exactly one. solution. Find the solution.

(i) Suppose that m; = mj. Thcn.under what conditions

will the system of equations be consistent ?

() Let v be any vector of length 3. Let A = (v, 2v, 3v)

be the 3 x 3 matrix with columns v, 2v, 3v. Prove -

that A is singular.

(i) Find equation of the line formed at intersections

of the two planes :

X—5Y+3Z‘=_IIand—3X+2Y—EZ=-—T.
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frefated 3 8 &R WX & sw g .

W () T E fEE e AmmaTsig
t(AB) = tr(BA), Sl tr(A), n x n B A &

a'ﬂ (lral:el)":hal oqd m.%l ..

(i) WTEE (parameter) A % WY W ¥ Frfafaa
ifew B B (ank) TH FIT

2
3 5 7-A
A -6

® () Prefafea s FE™ (system of equations)
H T OHMWY

X-Y+Z=0
X+2Y-Z=0
2X +Y+3Z =0

P.T.O.
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but the same medium should be used throughout the

paper.
\} froqut :—39 WYR-9F &1 I 3T ar fest fadt @ s
| - H dfee; dfe @ S F AEH TE ¥ OEA
=Tfeq |
Answer any fhree questions from Part-A, and

any fwo questions from part-B.

# @ W B IW M- F 3R
FE o IE B IW W-F F S
' 3 PTO.
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(A)

®)

PART-A/MTT-H

Manan consumes MufTins t.t]} and fancy clothes (x,).
His utility function is given by U(x;, x5) = x; + 10x,
- (122)x,2, Each muffin costs p; = | and a piece of

fancy clothing costs p, = 2.

() Assuming that his total income is given by
m = T 10, find his optimal choice of x, and x,.

Is it interior ?

(i) Suppose next year Manan's salary doubles,
resulting in his higher income m = T 20. Find his
new demanded quantities of muffins and fancy

clothes. Is it interior ?

You are given the following partial information about

a consumer's purchases. She consumes only two goods.

Over what range F}f X" (quantities of good 2 consumed

“in year 2) would you conclude :
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Year 1 Yecar 2

Quantity Price | Quantity Price

Good 1 100 100 . 120 100

Good 2 100 100 X 0

() that the cunsuﬁtr‘s_bchaviur is inconsistent
(i.e. contradicts WARP) ?

(i) that the cnnsum:.:r's behavior is consistent and
satisfies WARP ? 96

(A) T W (x) T TA (x,) T I w@ T

IFET IWGIAT FE U, x,) = :, + 10z,

- (2,2 ¥ WE AR & "I_F?‘pl =1 g

TF T F O p, = 2 &l

() A IFH T A m = mm't, T
xn W@ x, T 99 A HT T qE
s fag & 2

P.TO.
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(4 ) ' %484

Gy 9 & f& ¥ F A AT T4
R st ¥ argfq m = 20 ¥YA| IEH A
T Fe & AN @ A | S R
o T Fais fag ¥ ? |

w I # wieed # sk o

A b e wged W I w

tx # e W (FA-fen) (A 2w

2 a9 H 9N Ht T WET) W AW g e

ﬁaﬂﬁﬁ‘ﬁ;:

T T 2
W | wWEa | WE | siha
a1 00 | 100 f:w 100
a9 2 100 100 X . m.

o ._mﬂwmt.(m WARP
"q'il'aﬁfﬂ"r b 2

@ WHWWt(WWA“ '
ﬁmmt) ?
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(A) Maria is Risk neutral and is thinking about investing
in one of the two mutually exclusive prnjcct.é. Project

A rtquir:s. an investment of ¥ 200 up front. It pays

T 600 if it rains, ¥ 800 if it snows, T 400 if it hails

“and T 0 if it's sunny. Project B requires an imfcfstmcnf

of ¥ 300 up front. It pays T 200 if it rains, ¥ 0 if

it snows, ¥ 600 if it hails and ¥ 700 if il:s sunny, The

probability of each outcome is (.1 for rains, 0.3 for snow,

02 for hail and 0.4 for sun.

() What is the net expected‘payof?ﬁom ﬁch project ?
Which is better for Maria and by how much ?
(i) Shppqse that :-meuurﬁ!ngist can forecast the -
weather with perfect accuracy. What is the value
 of information. for Maria ? How much will she pay
for the informatios ?
" PTO.
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Jim has T 12 a week to spend on coffee and Donuts,

(B)
Donut sells for ¥ 2 each and coffee for ¥ 1.20 per cup,

'Draw his Budget constraint. A new offer is that for
every 5 cups of coffee purchased at the regular price
of ¥ 1.20 per cup, Jim receives a free cup of coffee.

_ Draw his new Budget consirint. . 1243

(A)'mmmﬁtq&ﬁwmﬁmm

I F } et o A fRw w0 w1 few
W ¥ W A A it T 200 F fRw
S ugA ¥ TR awl w1 feafa H z o600,
Toart = feafa F 7 800, Sew FrRY W et
- H ot W W fefr § oy e W
B ¥ IS B aul & feafy & 7 300 Frdw
aﬁmt'm‘fﬁ@ﬁﬁnmmﬁmﬁ
'ﬁﬁ’“ﬁ'ﬁ"ﬁwﬂ@maﬁﬁuﬁﬁrm'
ﬂ‘ﬁqﬁﬁﬂﬁrﬁtm]m@ag, i
ﬁmt ““f‘ﬁﬂl 9@ @ 03,
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(H vaAF W W fayw yfim e T
FfQ) B W Wi & A
tw@w fem | ?

¢n "R A 5w daw At dem w1 9l
IHA T THA &1 T IEEHR w1 wifEm
& R w g ¥ ? W & ol

gt fFam ym SO ?
®) ﬁrqa‘#wr[ﬂamﬁa#qﬁt[dﬁaEm
ﬁﬂﬁﬁ%ﬁﬂrlzﬁlqmmmw
rz‘tﬁwﬁmm.{mﬂzn 1
IFH TR W WH | A S FATER
W 5w W W T w w
e &1 @ T W @ @)

(A) Assume a person has a utility function U(x, x,)

= 113-’4 xz”". Suppose that the initial endowment of

this consumer is (w,, w;) = (6, 6) and that the initial
prices are (py, p;) = (1,1). Suppose that both goods
P.T.O.
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( 8 ) - | 2384

are normal. Then the price of good | cilangcs to 2,

so that the new price vector is (p,", p;) = (2, 1). Answer
the following :

() What is the total cffect on the consumption of
good 1 7

(i) What is the income level lh;l makes it possible

for the individual to consume the initial bundle

at the new prices ? Calculate the substitution effect

of the price change on good 1.
(i) What would be the ordinary income effect ?
() Calculate endowment income effect.

"An increase in the overtime wage definitely increases
the supply of labour, while an inc_rca.sc in the straight
wage could decrease the supply of labour”. Do you

agree ? Explain with the help of a diagram. 1045
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w fret =afe w1 IwEfm s U, x)

(B)

SEEAALE J0B - e B e C R
(W, wy) = (6, 6) T T IMF TH (p,, py)
=) & w fE A a|d s €1 AR

W‘?ﬂﬁﬁ{mwzﬁrm%m
™A (p,, py) = 2, 1) 8 I @ Frefatea

F IW AT

(i) umm%ﬁwqmumwﬁm?

(n fF sm = W IiEm smfvew d4
ﬁﬂ'&{ammﬁﬂmm ? 999

I F T H YREdd 9 SO SiaegEe=
YN H A Hifeg |

i) W ST WME W TR i
) Ffy sm ywm | T wif)
e TR am W i @ ffew Wk
R T ¢ aE gt | F wa afs sm
“ﬁiﬁfﬂﬁﬁ?ﬂ.mmtl"lme|
T fo @ wemm ¥ = it

P.T.O.
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(A) In a village, the only crop grown is com. Good harvests
alternate with bad harvests. This year the harvest wij|

be 1,000 kilograms. Next year it will bel50 kilograms,
There is no trade with the outside world. Com can be
stored from one year to the next, but rats will eat 25%

of what is stored in a year. The villagers have Cobb-
Douglas uti[i-ry functions, U(c,, ¢;) = cic, where ¢

is consumption this year, and ¢, is consumption n:#

year,

() Draw a budget line showing :nnsumptidn
possibilities for the village. Put numbers on your
graph to show where budget line hit your axis

taking current consumption on the horizontal axis.

(i) How much comn will the villagers consume this
year 7 How much will the rats eat ? How much

com will the villagers consume next year ?
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(iif) Supposc that a road is: built to the village so that
now the village is able to trade with the rest of
the world. Now the villagers are able to buy and
sell com at the world price, which is ¥ 1 per
kilogram. They are also able to borrow and lend
money at an interest rate of 10%. Draw the new
budget line for the vi[lagcm. Solve for the amount
they would now consume in the first period and
in the second period.

(B) Uma consumes goods | and 2. She thinks that 2 units
of good 1. is always a perfect substitute for 3 units
of good 2. Explain why each of the following rulilily

functions would represent or would not represent Uma's

preferences :

D  Ulxy, xp) = 3x; + 2x, + 1000

(i) Ulx;, xp) = 9,2 + 12x)x, + dx,2
(i) U(x), x)) = min (3x;, 2x,)

(W) Ulx;, x;) = 30x; + 20x, - 10,000 ~ o946

) P.T.O.
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( 12 ) -
(A) wiﬁaﬁ,ﬁﬁqﬁaﬁﬁeﬁgﬁ%l%
aﬁﬁm‘a‘#mgﬂmmﬁ%,mw
FE H I 1000 TFA ¥ ST 1 g
WWIﬁﬂmmlwﬁﬁ%m
ﬁgw“ﬁ%lﬂﬁ‘ﬁﬂwww
ﬁﬁaﬁmmmm%mﬁgw-
TSR H1 25 wfowg ws a4 3 & W E
wﬁmmmmtﬁm UGe,, <)
=¢,c2%ﬁ€fc[maﬁmw%@cz
T A Fw oI '

O T F T Ve e ad wg
W W e g e v @
ﬁﬁﬁmw%“ﬁﬁmm
%.mxhqﬁ.qm .

@ = 5 TN H w2y g

wmlﬁﬁﬁ"ﬂ"mﬂw&?ﬁ
Wﬁﬁﬁmmmww
=
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(i) ¥gH fmo & wro ot w1 9w fam
® WY TINR Wa Qo 1 o
HFR F wa-fama srwigm gem W w
Fhd ¥ S w wd wh feen ¥ -
B A 10 v = @@ W o @ s
X wHRY E Wi w T e e @it
ITH TR T q9 TE ST I @ I9Hm
W AET & M Fwifeu

®) I FEY 1 W 2 F I FA ¥ IS
HIER WG9 IR H 2 TR, GEA A% &I
3 FHE W YU WaemEeE s § o fA
T Y T W ® ol ey fr aw
o % W (SfEE) W@ TR @
() Ulx,, xp) = 3x; + 2x, + 1000

(i) Ulx), x;) = 952 + 12xx, + dx)?

(i) U(x), x5) = min (3x;, 2x))

L]

() Ulx, x,) = 30z, + 20x, — 10,000
(#) Ulx, %) ' £ PTO. |
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PART-B/HIT-§q

(A) .T‘he production function for a firm in the husinm‘ of
calculator assembly is given by g - J.", where 4
dcnmcs. finished ﬁlculatnr output and / denotes hours
of labor input. The firm is a pricl.: taker both for
calculators (which sell for P) and for workers (which

can be hired at a wage rate of w per hour).
()  What is the total cost function for this fim ?
(i) What is the profit function for this firm ?

(i) What is the supply funn;iun for assembled

calculators 9

!

() What is this fim's demand f‘nr Iat;or function ?

B)  What 4 ;
“_ you mEﬂn.by Price-marginal cost mafk-UP?

Explain, -
| 2
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(B)

(A)

- ®

() W W W @ e W 3@ i

(i) T8 $H & WY Hed @ Sifew)
(i) FEFIR H [ T T
(v) B9 H AN HET [q6 HHAC

mﬁmmnﬁmﬁmwmﬂ
¥? = sifeu

For a firm facing constant input prices w and v and

* production function g =k!/4/1/4, find the fir’s demand

for k and / contingent on their choice of output q.

Also derive the cost function C(v, w, g) of the firm.

Suppose that the' production function is given as

g= k2/3)1/3, where k is capital employed and / is

PTO..
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aumber of *labour hours employed and ¢ s lota]
oroduction. Wage rate () 15 BIVER a5 X 15 per. hoy,

and a cost of capital (¥v) is equal to ¥ 1920 per ypy

Anil has’ one unit of fixed & :
( Anil is currently employing 8 hours of laboyr,
Calculate total cost, average cost and margina]

cost.

(ii) Calculate rate of technical substitution for the given’
_production function. Is Anil behaving optimally
*“.f, =8 and k = | ? Explain.

(ifi) Given Anil's fixed capital stock of 1, if he was
behaving optimally, huw. much labour should he

employ 7 -

(%) Calculate Anil's TC, AC and MC at the optimal
choice of labour, &9

(A) Wﬁ%mmm'{ﬂw@vm
¥ I Wl 'q,_icl”f'“- 14 w 7 |
%m%m k & ;1 smypf@ A
(m%)mmlm'ﬁﬂmm
e Clvw.q) T %o |
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I FeA g=k2313 ¥ ot k'ttaﬁ - Wr.

!maﬁwﬁqwﬁlﬁmhﬂa{ﬁ

W) TR s W v @ G oW g )

T 1920 7R TE ¥ o B v fem g

H T R

) @ aft s R g R N oS A
e ¥ @ arm, e @ @@ e
A H MU HIf

(i) IUEA & WAwA (RTS) H MO wifo |

M OE AT F /=8 AW k= | FRAY

TEER ¥ e sifem

(iif) :‘Imff‘iﬁﬂﬁ@mﬁm,maﬁm

AT OB ?

(v F9 & @ TR 991 W IS B 1C
AC W@ MC &t T Hifwg
P.T.O.
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(A) Two prndl.l

®)

@

( 18 ) 284
ction functions are given as :

@ . b = tmin {1 K1
(1). For each of the following production functions,

sketch a representative isoquant.

(2 Calculate the marginal product for each input and
indicate whether each marginal' product is
diminishing, constant or - increasing.

() Also calculate the rate of technical substitution

for edch function.

Indicate whether the function exhjb‘its constant,
increasing or diminishing returns to scale.
For ; )
7% CES production finction ¢ = gk 1) = @ + PIP
cal . | ' :
culate Tate of technical substitution. Determine. the
out 4 e ~ |
Utput elasticities for k and /, and show that their sum

Cquals |, o5
1
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W T IR e A m .

@)

&)

@)

(1)

~,

D M k) =1+ 3k

(i) Ml K = [min {I, K]'P

TOH SURA WO B ﬁ'?-l T&H-UF T
G aH T
uﬁmwﬁ?w%ﬁ&?ﬁﬂiﬂm
F T FIAT T YEE B aR H TR

5 dmia SacEa weeE, e @ e

A ®

g T @ fod Yom w1 wiowe dW

'aﬁml

mwﬁlﬁﬂmﬂﬂﬁqﬁﬂ
o fem, TR S g TP
ofawe @t gwiam ¥ 2

P.T.O.
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® CES TG W g = fik = (W + PP, & ferd
Ay o whea 7@ FMGCI & T/ H SR
1 g A @ien @ fGEsd & o dm
e @ aur ¥ |
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feuoit : @ wwA-u W W SN W e Rt wE

1 o dfe it 3w &1 anam s @ e
=feq |

All questions are to be ancmpleﬂ.

. Attempt any rwo parts of each question.

it v @ I A
ToE WA § ¥ R @ oy @ s S

P.T.O.
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(2) * 2485
(@) Suppose that the firms’ markup over costs is 5%, and
the wuge-st;tting equation is W=P (l-u), where u is the

uncmployment rate.

()  What is the real wage as determined ‘by the price-

setting equation ?
(i) What is the natural rate of unemployment ?

(iii) Suppose that the markup of prices over costs
increases to 10%. What happens to the natural rate
of unemployment 7 Explain the logic behind _?Gi.l.'l."

Answer.

(v) Compare and contrast between the bargaining
theory and the efficiency theory of wage determi-

nation. (1.5+242+2)

(5) (D Consider two alternative contractionary economic
pelicies. One is the removal of an investment
subsidy; the nlhc.r IS a rise in income tax rates. Uﬁe
thu nnm;al IS-LM schedules to discuss the impact |
of thcsg alternative policies on income, interest
rates and investment.
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(i)

(@)

(3) 2485
Distinguish between strict quantity theory of money
and mnr-mtarism. What type of statistical evidence
‘would you need to collect in order to support or

refute the major argument of monctarism. (4+3.5)

Consider the goods market equilibrium condition
in a closed economy, S + TA - TR = 1 + G.
(Notations have their standard meanings). Use this

equation to explain why, in the classical case a fiscal

expansion must leadtto full crowding out. Explain

using the same equation, what happens to the
economy when there is less than full employment,
(In both cases assume that there is no monetary

accommodation).

Discuss the role of the- parameters A (interest
sensitivity. of money demand), & (interest
sensitivity of investment), & (income sensitivity of

money demand) in the tranismission mechanism,

‘linking an .in:réa.s: in government spending to the

resulting change in income, using the expression

- of the fiscal policy multiplier in the IS-LM model.

(3+4.5)

P.T.0.
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(4) 2185
" W{Fﬂmqwtﬁrﬂfmwﬂ’?WWmm

¥ v gl FniRor THITTO Wep (1) t,:mu

R W W

0 ﬂﬁqnﬁtﬁmﬂnﬁwmﬁuiﬁamm
ol w4 o ? |

(i) ﬂﬂwnﬂﬂﬁmmﬁ.% ?

(ii) W THFTC fF Hal &1 Tl S SR et
TEHT10% W I ¥ FWI B Wi
TR H IVE 90 & ? 39F I|W R 9
F T F GHFEUI - |

(v) wog-fafo & ﬁ&mﬁﬂ‘ feg= (bargaimng-
theory) T Fureran fagr= (:ﬂiclcncy theory) &l
mﬁ@amﬁwwmﬁml

(6) (f;y z‘fﬂml%wwaﬁmﬁﬁﬁmﬁaﬂ '

amw%maﬁaﬁﬁqﬁrmw

IS-LM schedules Wergar § 1§ w

:ﬁrm%‘fﬁﬂnmam i @ A
Wmémmﬁéa—-raﬁﬁql
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(i HH & | iy fa@r= (strict quantity theory

of money) 9 Hfgwaarg (monetarism) H T

s R R AR @ T T

R A Eved R R oW R TR

w1 AiEAsg o THN Sl 7

Us 9 AUyl H a8 TR § SqrEe
(equilibrium) &1 ¥1d, S+ TA-TR =1+ G W fa=w
FiQ )| (Fhdl & 97E 34 §) | 59 Tl

. W weEal ¥ w9eRU fE sonfasg w9 §

(in)

TShGE Foel & siomasy fifem =g
¥ g wEfen sz it wit e w5t
e |/ 7% o waeme R ™ deem @
W P IRV w9 A & qa sreferaeer
T JIE TEA ¥ (W & e F
wifoe for Afsw ifa 4 9% gems vhad
(accommodation) & fera1 W %) |

I&meﬁﬁmﬁqﬁﬁmém s
F WEW q WE G A qfp ) owE
TRemTEEY s # A At afs ¥ Sy
e FEO Jomeht (transmission mechanism) § .
mﬁﬁ(ﬁﬂﬂﬁﬁnﬁm%uﬁ"

PTO.
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(6) 2485
wazwie), b (FAQ F = & gy
wieiem) @ & (F0 TR o

Suppose, an economy is in the medium run equilibriym
and the central bank of the economy resorts to an open |
market sale of securities. Using AS-AD and IS-LM frame.
work, discuss how this action of the central ban!c affects
output, consumption, interest rate, investment and price
level in the short run and in the medium run. Also discuss

the issue of neutrality of money in this context, (5 + 2.5)

&) Under what circumstances, accurding‘ to the

©

Keynesian IS-LM model, changes in government :

€xpenditure would not be necessary to offset

fluctuations in private spending. Why 'accnrgiing

to the Keynesians this was ap unlikely

scenario ?

(@) Explain why the model inconsistency problem exists

in adaptive eXpectations, (4+3.5)

0N How does ap individual get riq of the ‘signal
‘extraction® Problem ? Wha; is the effect of this prob-
lem on the labor Supply curve: 9

() Whay |

i .
¢ the Properties of rational expectations ?

(3+4.5)
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(7) 2485

@ A eif fe w srdereEm SToR MeAweRTET

e § ¥ A TR B 96 ge 9er

3 whniferdt w5t fawe) @ &1 AS-AD @ 1S-LM TA

W weam A fadem Fifag R @3 9 w1 9w

HEH THEE  HATEE H 9K, I9V, =

R, Fraw 3 Fm ®R R ey gufad s

¥ va ften § gx w SEE@ B g w6
fad=m =ifsq)

) () FFIs-LM A & IFER fR aRfefa
| Y froit =g ¥ SaR-ToE & wvE + s
(offset) T ¥ WHN =74 ¥ Ffg ImavaH
T BN ? dwid gieAdl & SR A%

wF e feafa =i ® 2

G TIERe fF HReAvie vmma (;daptive
' expectations) § HIEE STIE! (model incon-
 sistency) ! THET &1 ki = B & 2
l(r:) 0] -Gha frepdy H guen (Eignal extraction
problem) ¥ &9 W& gzmmm S ¥ 2
T 9 A OHH AN 9 W F AvE

o & 2 |

(i) aﬂ#ramﬁnaif%aingbmﬁ%?

P.T.O.
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Suppose the Okun's 1aW for country X.is given by .

0
u, = My = -04 (gﬂ - 3/&]

() What growth rate of outpul leads to an increase
i the unemployment rate of 1 percentage point per
year 7 How can the unemployment rate increase
even though the growth rate of output is

positive 7

(i)  What yearly rate of growth of output do we need
if we want to decrease unemployment by two

percentage points over the next four years ?

(iif) * Suppose that the country experiences a second
baby boom. How do you expect Okun's law to
change if lﬁe rate of growth of ihe labor force
increases by two percentage points ? Explain.

| (3+2.5+2)

Suppose_lhc Phillips curve is given by m, = m+ 0.1-

2u, where * = On_,. Assume 8 is equal to zero. Suppose
that the rate of unemployment is. initially éqiiﬂl to the
natural ?te. In year ¢ the authorities decide to bring the

unemployment rate down to 3% and hold it forever,
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(9) ' 2485
()  What is the natural rate of unemployment ?

(i) Determine the rate of inflation in years 1, 1 + 1,

r+ 2.

(iif)  1s the assumption 0 = 0 justified ? Explain. Answer
the same for @ =1. (2.5 +2.5+2.5)

Suppose that the Phillips curve is given by & — =
— (u, — 5%) and the expected inflation is given by

f =
af=a.

()  What is the sacrifice ratio of the economy ?

Suppose that unemployment is initially equal to the
natural rate and 7t = 12%. The central bank decides
that 12% inflation is too high and that starting in
year /, it will maintain the unemployment rate one
percentage point above the natural rate of unem-

ployment until the inflation rate is decreased to 2%.

(i)  Compute the rate of inflation for years 1, 1 + 1,

1+ 2,

(iif)  For how many years must the central bank keep
the unemployment rate above the natural rate of
unemployment ? Is the implied sacrifice ratio con.
sistent with your answer to (J).

P.TO.
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What ndvice should you give 1o a central bank if
it wants to achicve the same results quickly 9

(1434241 5)

@ WA i fe 3w x ¥ Sl W FEE Fe e

¥

()

(i)

(iif)

u, - o ™ -04 (g, - 3%)

Tz e gfe | ¥ ST H R
# whrad 1 whiva fagatl =t gfe Bt ? sar
T gfg WS YA T B A S
@ fFa WER 9% FHdl € 7

afc T e £ fF S0 w R A I
o # @ s fagel 7 frowe A D
sz 9 fpa afts gie S &t Savasd
Bt ? - |
o i 2w d A @ o A g

%ﬂmﬁﬁﬁmﬂﬁwqﬁaﬂ#mﬁmﬁ- .

W@ T ? gEmRUl

&) WM wifg fF fefrw % frel YR T R, T
Ry + 0.1-2u, & ne = On_. WA wAfQ fo 6 H

_—
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(1) 2185
A b A wifae fE AR 3 e sy #
WHEH X % qunR &1 ad | Wi e
& T A FHFD 3% W AR T IY W B
fe @ = W @R = ol ow@

(N ST w WfaE S & 2
(i) 40+ 1,0+2 991 § TR T T A Fifoq |

(iif) wu=nvﬁmm‘ﬁrﬁ%?ﬁwl
0=1% W W w3 T W Sfawy

" aifee fF frfas @ n - ne = - (u - 5%)
T 9 Wi wHifa R o = n

() ¥9 AGHETd ¥ WM SR (sacrifice ratio)
MR ?

A o o Uil ey 3§ 1ot Wikt
WRE T 2= 12% | DG g% Fo Fa
T & 12% wHifa S ! Afus & g ad
(R WY HE € A F R B A
T ITH1 WHfas S/ & wiwm fag Fw
@M, 34 % THI & FH TF 2% T T8
3w | | :

PiT.O-
Scanned with CamScanner



(a)

(b)

(12) - 2485
t 1+ |,r+2ﬁ%§pﬁﬁqaﬁmwl

i mﬁﬁﬂﬂﬁll{lﬁﬂﬁﬁﬂe‘w

()

(2

(i)

A nation loses control over

T Ia@ THfaE W H I @ w2y
1 O fafed @ SIIE WO () H aqpqm:
SR ® AEd T ?

of S dw T TR T/ W oy
I W 9 IW T TAE o ?

Suppose a country with fixed exchange rate, fu||

- employment, fixed foreign prices and flexible

domestic prices, experiences unemployment and
current account deficit due to a fall in exports.
Suggest an expenditure switching policy which can

help it attain both internal and external balance.

Would such a policy be effective if the country
is experiencing inflation and wages are indexed to

the consumer price index ? (4+3.5)

money supply under fixed

exchan 1 =
8¢ rate regime with perfect capital mobility (at

Constang Prices), thys makin

ut. icy. IS
fully effecyiye - PUL. However fiscal policy

thi ’ i
15 Case . Du you _agrﬂﬂ ? E?_:Pla‘n‘

(15)
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(©)

(@

(if)

0]

(ii)

(13) 2485
Assuming money market equilibrium in India and
USA determine the exchange rate using monetary
approach when India's nominal GDP = 100,.V = 4,
Ms = 30, and USA's nominal GDP = 200,
V' =2, Ms = 50. Suppose Ms in India increases

by 10 percent relative to that in USA, how will it

affect the exchange rate ?

Explain how lags in the adjustment of trade flows
to changes in the relative prices caused by depre-
ciation affects the trade balance in the short run

and the long run. (35-_h4}

7R it e fer fafrm , gof R,
fer fadvit #tdt @ weitel wte] ot At -
& wferaen ¥ frld 4 free @ wo
m 9 EITQETEI 1 HIET (current account
deficit) 3T B ¥ 1 T Tt =-vRadmm
(expenditure-switching) ifa Tt foaq

S 9 a1 S Fger S Wit S
Lol

% w6 30 F W @ aer R
ST A Yo} Yoty (indexed)
RALIELIR L

P.TO.
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(14) s
) it w qoi nferitern & g feat fafr < yoneh

(ferr @il W) B ST UH T qH AN
W fram @ 2m ol v war dfw ifa
I ® vftaffa w¢ # gofa: smurh € S
¥ v W fefa § oo Hife gofa: wwweEr
T &1 F A T A A wewa € 7 wummsd
© » 3k v d @fEEF (nominal) GE;P = 100,
V =4, Ms = 30 991 3@ Gpp = 200,
V=2 Ms=5 8, ¢ YT T 3@ 26 |
T AR H WrrEe W g s gfew
F weEar ¥ fafta @ Fife) =
Eﬁﬁq%mﬁﬂﬂﬁmaﬁmﬁ Ms
ﬁmmﬂﬁq&ﬁﬁﬂtﬂmﬁﬁﬂy
R 9 wwr wwifea @it 2

(#)  TTAWH (depreciation) B IRUMTEEY WY

ﬁWamﬁmmm
m?'ﬂqml
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(15) 2485
(a)  Discuss the portfolio adjustment under flexible exchange

rates using the extended asset market model in the

following cases :

()  Increase in the expected appreciation of foreign

currency.

(i) Increase in domestic interest rate. + (4435)

(b) Assuming uncovered interest parity condition and
expected appreciation of foreign currency to be zero.
initially, explain why the exchange rate overshoots its long
run equilibrium in response to an unexpected increase in

domestic money supply. ‘ (7.5)

(6 Explain using a suitable illustration what is meant by

covered interest arbitrage parity (CIAP).

Explain the process of adjustment in the following

situations : .

()  when negative interest differential in favour of
foreign monetary center exceeds the forward
discount on foreign currency.

(i)  when forward |-::remium on foreign currency exceeds

the positive interest differential in favour of

domestic monetary centre, (3.5+2+2)

P.T.O.
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(15) 2485
(@) Discuss the portfolio adjustment under flexible exchange
rates using the extended asset market model in the.

I'ollnwing cases -

()  Increase in the expected appreciation of foreign

currency.
(i) Increase in domestic interest rate. + (4+3.5)

(b) Assuming uncovered interest parity condition and
expected appreciation of foreign currency to be zero.
initially, explain why the exchange rate overshoots its long
run equilibrium in response to an unexpected increase in

domestic money supply. ) (7.5)

() Ei:p]ain using a suitable illustration what is meant by

covered interest arbitrage. parity (CIAP).
Explain the process of adjustment in the following

situations :
()  when negative interest differential in favour of

foreign monetary center exceeds the forward

discount on foreign currency.

(i)  when forward premium on foreign currency exceeds
the positive interest differential in favour of

domestic monetary cenn-e.' (3.5+242)
| - P.T.0.
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(@)

(6)

()

(16) 2485

- et market
ﬁﬁmﬂﬁﬂmﬁmﬂgﬁ(cxtendeﬂm tm
mwcajaﬁmﬁﬁﬂﬁfﬁafmﬁﬁiﬁaﬁﬁﬂ |

fafrma < & arta fraa-Et AT (portfolio

) ﬁﬁﬁwqﬁwﬁquﬁ (appreciation)
# gfg|

@ e ES R A &

sTT=afea <A GHAT (uncovered interest parity) i

od 9 o H fadvi w H -9

(appreciation) F A THd Y HAHARY f& 9= it -

g # sveatea gfe F AROTTREEd fafm

=7, T S e W Hl IR (overshoot)

i w A T

et W F=YUA FHAl (covered interest

arbitrage parity, CIAP) A T T T, @ G

Yafas &1 geaar 9 R

Frotfafes foafidl § SHEEE $1 9iha o IagRe-
o & faeh Ak % @ e H HomeE S

R F1 7 faRe T W AFR g (forward
discount) q Afuw &

@) & fat 7w W aEw sty (for:.vard
premium) 1 WH W] AfEE % & 949 o
qToE =S AR Afuw ¥

lﬁ' 3,500
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feuqult :—z8 weA-u 1 W AU A o=l R @ v
§ dfg; afFT T 9 W WM @ @ e
& lliqd
Attempt All sécliuns.

Candidates an:_ailﬁw:d to use simph.: calculators.
avt @vEl & IW e
Tl A WYURY hARIe - ITE
A T AN 2
| P.TO.
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2486

Section A
(@ug ‘3
Question No. 1 is compulsory. Attempt any one from Question

Nos. 2 and 3.
oy 1| Sf@Ed €1 WeE 29 36 ¥ T @@ 1 SW

iy

A box contains four red balls, f;w;re white balls and six blue balls.

Suppose that three balls are drawn randumly :

()  What is the probability all three of the 5:1ccl_ed balls are
of same colour.

(i)  If drawing a blue ball is considered a success, what is
the pmbabi[it); that at least eight balls will be drawn to

obtain a success ? ‘ ’ 243
& fem # R i E, e e W q @ A

ﬁi%lmﬁﬁﬁq%?ﬂ?ﬁi‘mmﬂ(mdnmw
et st § .

O W W W g g g i
ﬁa'@ﬁﬁﬁ%] '
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(i)

(a)

&)

( 3 ) 2486

g teft 7% 1 FraTen S U e JrEt i €,
A 59 =T &1 Wifawar 341 & T wwera ww w3 w0
FH QA FH 7B 7S Frepredt st ?

A certain federal agency employs three consulting firms
(A, B and C) with probabilities 0.40, 0.35 and 0.25
respectively. From past experience it is known that the
probabilities of cost uverru.ns for the firms arc 0,05, 0.03
and 0.15 rcsﬁectively. Suppus:- a cost overrun Is
experienced by the agency.

() What is the probability that the consulting firm

involved is company C ?
(i) What is the probability that it.is company A 7 5 -
() Differentiate between simple random sampling and

stratified sampling.

(i) How is sample variance different from population

variance ? Explain using the concept of degrees of

freedom. 243

P.T.O.
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( 4 ) 2486
(@) TF §Hrg wor § sEeient w9 (A, B 3 c)
7 frgm w ¥ famst wfewad s o4
035d 025 Bl fR s A @I E fd o
it ¥ @ A F 3AUF | I (Cost overnun)
F1 wifgEand 9 0.05, 0.03 & 0.15 ¥l HA ifag
ff W= @ @@ ATEE ¥ AtF B
1N |
() T @ H wigwa ¥ ¢ F ow=tw
| TRt W C §?
() T9 9@ &t wifgea 7 & f Tafum vl
A% ? | _ | |
® () T agies JaeTT (Simple random sampling)
9 WHa UG (Stratified sampling) & TH
W W= HifAY | | |
(i) iR THTor (Sample \;.aria.nc:) _——

(Population variance) § fifg wer i & ? @A

P (Degrees of freedom) T Haheq1 1 TEEM
"ﬁ 'Fl'q'm|
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(a)

(®)

(a)

( 5 ) 2486

() How many ways are there to split a dozen people
into 3 teams, where one team has 2 people, and the
other two teams have 5 pcople each ?

(i How many ways are there to split a dozen people
into 3 teams, where each team has 4 people ?

2YA2'%

Suppose a box contains five biased coins with probability

of head as 0, %4, %, ’zi and 1 respectively. One coin is

selected at random and tossed twice.

() What is the probability of obtaining tail on the first
toss ? |

(i) Iftail is obﬁincd on first toss, what is the probability
that another tail will be obtained on second
toss 7 ’ ' 243

O T T W 3 A B e
W €, IR & F 2 & F qq s
A F Y A 5w E

() T EE AN oA 3 A S e R ey

WS E, AR wAE A F 4 A E
| PTO
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( 6 ) U
©) ﬂﬁ'ﬁ'\ﬁﬂﬁﬁwﬁ"ﬁﬁtﬁam@im@
g ¥ forl f@ (head) P WIFAHAY oy,
0, v o, %A 1 &1 T TR TGTE TR
S & qe A 9N IBEN @ ¥ |
@ YU AR @ WM W T (ail) I F
wiiawa & ¢ ?
() T IR AR @ A W T o R, A
W @ o Wigwa 7 ¥ fF @0 9R Iem
SR W W= § S ?
SECTION B
(@uz ‘")
Attempt any two from Questions Nos. 4, 5 and 6.
WA 4,59 6 7 ¥ fFE R D Iwm S

. (@) Check whether the following functions can serve

as probability mass functions for discretée random
variables :

2

: x
@ ﬂx)=36 forx=1,23,4

2x ‘
[H) .ﬂ.}”) = k(k + I) for x = I... 2,'3... k. . 242
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(6)

(a)

( 7)) 2486

Consider the cumulative distribution function for a

continvous random variable X :

F(x) =0 forx <0
= for0<x<1
= | for x > 1
Find out :

o ooed
@ P(3sxs1)

an (x23) 21202
ot Wiy s v e el w1 S

3Yaq Agfee® I (Discrete random variables) ﬁﬂ
Wil fIU8 we (Probability mass functions)
R W fFa =1 9@ &

2
= I_ =
(f? fx) o L3 33|

L

" = k(k + 1)

Jx=1,2,3.. k¥ 242

P.TO.
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( 8 ) 286

() T W@ AR T (Continuous random variapey

(a)

x 'q'tl'!:ﬂ quzd wed (Cumulative distribulic;n

F{I:|=D I'E:D%g
- 2 0<x< 1%
= | IE’_IH

¢

(in P EEXEI]

\

3
i P x —
(fif) ( 2 4)

A bookstore purchases a book at Rs. 50 and sells at

Rs. 80. Let X = number of books sold on a given day

and suppose pmf of X is :

X

P(x)
0

0.05
|

0.1
2

02
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: ¢ 9 ) . 2486
3 o _ |
4 024 :
5 02 :
. 006

() Compute the expected numbers of books sold on a
given day.
(i) Suppose the shopkeeper stocks 6 books on a given |

day and the book not sold by the end of the day

is returned at Rs. 30, find the expected net

revenue. | 3+3

(6) In a production facility, the assembly time of product ABC

L B e o I g L

may be looked upon as a random variable with average

I

time taken as 35.4 minutes and standard d;evintinn of 2.5

minutes. Find lhe prubablhty that the assembly time of
one of the units of product ABC will be : - 242

() at least 36 minutes |

(i) at most 33.4 minutes.

P.TO.
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( 10 -)‘ | Uy
0 TEE T EE T TEE H S0 T g
wiwdt & @ g0 T ATA A Wy
x = fdt 1§ Ah T TR T T gy
o g i x @ pmf BT R

X P(x)
0 . 005
1 01
2 02
3 . 0.15
4 024
5 02
6 0.06

O ot e A o wwl #t v
(cxpected) HEA W FHifow | |

(if) mﬁmﬁmmﬁqﬁs'wﬁ
T RE TEm g Ry @ o 8 A
TR A 30 Y F ey e o & T
S P T (net revenue) 0 L
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¢ n) 2486

¢ T fafmE w9 § R SR ABc W wad
AT (Assembly time) &I A 354 fire 4 wrs
faaem 2.5 fre 9@ & Agfes WM @ W1 W
@ W TEA & TH AG F WEEA T B
f& SO’ ABC #1 UF R ¥ v @iy
@ E‘[ﬁmaafﬂﬂ!gﬁﬁ

() fuw ¥ FfuF 334 foA B

(@)  Suppose that five people A, B, C, D and E are standing
in a line in random order. Let X denotes the.numbcr of
people standing between persons A and B. Find the
probability distribution of X. " 5

(6) A social scientist claims that only 50% of all high school
graduates who are capable of doing college work actually

go to college. What is the probability that among 10 high

P.T.O.
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" (@)

(b)

( 12 ) 2186

5chnlul graduates who arc capable of doing college
work :

() Exactly 4 go to the college

(i) Less than 6 go to the college. - 5
A wifse i 99 @M A, B,C, D9 E T&F U
3§ Igfeos w9 0 @S € 91 it fF X,
=fRE AT B B A @ @ I HE&T T
X 1 Wifgshal 9024 F0E HIfC ] .

& A SRt 1 < § T wles @ s
ﬁﬁqmm“ﬁmﬁﬁﬁsmw |

& F R ¥ W aw W Wi = § e

Fe w1 FE WA F wam, W @ s 10
a7 QL a
(H 9% 4 FAT W ¥

@ 6 A T T T E)
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SECTION C
(@vz 'w)
Attempt any two from Question Nos. 7, 8 and 9. |

m?.augﬁﬁfﬁ”fz‘t%mﬁﬁw

(@ A student takes up courses in Statistics and

Macroeconomics in his graduation programme. The
proportion of correct answers in the cx'n.m of both courses
is denoted by X and Y and the joint probability
distribution of these random variables can be approximated

with the joint probability density as follows :

o

'ff{-.l')";{lt+3}‘] for0 <x < |_n-:}..:|
=0 elsewhere

Calculate :

() The probability that the student answers more than

40 percent of the questions correctly in both the

tests,

(i) The probability that he gets more than 80 percent

answers correct in statistics and less than 50 percent
answers correct in Macroeconomics. 2+2
P.TO.
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( ) e

\ . by 0 Htudent at
(& The aumber of courses takon up by

wition |
unbversity has the followlng probability distrfiwation

Number of Conrses Probablility
(N)
l 02
: 06
3 02

Let X; and X4 be the number of courses opted by two

students and each have the same distribution as the

population :

()  Determine the sampling distribution of

E e .xl +*x1
o

(i)  Determine cxpcttcd vilue nnr.l variance of }-{ 343

(Stntlsllcs) q g Sl re (Mucruccunumtcs) L
TR R W v @ g
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( 15) L2486
(Proportions) <l SFAVT: X 9 v ¥ =/ fwar S
%ﬂm?ﬁﬂmaﬁ%ﬁwmw
%! Frefafan T witsa o7& (oint rprubability
' density) @ ST (Approximate) T 1 T
‘%
f(r.y)=%(21+3y) 0<x<l,0<y<1 &g
=0 S E
fFrefafaa =t o s
() T IW B wiawa fe famdt S whemsd
# 40 wfow ¥ v W B wE IwW W
(in) mﬁﬁmﬁmﬁmﬁm-su
mﬂéﬁmmﬂﬁﬂﬂﬁm‘ﬁh

mﬁsomﬂmmaﬁg\a
118 |

P.T.O.
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® @ﬁmﬁm@ﬁsﬂﬁmﬂﬂﬂﬁqqq&ﬁ

7 gEm @ feaiEd WiEed 9§

i F W s
.
| 02
2 06
3 02

TR wifwe & & faefiE grn faw o Aw &
WA X, T X, ¥ 9 YT w1 qved ag & 9
fE B3te)id (Population) G T
0 '}E,_XI'I'.XI '
T P WASEita aved (sampling
disln'butiun). I Hifey
(ii) immﬁmmamm'aﬂmll
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(a)

®)

C 1) | 2486 -

If the joint probability distribution of X and Y is given

by :
- 0 I
-1 1/6 13 1/6
0 0 0 0
1 1/6 0 1/6

Show that their covariance-is zero even though the two
random variables are not independent. 6
Let X,, X,, X; represent the times necessary to perform
three successive repair tasks at a certain service facility,
Suppose they are independent, normal random variables
with expected values ), p, and py and variances as
o7, 03, 03 respectively. If means are 40, 50 and 60 and

variances are 10, 12 and 14 respectively,

calculate :

O P, + X, + X, < 160)

(i) P(X; + X, > 2X,). 282

PTO
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-1 0 - |
Y -1 /6 173 1/6
0 0 0 0
| 116 0 116

Taise fF § = F WE-TE (Covariance) N

t mufy A o T8
) WH dif el da B § @ whe T

flq&wm 40,

50 7
Gnﬁmmm 10, lz'auiﬁ'l

_ﬁqfﬁf@ﬁm’rmmw=

ER U (0 &

L ('0 Pfxl + }(1;:_ 2}{3-}
O 1M

B omeas v omma . e

tX; + X3 < 160)

e
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( 10 ) 2486

L@ The monthly income of reskdents of a city is normally

distributed with mean of Rs. 10,000 and the standard

deviation of Rs, 5,000, If a random sample of 50
individualy is taken, what iy the probability that their

average monthly income will be :

(0 Maore than Rs, 24,000 7

(i) Between Rs. 20,000 and Rs, 30,000, 243
(&) Suppose that p{x, ¥), the joint probability mass function

of X and Y, is given by :

MO, 0) =04, X0, 1)~ 02, p(1,0)=0.1, p(1, 1) =03

Calculate :

()  the conditional probability mass function of X given

that Y = -I.

(i) the expected value of X given Y = 0. 243
@ T TR & Fafad w1 wfgs 3w =1 9w

va ¥ fora s 30,000 T T WA faeeR

5000 T0 %1 3R 5o =EE w1 W ARiw
yfazel ferm wmn &, M W Om W wigsw w0

t fs T ohwn wfvw s .
() 24,000 T | aﬂm-ﬁ*ﬂ ?
(i) 20,000 TIA T 30,000 TIY H WF @R ?

PT.O.

Scanned with CamScanner



= .
( 20 ) 286

@ AR XAy R TR g o
e wor § .
PO, 0) = 0.4, p(0, 1) = 02, p(1, 0) = 0.1, 1, 1)
frfefeaa =t T wifew -
0) qﬁv=lﬁﬁllxﬁlmmﬁ1’ﬂﬁnﬁu@
Held (Conditional Probability Mass Function)
@i K Y=07 @ X & YAR@ W,
SECTION D "
(@vs 'Y |
Attempt any fwo from Question Nos. 70, 11 and 12.

W10, 10T 12 7Y F R sw A

0. () LetXp,X,..

= 03

« X, denote a random sample from a normal
' distribution with mean zero and variance o’,0<0o’ <q.

Examine the two estimators of U_I () -Exffn and

=

(if) Er_rf_l and show which of the following is an

unbiased estimator of 6% for finitely small sample. Wil

your answer chaﬁge ifnoa 9 242+1

)

Use the method of moments to estimate © in the
pdf : |
f_,-U’iBJ'=(92'-'|‘B))’D_'(I—-y) 0<yc<l

Assume that the random sample of size n is

collected. 5
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( 21 ) 2486

(@ WA T & X, X; ... X . 77 9= G 0 THO

()

(@)

A VI A9 N T Agfeos whied ¥,
u-cu’-r.:u__nz a“;'araqmﬁfﬁs:m:m)m faar

HITT () =X T (id) Eﬂx__fl qq Teize f&
frefafaa & | $mw, i (finie) TFR
Waeyl ¥ o F UF A (unbiased) THAT
¥akk noa @ T AE I SfEfi @
STEm 2 |
arepof fﬁlﬁl (Method of moments) &1 Terdgal d
ﬁnfﬁmapdfﬁaﬁmﬁaﬁhq:_

L0i 0) = (8% + 8pP-1 (1 - ) 0<y<l

 WH WY R SR w1 G aRios i

fear sm ¥
Given that Y} =23, Y, =19, and Y, = 4.6 is a random
sample from : =
] _-yio
gy =2€
S, 9).— pry fory>0
* Calculate the MLE for 6. ' 5

PTO.
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( 22 ) 2486

) The grade point average of the students in Economics
a University follows a :;un'nal distnibution with standard
deviation as 0.32. How large must 2 sample be taken 1o
guarantee that the length of a 95% confidence interval

for p will be less than 0.26 ? 3

() What *“‘confidence™ would be associated with each of the

following intervals ? Assume that the random variable Y

is normally distributed and that © is known :

) (5 -2330/n, 5 +2330/n)

(i) (7 - 2.580/n, 7 + 2.58 a//n). 2

(@) TR Y, =23,Y,=197 Y, =46, F=fafan gafe
A @ gow Wy € o: S

f,0r0) = 60" }'Eﬂgﬂ

@ 6 ¥ MLE &t ToFn sifeu

&) T favafaemm § frofda & sdwe § -
3iea 1 9ve yaE € fame v faged 032
¥ 39 91 T A 27 B fou iy w1 SR

meﬂﬁqfﬁpﬁgs%mmﬁ
) T 026 AT/ 2 |
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( 23 ) 2486
(0 Tfafen s=well 3wy fa “fayag"’

(Confidence) WK BT ? W it for agfeos
Y H A GENE E A o @ -

0 G -2336/n,5+2330/n)

() (7 -2580/Vn, 7 +2.58 a/m)

In a random sample, 136 of JUO persons given a flu vaccine

experience some discomfort. Construct a 95% confidence

interval for the true proportion of persons who will

experience some discomfort from the mm:kinc. 4

(B) A teacher wants to determine the average time taken by
a student to complete a test of 20 questions. If for 12
such tests, she obtained a mean time of completion as

75.6 minutes and a standard deviation of 9.4 minutes,

() Construct a 99% confidence interval for the true

mean.

(i) Would a 90% confidence interval cal:uluied from
this same sample have been narrower or wider than

the given interval 7 Explain. 4+2

P.TO.
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( 24 ) . 248

mdmﬁﬁlss'ﬂﬁﬂﬁa&wﬁwm

1 A8 § Ty oA # AR AN T o
) ard st # & 39 (Proportion) ¥Y
s o9os fogarea st 1 A i
wmm'ﬁaﬁw-qﬁmﬂﬂnﬁmﬁ
ﬁwﬁmﬁ@wmemm
m%|qﬁmmﬂﬁlzqﬂmgﬂﬂqﬁm~
ﬂmﬁﬁwﬁmmm?s.ﬁﬁﬂam
faae 04 i W@ B0 @ |
() amfaE WA g 99% TavarEm SRE #
. frfn =R |
i) T wiogel ¥ @ 90% favarEam @
IF FAUE § GHU W ;@ Ag ?
e

(a)

(b)

3,500
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any 5 questions.

3. All questions carry equal marks, 15 Marks each,

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.

=1 U 0 o L e G

1 W WH-T % fiad @ FW Ry v ARy @ w s

FwIS fARag |
P.T.O.
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o R dfg WAl @ I AR
1 i v B IE T T, TR&AE W 15 JH B |

4 T WS- U & IR Jien 1 R et ver v F @, Afd
N IR & A T 6 B Wi |

1. Evaluate the Nchru-Mahalanobis strategy adopted by
India in the early phase of its development planning
and its role in transforming its stagnant colonial

conclave into an economy capable of sustained growth.

(6+9)

s R APRRE R W AR Rew T
Fdaae ¥ e ¥ J e den @ e wor ¥
I BRI TS EE - WA WA W T WY
R Tw e N DR w5t

2. A distinguishing feature of the high growth era
(2003-08) was the increase in private corporate
savings. Do you agrec? Substantiate your answer.
How crucial is the role of investment in infrastructure,

if India is to sustain a high rate of economic growth
in future? (8+7)
.!..
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aoq f@m@ g (2003-08) T @ AR frdraan el
ﬁﬁﬂzmﬁqﬁvﬁlwmmﬁ?aﬁmaﬁ
g&a&‘?uﬁmﬁﬂﬁwﬁ'mﬁmﬁmzﬁmmaﬁ
e B @ g 2 A R yf R e
27

3. “A democratic country can hardly want to become
part-California and part Sub-Saharan Africa.” In light
of the above statement explain how India failed to tap
the constructive roles of state and market for its

growth and development? (15)

“ve Rreaiad o T & @ a7 BR w Ak
R wo B N T@-FE0 AH T TEA B 1" I9gad
w77 3 = N @ Afn Ry s e sk R
% fv fFe 7oK WER T TR T A AT R
¥ W o A FEHA @I 7

4, Can India reap the bencfits of the Demographic
Dividend? Explain. What does the available research
indicate regarding a comparison between China & India
on the relationship between population dynamics and

economic growth? (6+9)

P.T.O.
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w1 NRE TAERAEE E H A JST I 8 7 wmway
Tl s i e & dra dE B R W A Ty
7

5. “Despite India’s impressive economic performance
after the introduction of economic reforms in the
1990s, progress in advancing the health status of
Indians has been slow and uneven”. Do you agree?

Explain your answer focusing on inequities in access

to hcalth services in India. (15)

“1990 = TR WfdF FURI B T2 KT B AT R
mﬁiiﬁmj,ﬂnﬁﬁ%wm%wﬂ'm
rhﬁtmfmmtaén"wmw??mmﬁw
ﬁmﬁ%%ﬁmaﬁ%ﬁﬁaﬁmﬁ
TR W |

What are the different methodologies adopted by the
Indian government to measure poverty. Explain how

the process of urbap ¢conomic growth which has
brought signifi

poor during

cant gains to rural] as well as urbanp

the post reform period? (6+9)
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R @ Wy B R SR Fgarg T AR
i mn # 7 gy 5 d wed anfde fawr it whb
%W%maﬁmﬂ%ﬂmuﬁwmmﬂwﬁﬁaﬁ

FEeauyl @ g 2 |

What do you mean by jobless growth? Explain the
main features of India’s labour market since 1999-

2000 and its impact on job creation. (5+10)

Ao - fe ¥ Fge @ aesd § 7 1999-2000
WRE B oW R A e Rl A @ FRE 9w
FIsr B | @@ wE 96 |

Compare China’s experience of economic reforms
with India in terms of its impact on economic
growth and growth of total factor productivity in
different sectors. Why did India fail to transform the
lives of people the way China did during last four
decades? (5+10)

wfis qurf @ i R T RfeT o 3 W e
JAREN N e W @ T B T A O B IPE

P.T.O.
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Wm%mwﬁlﬁﬁa’mm%ﬂ’ﬂ?ﬁq
ﬁmmﬁnﬁ%aﬁaﬂaﬁmﬁ WA 3§ W8 an 3
e Teat A SEwd i W

(3000)
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper consists of 8 questions.
3. Answer any 5 questions.
4. The marks of each question are written alongside the

questions.
5. The use of non-programmable calculators is permitted.

6. Answers may be written cither in English or Hindi;
but the same medium should be used throughout the

paper.
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Bl & fog Hew

1

W WE-99 & faed € FW Ry v FuilRe =7 W g
FwE fafag |

WYX 8 T ¢ |

for=8l drer Wl & S AR |

TRE T D A W B aa R M E

R~ W DG F IR T F TR P |

T W - 9 &0 I A o B8 et va wmar ¥ A, A
T IR & o v § v Tty

Discuss the important components underlying the
concept of economic development. Is gross domestic
product a good proxy for economic development?

(15)
e fmre At srumon & wEeaq wea w o W )
T W I WE R D Ry v smor i 2 2

“Authoritarianism is neither necessary nor sufficient
for economic development.” Discuss with examples.

(15)
"mﬁmﬁm%ﬁqm#eﬁméaﬂt#ﬁ
T 17 JERON D Wy = oy
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3, (a) How would the endogencity of capital outpul
ratio modify the neutrality of the Harrod-Domar
model? (7)

(b) The cconomy of Zuhu produces its GNP using
capital and labour. The labour force is growing at
2% per year. At the same time, there is labour
augmenting technical progress at the rate of 3%

per year. How fast is the effective labour force

growing?

Further, Zuhu saves 20% of its output and the
capital stock is perfectly durable and does not
depreciate from year to year. If k(t)=3 at time

t, calculate the value of k(t+1). (2,6)

(%) TSt SEET U @ IAAEE BAT-IPR Aed
T F Y GO Han ?

(@) W &t srfoqaenn ot Sl *F =1 J9ERT e 39
AR & IWET @ B 1 S 99 W 9 2% W
92 W8 | WY 8, R ad 3% 9 R/ A T Wi

A o (ITEHT) TG WS | W 59 e e e
TR E?

P.T.O.
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A SETW, S FTY JeWST T 20% T R 3k
hm ©fw 0 we ¥ Rew R dh mw-m-wm
frme Y ween B af W @ wmowm () =2
(k()=3], @@ & (Q+1) [k(1+1)] T =7 Tt 70T 7Y )

4, (a) How can income incquality be interpreted in terms
of long run trends in US and Europe? (9)

(b) Discuss the difficulties involved in computing a
poverty line. (6)

(w) wftw s @7 F 7 v 9 T T T D
Fol W I I W I @ W o gwar 7

(@) 70 @ @ e T ¥ e wRegd w et
|

5. The table below provides the income per day for the
6 individuals comprising the population in countries A
and B. Assume that the poverty lines are Rs. 120 per
capita per day in both countries.

Income per person per day (Ra.)

Person | | Person2 | Person ) Person d Person 3 | Peson 6

Country A
100 200 100 110 150 200

Country B

90 100 130 100 150 200
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(a) (i) Caleulate the Ilead Count ratio in both
countries, Would o regressive transfer make
any difference to the head count ratio?

(3)
(ii) Calculate the Income Gap Ratio in both
countrics. (3)

(i) In Country B if Rs. 10 is transferred from
the first to the second individual, how will

that affect the Income Gap Ratio? Explain
your answer, (2)

(b) Discuss briefly the measure of poverty that

considers the aspect of relative deprivation among
the poor. (3)

(c) Calculate the Gini coefficient in both countries A
and B. (4)

A AT A A v IR A R N e s i
I B owe o R 18R T w20 W wfe v R
(3= 2 )

ﬂn‘hﬂm‘hﬂm
oy affa2 | =fie ) it e | efdm s | @ofdg 6
Bral e 200 100 10 150 200
rpl g 100 150 100 150 200
P.T.O.
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(F) (i) 2 W ¥ W@ T FFEE R A |
uE Wil T | R o seee ¥
3R Brm ?

(i) < W A W@ A FEUE H AT HK )
(i) 20 & ¥ 7R T 10 A wr =R A W@
i i weeke fFa s 2, @ ouw IR

I A FOE W R HEW ? I T
T |

(@) M = e D WA ww oo W W T R
AW TER A H Use @ T 8 |

() 2 ¥ ¢ ok D D AR o @ e x|

|

6. Explain the role of technical progress in explaining

growth, not as an exogenous black box but stemming
from deliberate innovation and diffusion. How can
we calculate the contribution of the productivity

of education, skill and training in GDP growth?
(10,5)

q&aﬁmﬁmmaﬁ\ﬁmﬁwﬁ,#

& v aftvia S dew @ ww A A A IgER AR
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3R FER R} Ieg=T B g | BN wEE Wy Iwe & I
¥ fBren, whrm 3k wien @) SEREa @ qEE @ oA
TA T EER B 7

(a) “Economic development is not possible through
uncoordinated individual actions”. In light of this

statecment, discuss the role of the State in the
process of development. (6)

(b) Discuss how different market structures in the
provision of complementary government goods

affect the level of corruption and bribes. (9)

(%) “srEnisa AT @@l & WnEd ¥ Jfde e e
= 2" | T TG @ v 3, e 9 vl ¥ T
e W e W

(@) = = B wE W aE S wEue A e
TN TEET TeER A REd & & A S il
T E 7

Using various games to discuss the tragedy of the
commons, explain that a general policy of either

privatization or centralized control does not provide a

P.T.O.
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solution to the problem of the overuse of environmenta)
resources. (15)

Fr & A W T ey @ Ry R A @ S
7@, FAA & Fem o afiga fFaEe @i T e
Sify, qoiaiiy FauAl @ i I T @A
W A8 & B

(3000)
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2

Answers may be written cither in English or Hindi;
but the same medium should be used throughout the
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3. The question paper consists of seven questions.

Answer any five questions. Marks allotted to cach
question are indicated to the right of the question.
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allowed. Statistical tables are attached for your

reference.
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wral w g P

y m,gﬁ_imaiﬁmﬁraﬂwﬁt!mﬁu?ﬁ’awmwm
e (e | |

9. U WET- T I 3R T A R v v A AR, S
) I T e v ¥ B AR |

3 = WIE-TE N e W ¥ A O gl @ I A
Wl W @ afe 3 woe @ an Re e B 1 s
AT @ ITANT R ST e # | 3T e 3 MRk
ARG GeTT ® |

. State whether the following statements are true or
false. Give reasons for your answer.

(2) In the model, Y, = B, + B, X, + B, X, + X, +U,
the correlation matrix will contain four zero order
correlation coefficients.

(b) Ordinary least squares estimators are biased

in case of simple Keynesian model] of income
determination.

(¢) In the model Y.=a+ BX."+ U

i» Where X" =X +
W.

» and where Wi represents the error nf

measurement in X', the bias factor in the
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measurement of B is rather small, only about 0.98%
if o®w = 36 and o’x = 3667.

(d) In the Koyck model, if . =0.4I, where A is the
ratc of decay, the value of mean lag is 3.

(¢) Although the crrors of mecasurement in the
dependent variable still give unbiascd cstimates of
the parameters and their variances, the cstimated
variances arc now larger than in the case where

there are no such errors of measurcment.
(3x5=15)

Ty & Beffad 97 99 § a3 | 39 IR
| vg @wor o A |

(F) Y, =P, + Xy PyXyt BX + U, ¥ wow=y

am@E  (corrclation matrix) ¥ IR ¥ wH (zero

order) & WEE-Y VNG B |

(@) s FuRer & WE I~ A9Ed B A A qUReT
W A Jmad (Ordinary least squares estimators)
AP (unbiased) Bt 2 |

(1) WA Y, =+ X+ U A, WX =X+ W, T
Wl Wi, W' % T I (measurcment error) ®

P.T.O.
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&% ]

Brefia @ B, R o°w = 36 and ox = 3667 B 7
B & W A sfmf wRE (bias factor) TR By
2|1 B, WA 0.98% T |

(1) wiem sisA (Koyck model) # @R 2 = 0.41, i ),
e @ = (rate of decay) B, @ WA AT (mean
lag) &1 &9 3 1

() maft ot w & = PR AN SwfEl A wEe
(parameters) @ I@ WA (variances) & AN
e e B, 30 Rufd W smafaa wew, 39 weR
A AR A sl A oww A A s W

(a) To study the saving-income relationship in a
country over the period 1970 - 2005, the following
model is estimated using annual data on saving
and income. (1 ratios arc given in parcnthescs, In
indicates natural log)

InSav, = 3.039 = 0.26 InINC,
t =(3.482) (2.481)
R*=0.1785

(i) Interpret the regression results.
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(i) Theory suggests that rate of interest
(INTRATE) is also an important
determinant of savings. In order to test for
model specification error in the above
modcl, the following regression results are
obtained using Lagrange Multiplier (LM)
Test procedure :

i, = —24.710 — 3.426 [nINC, + 4.589 INTRATE,
t = (6.580) (4.895) (9.123)
R? = 0.4530

Describe the LM test. Would you conclude
that the original model exhibits specification
error? (7)

(b) (i) Show how Chow’ Prediction Failure Test can
be used to test the predictive power of a
regression model. State the assumptions
underlying the test clearly.

(ii) In the regression model Y, =f,+ B.X, +p, M,
is stochastic disturbance term satisfies CLRM
assumptions including cov(X,u) = 0. Let Z be
an instrument variable for X and assume that

P.T.O,
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cov(Z,X)# 0 and cov(Z,n) =0. What are the
consequences for statistical inference of 8,
using 1V cstimation rather than using OLS

estimation for 3. (8)

(w) &l 2w ¥ 1970-2005 9N Fafy Bg T99 - 3@ Ty
w ywe F vy Prafafaa e 9 9w 3w
R affe siwd @ wEma R owewfaa o

(Frswl A 1-squa Ry gY €, W@ wglE wqm
%) =E e R)

InSav, = 3.039 — 0.26 [nINC,

t =(3.482) (2.481)
R?=0.1785

(i) =g siom &) =ren i |

(i) Rrer= 78 7ad ¥ % == = (INTRATE)

T T U W PR R | S e
# iee R IR (model specification error)
B Whew FwE ¥G AR P (LM) Qe
¥ Pl s sRom e gy
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(%)

G = —24710 = 3426 InINC, + 4.589 INTRATE,

t

(i)

(ii)

= (6.580)  (4.893) (9.123)
R* = 04530

LM weor @ woiF 9w | & s aw e
Ramd @ s Wi ARt 3R 3w w ?

wiww % w5 @ e smwda gl
(prediction failure test) &t F8@ar | FHGOT
WIS A ydeuT wfd (prediction error) @
g fe war R o T @ 1 39 qder
F s=fAfed W=arR  (assumptions) W
fafaw

T A Y, = By + BX + o, T,
cov(X,p) = 0 aféa CLRM &t &% wr=anai
N FHL FA A AGROE IR 92 (stochastic
disturbance term) ® 1| 7 R AR Z, X Y
& wibs W ?, cov(Z,X)#0 and
cov(Z,u)=0. @ B, & fw OLS aiiwee
ST A S [V FHET B I A B, D
aieTEg FFE F fow = oRemr 2

P.T.O.
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3. (@IfY = Xp + U is the population regression

function and f§ is estimated using OLS, then prove

that B is unbiased and has minimum variance

among all lincar unbiased estimators using matrix

algebra. Assume that all the CLRM assumptions
are satisfied. © (10)

(b) Consider the regression model: Yi=0B+ B, X;+u.
Suppose Z is an instrumental variable (IV) for X.
Answer the following :

(i) What are the conditions that Z should
satisfy to be an 1V?

(1) Assume that Z is a poor instrumental
variable (1V) of X. Also, it is given that Z
and u, and X and u are moderately
positively correlated. Compare the
asymplotic bias of IV and OLS estimator

of B,. (5)
() 3R Y =Xp + U wife wwam & 2 @ @

OLS =t wewa ¥ arrfom frar wman 8, A s
IS (matrix algebra) At wBEa ¥ g Fiw &
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i mﬁfmﬁmwmmﬁhﬂnmﬂﬂﬂ
mﬁﬁﬂﬂmh*ﬂﬁmﬁ?amﬁmﬁ

A=Al e B B |

() EEUT Yi=[3ﬂ+[s,xi+ujq1ﬁzmaﬂﬁnn
AR B Z, X ¥ @ dEE W (V) 21
Prafafag @ I S |

(i) leﬂﬁ%ﬂzﬁwmﬁ'ﬁtzm
T ?

T (i) e AR far Z, X ¥ v Pl (poor) AHE
= (Iv) & 175 t R gan B f6 Z T o, 0
X g u wawd: (moderately) SRR
(positively) weewafua €1 B, @ IV a OLS
aFaa 3 oY wfed (asymptotic) P
(bias) = T FHTE |

4. (a) Consider a simple time serics model where
explanatory variable has classical measurement

crror.

Ye = Bo + Brxs + e (1)

X =x{+¢e (2)

PHIE,
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where y, and X, arc observed variables, X, is ap
unobserved variable. Assume i, has zero mean
and E(ue)=0 and E(ux;) = 0. Further ¢, has

zero mean and uncorrelated with x7 and that °
t

o ——— . — e W T

also has a zero mean.

(i) Plug equation (2) into cquation (1) and !
show that the error term in the new |
cquation, say, v,, is ncgatively correlated

with x if {3, > 0. What does this imply about .

the OLS cstimator of from the regression

of y, on x,?

(i) Assume further that p, and ¢, are
uncorrelated with all the past values of x;
and c,; in particular with x; , and ¢_. Show
that E(x,_v)=0.

1 7
(iii) Are x, and X likely to be correlated?

Explain.

(iv) What do parts (ii) and (iii) 5uggc-st nf 2
useful strategy for consistently estimating

(10)
B, and By?

) — s R T e S .

while
(b) The following summary results were reported

n mﬂdﬂl

T

estimating a linear regressio

t
|
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Y= B+ B.X+ U,

5 15 25 =
X'X= Y = Y = f =
[15 55] X [89] Y'Y=145 Y=5

Complete the ANOVA lable given below :

Source of variation Sum of Squares | Degrees of freedom | Mean Sum of Squares
Due lo regression 1 I

Due to Residual

Tolal

(5)
(F) v @& T (time series) #Rd W far <ifore
W8l @@ (cexplanatory variable) T ¥ Fnfaeia

T 3R B
Yo =Bo + prxi +pe (1
Xy =x; +¢ (2)

ey, 4 x W (observed) W ¥, x| Uw Imfew
(unobserved) = @ | 7 A 7 p =1 WA T

® @4 E(ne)= 0 F E(y, X)) =0.c & A T4

B A WE x, & AW JEEEERUE 2 aw x) w of
WM T B

DTN
Scanned with CamScanner



2939 12

(i) e (2) = FEE (1) § sfenia Ay
& TR fF AU wEw A qR W, W g
V. X, @ TG T (negatively) FEERRR
g R R B, >0y, F x, W FANEN X OLS
FEaw B, 3G Ta& T [AfRand (implications)
27

(i) = o & p T ¢ x/ 7 cl‘c"ﬁ‘ﬂiﬁﬁ'ﬂa
s fasea: x ac,_,%muammﬁ’tm

21 ewise & E(x,v)=0.

(i) @@ x T x_, @ TEEAEUT B 0 W B ?
GLEIEHE

(iv) P, T P, T wwa: (consistently) Sl I
2 (i) T (iii) T Ivan wrf e ¥

(@) &g wmsE A

‘fi = BI + H:xl + U:
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frafafes ANOVA @Rt = i #ifwg :

Source of vanation Sum of Squares | Degrees of frecdom | Mean Sum of Squares
Due 1o regression |
Due to Residual
Tolal

5. (a) What do you understand by data mining? Assuming
that there arc 20 candidate regressors out of which
5 are finally sclected on the basis of data mining
and @ = 5% is the nominal level of significance,

calculate the approximate true level of significance.

&)

(b) Suppose that the truc model is Y,=a,+ a,X; + V|
but we estimate the model without the intercept
as Y, = B,X; +u; What are the conscquences of

4)

(his specification error?

(c) In studying the factory demand for machines,

following model was used :
M: = “Xr.':-Ingl-llh

of Machines, X, =
X, = interest rate.

where M*= desired stock

relative price of Machines,

e stock adjustment model, the following

Using th
2001-2017 :

results were obtained for the period

P.T.O.
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InaT,

t=contant — D.Blﬂln.\'
{0.051}

Lt-1 = ﬂ.‘}SSh: X
N2ty +
0.170) - U'BGJ”"”-

Where the figures iy the pa

CStimated standard CrTors

partial adjustment hypothesis.

(ii)) What js the estimated o

ocfficient of
adjustment? '

(iv) What are the short- and long-

run price |
clasticities?

(V) What are the reasons for high or low rate !
J‘F of adjustment in the present model? (8) |
| |

(F) 3= & == (data mining) ¥ 3 T TR 37 '
TE W Y T sl & o A werw A 20 vk |
| ﬂ'ﬁ%&aﬁmm%mﬁaﬁ:&mﬁﬁm:
o = 5% WRAE (nominal) Wi w3, AR
l (approximate) ST AraH T A i |

i

¢

i
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(@) 7= A & awEfw WwE Y, = o+ qX by R
W B RE WA @ =S (intercept) @ R
Y,=pB,X, +u, @ 9k W rwha wa ¥ 50 R
e @ @ wRum ¥ 7

(1) ww@EE { TR @ s e A AR
Wisd &1 Ivan fear
M: & U'Xf':ll-l}:gfl-lpi
FE M = WA @ afed wid, X, = T
ﬁMH,X3==amﬂztﬁﬁﬁim@mw=mﬂ (stock

adjustment model) 3 WET@ | 2001-2017 F Jafu
¥y FeafoRes oo o= g0

[7M, = contant — 0.318[nXy -y — 0.955[nX;,-y +0.864inM,—,

(0.051) (0.170) (0.035)
R? = 0.987

i areE A oy TG SR S A e © !
(i) e feAor fFmfafy (expectation formation
mechanism) g & (cUpression) foftaw |

(i) =wuigw f& W 9Rkeed  (partial
adjustment hypothesis) ¥ T 3 fFa WK
T e Y A (estimable) Hige A

R far e @ |
P.T.O.
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(i) 3mwfer wmAe E (adjustment Cﬂcﬂici:m)

T B 7

L R — —— T S

(iv) YT q S Fhm w (elasticitics)

B ? :

(v) 3 s A wmdew & I W e @ @
T B7

6. (a) Consider the model

Yn =Dh +|3:le +'E|I

where the index i refers to the country and ( to
time.

(i) Which panel data model does the above

cquation imply?

(i) Assuming that there are five countries,
explain how the least squares dummy |
variable model captures the heterogeneity

present in the sample.

(ii) Is it possible to incorporate the time
invariant variables in the above model?

Give reasons for your answer.

!
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(iv) Bricfly cxplain how fixed effects within
group mcthod can be used to estimate the
above model. (9)

(b) Consider the following Phillips-type model of
money-wage and price determination :

”’1 = ffu‘f'ﬂ']UN; '!'ﬂ'p_p: +H"
Pl =ﬁ0+ﬁlwr +}32ﬁ: '5'!93"?: + Uy,

where ¥, = rate of change of money wages

UN = unemployment rate, %

P = rate of change of prices

R = ratc of change of cost of capital

M, = rate of change of pricc of imported raw
malcrial

L = time

u,,u, = stochastic disturbances

| L

E(u,) =0, E(uy,)=0, E(ul) =o/, E(u3,) =07,
E(u,, “mj) =0 (forj+0), E(“::-‘-‘:uj) =0 (forj=0),

E(u,,u,) =0, Cov(UN,u, )= 0, Cov(R,u,)=0,

Cov(A,,u,) =0

P.T.O.
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o R PR W e W

Can you cstimate the Phillips curve (;’ ':ql-lﬂlmn]
using ordinary least squares? Explaip }-ﬂu |

"

answcr.,
(w) PRk ke w far 26

Yo =P +P X, +e,

e L = Lk Y

SEl Wahd | oW W q9ra R 991 { w99 a1 |

(i) SRwa @ § = s (p:unr:l}?amF
F@ vz J=ART B 7 :

(ii) wmﬁgwﬁ:@qﬁhimﬁré
e i & W A (least squares dummy |
variable model) & war wied § Ivftw
fwran (heterogeneity) &) mafiE (capture)
e B

(i) @ z@ vizA ¥ WA P WY JRahiE @
T ) WRAE (incorporate) FE T B 7
HTY IeW B wo AR |

(iv) wfg A ey B IR ded ) Rw wm
e -2 - 3= A (fixed effects within-group)
o wewa ¥ e wawr srsfoa & g I*
? .
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(@) =FF T T drm Pt R Rifr-vaw @
Frfe e W R @

li’f = g r “1””{ + EZPI + Uy,

P! = ﬂﬂ + ﬁ], H‘"; +ﬁ3§r + ﬂgﬁ-f; -+ Ua,

TE W, = AEE TR §fooRedw w
UN = JUehmd 2T, %

P = @@l 91 sRedT =
R = 9ol &t avm & sRadT =

M, = Jafda &< A9 9 @ @ oRads =

I = 999
u,u, = dERe® IR T (stochastic disturbances)

E(u,)=0, E(u,) =0, E(u}) =0}, E(u})=0c},
E(uj,u,,;)=0 (for j=0), E(uy,u,,)=0 (for

j#0), E(u,,u,) =0, Cov(UN,u,) =0,
Cov(R,u,,) =0, Cov(Af,u,)=0

w1 3[R aw (P2 wiE) & == T ffy

1 BT ¥ Nl X 9Fd € 7 HUT I A
TIART |

P.T.O.
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7. (a) In the following distributed lag (DL) mode] -

Y| =@ ¥ ﬁf} x: + B| XI_I + ﬂz XI—Z +.....+ u E

(i) Use Koyck approach to transform tpe
model into an autoregressive model.

(i) Derive the formula for median lag.  (6)

(b) A researcher estimates the following Cobb
Douglas production function for 5 countries (Brazil,
Russia, India, China, and South Africa) over the
period 1990-2017 :

— —— g A S, T B —— Ry TR — T * 0w

e

|

logY, = B,+ B,logK, + B,logLF, + B;logE, +
B,JogEDU, + B(logDEM, + g,

where

Y = Gross Domestic Product Per Capita

E = Total exports as a percentage of GDP

LF = Labour

K = Gross fixed capital formation as a percentage
of GDP

EDU = Secondary School Enrolments

DEM = Democracy (1 if democratic and 0
otherwise)
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Table 1 gives the results of the random effects
model obtained by the researcher

Table 1: Random cffects model of the
production function

CoefTicient
C 2.523%%%
LF 0.080
K 0.050*
E 0.607***
EDU 0.029%*
DEM -0.006

where *, **, and *** denote significance or
rejection of the null hypothesis at 10%, 5% and

1% levels of significance, respectively.

(i) Briefly explain the random effects model,
clearly stating the assumptions made by the

model.

(ii) Which estimation procedurc is used to
obtain the above results? Give reasons for

your answcr.

P.T.O.
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(iii) Imterpret the intercept term in the above
table,

(iv) Given that the value of Hausmap test
statistic is 15.90 with the P-value of 0.006,
would you prefer random effects mode]
over the fixed cffects model? Give reasons
for your answer, (9)

(%) Fefefas faaRa fawsm e w faar <.

Yima+ BX +B X, +B,X,+..+ u

(i) =w Imm (Koyck approach) =t e 3
IRNET ARA F UF (autoregressive)
A W #ife |

(i) =forr et (median lag) ¥q %
e | v

(®) & Ao dia W (e, WRE, BT T <R

YHIE) BT 1990-200 W sy ¥ P
T IO e e e 2

logy, = ot B |

0
. 'nawu + B #% * B,logLF, + B, logE, *

slog DFM + E;,
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e

]
Y = W @fw wwe Wy g

E = wd fAdia, GDP & whim & d w
LF = »m

K = ¥« e gt fmio, GDP & wimm & @k
R[4

EDU = mafis fawm 3§ [mie
DEM = &= (1 3R Jwaifasw ® @, 0 =)

At 1 F Muwdt grn Aefed wE e (random
effects model) ¥ W wRvmr feg me #

Ao 1: IR We o dghed WE HEd

Coeflicient
C -2,523 %%+
LF 0.080
K 0.050*
E 0.607%**
EDU 0.029**
DEM -0.006

P.T.O.
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SET *, **, and *** Y= qREerET & EEE 0%, 5%
and 1% TrfeEar @0 W Al o SR s

oo ST ¢ |

(i) e ¥ @ 7w B wew R g
ugRe® W WEE W A8T A Y |

(i) IR wRwmd @ W e R s
wf =1 Ivam fan S R 7 O I 3
RO AT |

(i) I RO F F@EvE 9T A AEAT R |

(iv) aR #edT wdewr whiessr (Hausman test
statistic) &1 #I7 15.90 2 4T p-A 0.006 ¢,
A w3 R R AR s aghed
YE ARA @A) 7 O IR Bg IV
<o |
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Instructions for Candidates

—
]

Write your Roll No. on the top immediately on receipt
of this question paper.

[ %

Attemptl any one question from Scction A and any
three questions from Section B.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

B & fow P

1 3 YHE-1 & figg € s R v FuiRe e w s
e faftae |

P.T.O.
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s @ A A R g W ate v =R A A Pl < st oy
I |

T W - T o e SR un fEd [ v s # A, 3
) I W me o ) wE Wieg

Scction A (15 marks cach) — Answer any one.

W ¢ (15 3w W) - fFft O &1 I 2 |

What is the significance of the right to private property
for the functioning of the capitalist system? Explain
what Robert Heilbroner means by the “negative form

of power” implicit in it and its relevance.

voiardt aaen & e @ foe Pel w9 @ st @
w1 WE 2 7 3@ IMER A ol “vfew & TEOeE
" A FF TIEA & I IR THE) Wl it T |

Discuss the role of “primitive accumulation™ in the

[ |

evolution of capitalism in Western Europe.

ufraR A ¥ gotare & fawm § “anlew A" @i s
WA w |
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3. Explain the concept ol “Reserve Army of Labour”.

What is its relevance in Marx's analysis of capitalist
dynamics and crisis?

“m A Red A" A mumen AN @rEn aW | gead

Tfeas dAR g & W @ fAman § e s
= e 7

Section B (20 marks each) — Answer any three.

WA &t (WS 20 ¥w) - fR o\ o oIw @

4. “History is not the development of ideas, Marx and
Engels tell us, but rather the development of productive
forces and formation of ideas is explained by these
underlying material changes™ (Gurley). Elucidate.

‘e 3R I B aa @ o sfoe feEwi @ Ramw T,
o Sars T @ Aew ¢ R @ el @ =
siafifm i oRad BR W @ R () | '
T |

5. Explain the possibility and necessity theorics of crises
in capitalism. To what extent and in what

circumstances is government intervention possible to
counteract the tendencies of capitalist crises?

P.T.O.
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ﬁnqﬁmuﬂﬂﬁﬂmﬁaﬁmaﬁ%ﬁwm
m&qﬁmﬁmﬂwwﬂﬁﬁaﬁﬁﬁmm%?

H H v
Elucidate the concept of “crcative destruction” and

point out its relevance in (i) Schumpeter |
the neoclassical (Marshall-Wicksell) analysis of
capitalism and (ii) in his subscquent defence of

s critique of

monopoly capitalism.

T AT ) IEuRe & W W OAR (F) TeiER
@ - (e - R frmeme R gErdiet er S
R (A) I W TERER AR ® a9E A
W F 3AE R

Provide a systemic explanation for the global economic

crisis that broke out in 2008 including a discussion of
its historical roots.

2008 ¥ ¥¢ HMaw i wae N v worERE wrE wer
R foal A WeRer @ A o1 N whE 2

“The fact that (perfect) competition is not compatible

with modern, technologically advanced production is

by no means tantamount to the proposition that

monopoly is a rational framework for development of
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prnduclivc forces.” Elucidate the above statement of
paul Baran. Does this mean that Baran preferred

perfect compelition Lo monopoly?

v e [ (1) sRmmdt snufer, 9w e w A S=m
Jmed @ @Y 9 A8 8, RN W d 3@ vee @ T

= 2 B valter Serw 9@ ® w3 e o
qaENE 2 B 1" Ui 90T & 9REE 99 @ W &
w1 TaE TaEE R au wRey @) EitEr @ W

a4z H OB 7

“Financial interests within any country as Keynes and
Kalecki had argued, tend to be hostile to demand
management; when finance is international, this
hostilily acquires a sponlancous cffectivencss™
(Prabhat Patnaik). Discuss Kalecki's analysis of the
hostility of big business and particularly financial and
‘rentier’ interests to maintenance of full cmployment

by ‘deficit financed’ demand management policics of

the state. Why doecs Patnaik feel that such hostility

becomes much more effective in the era of global

finance, particularly for third world countries caught

in the vortex of international finance? In this context

bricfly discuss the other consequences of financial

globalisation for the third world countries.

P.T.O.
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10.

ﬁﬁiﬁT?Wﬂiﬂtﬁﬂﬁﬁf#ﬁﬁzﬁmigﬁhiﬁﬁlﬁi&n
1#ﬁmtﬁﬁwfﬁﬂﬁnﬂmsmh#ﬁ?ﬂﬁﬂquﬁﬁhrﬁm
ﬂ,mﬁﬁm@ﬂ%,ﬁmwwmmm
o w27 (A TeAEE) | T @ ue daw faw
e’ g WA wEUT AR A T I TR @/
@ e o i w1 A frefa o ‘e’ B 1w
2 T & frea W Td @) | TeAE ® TEhd S
¥ o A e @ g A AW T U R 8 I
?, e e fre @ e A whg T AR R @
@ f ? 3@ wl A AW fw @ /W D R el
el & o R W owe ¥ =i W)

Do you think that the capitalist cconomic system can
survive on its own autonomously without any

intervention or backing by the state? Explain.

H A T 2 F Oohar s weawn, o9 BRT seRy
q W & B I e R S ® aaS 2 7 g

(400)
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orEl @ fag fEw
mm-w%ﬁaﬁﬂmﬁwwﬁffﬁamwm
e foflee |

2. TE WET O A I ¥ @ieT T |

3 WI- 3T e A SR W= ¥ e A FE T
¥ e e e W IR | el w B e AT B |

4 TE T~ IR et w BR R v war ¥ afre, At
T IT T A U B B0 A6 |

5. WTURY Berdere? ot wanT e o w1

AN - A
SECTION - A

——
-

(a) Home and Forcign are the only two countries in a
hypothetical world economy and each of them has
only onc factor of production labour which can
produce two goods: cloth and wine. Home has
3000 units of labour and Foreign has 6000 units of
labour. In Home one metre of cloth requires 3
hours of labour and one litre of wine production
requires 2 labour hours. In Foreign one metre of
cloth requires 5 hours of labour and one litre of
wine production requires 3 labour hours. World
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relative demand for cloth in terms of wine given
as QJ/Q, = P,/P..

(i) Draw RS and RD curve and calculate the
equilibrium relative price of cloth in terms

of wine.

(11) Explain the gains from trade in term of the

wage for Home.

(1i1) Other things being same, assume that the
productivity of labour doubles in Home in
the winc sector. How do international
specialization and world equilibrium relative
price of cloth (Pc/Pw) change?  (4,3,3)

(b) Assume a world comprising of two countries Home
and Foreign which can produce only one good using
a fixed factor land and another variable factor
labor. Let us assume that land labour ratio in home
is lower than in Foreign and markets are perfectly
compelitive in both the countries. Labor is perfectly
mobile between the two countries. With the help
of a diagram explain the effects of costless
international mobility of labor on the wage rate
and world output. (5)

P.T.O.
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mmﬂﬁﬁﬂﬁﬁ,mﬁm.ﬂm
e e & 1w A 7} 3000 TFEW ¥ 3R
qﬁ*ﬁuﬁﬁﬂﬁaunumflﬁﬁwiwﬁm
m@ﬁmﬁﬁvaﬁmﬁmﬁﬁ
2 3k v A W I & fow 2 uEE 9 i
s B 21 Tew ¥ @ A w & R
s WY & o & JEWEd B 8 I TF WK
Wa It @ faw 3 ufe 9 i FEwE vl
) mWE & My TR @ R R & nfys @

QLJQW=P“IPC _ T B

(i) T ot (RS) 3k @nfd= 7w (RD) @&
Y IR WE B WG w92 @ e B aeR
ﬁwﬁﬁma\maﬁmaﬁ';

(i) =ew & fow wod & w=rw ¥ =R ¥ A
'ﬂﬁmtﬁﬂ

(iﬁ) maﬁmfgﬁ@’mm%m&a
X P o S A R e 2 @

T T R M dg g (Pop,) ¥
TR o 2 7
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(@) v Y R W= A e R ok e @ 2w
T & owwm R wum ot @R s wRed
LT #7 F ITART HD DA Vo qeq H TART T
T B | AT AW o ¥ R wRm W af- s e
Tew A - I W@ g A ww B oIk A
B A ¥ aeR q@ W wied 1o 9 3 B
99 W J AR 2 1w v W e A T
W IR fra I W oww w anmeE SR
A & WE # e @R |

2%

(a) "A production subsidy is better policy than an
import tariff to address the domestic market
failure.” Explain with the help of suitable diagram.

(6)
(b) A country produces wheat using land and labour
and cloth can be produced using labour and capital.

The supply of land, labor and capital is given and
fixed. Labour can move across two sectors within

the economy. Draw production functions for each
scctor, production possibility frontier for this
ecconomy and explain allocation of labour across
two sectors. Assess the impact of an increase in
the relative price of cloth on the allocation of
labor between two sectors and effects on the
distribution of income among the three factors of
production. (9)

P.T.0,
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(w) ‘W TR fAvewm B @R T F R s
weE @ e N v Iemed aas v dvm AR
21 JuqEE s T W A WA |

(@) wF 2 R IR W IW FTE AT W IeNe
w2 R, o R G @ gl @ o &
2 3k R B Ffamen & W o oF & F
wHiARa B T B 1 WA &7 B o e wew
AR 5@ Fiammen & fov geRT wE T @i
a1 A &R N am D IR W D | A AR
& 99 oW R FEeT IR IART B R Al & 9
m%ﬁmmm@%aﬁf&m{mﬁqﬁ;ﬁ#m
T AT W |

3. (a) In a 2x2x2 Hecksher-Ohlin model of international
trade explain the rclevance of the one to one
correspondence between the relative price of
goods and relative price of factors. How this
relation relationship determines a correspondence
between relative price of goods and relative factor

intensities in the production of two goods? Explain
with suitable diagrams. (9)
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(b) With the help of production possibility curve,
isovalue lines and indifference curves explain the
derivation of relative supply (RS). Using relative
demand and relative supply curves show the
welfare effects for a country from an improvement

in the terms of trade. (6)

() SAOE TWUR & 2 x 2 x 2 3R - g wfawd &
T3 F AN o AR AU 9w @
vE 3 T (onc to onc) HEARIA A WIS F
=T X | 8 §aU 9 aegd & owed F agH &
wRE A FR WG WA TEA & 9 U aeger
Frffeg @ @ 7 JUged IRl & Ard G |

(@) ST 9, JeIe W % SR - e
Eﬁmﬁﬁﬁl{ﬁﬁﬁﬁaﬁqﬁ%aﬁmm
AR 1wl Wi R AR of T I F
gqmmaﬁmﬁﬁ@mﬁ%mw%ﬂ%%q
SR T qAAE |

4. (a) The demand and supply curves for kiwifruits for

Home and Foreign (asterisked) are given by:

P.T.O.

Scanned with CamScanner



2
2943
Demand and supply curves T,
Home S=80+p

D =250-3p

Foreign §* =150+ 2p

———

(i) Under free trade between lome apg
Foreign find the world cquilibrium price of

kiwilruit and pattern of trade, 1

(1) Calculate the net welfare effect of a
specific tariff at the rate of 2 per unil op
the import of kiwifruit imposed by Home.

(ili) Beginning from part (i) calculate the nel
welfare effect of a specific cxport subsidy

at the rate of 2 per unit on the cxport of
kiwifruit imposed by Foreign.

(iv) Calculate the rate of prohibitive specific

tariff at which Home's import demand
becomes zero. (3,3,3,3)

(b) Show the difference betwe
‘Prohibitive tariff”

national welfare,

en ‘Optimum tariff” and
in terms of their effect on

(3)
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() o @ wRn & fw AW ww @ o ok

— [T 3R Tell a8
— D =200 4P
Weq S=80+P

D' =250 - 3P
R §* = 150+ 2P

(i)ﬁ%maﬂtqﬁﬂ%ﬁvww%ﬁﬁﬂﬁ?ﬁ
w9 B FREE AOR B W I awm
ﬁﬁm%ﬂ@?ﬁaﬁmﬂﬁﬁﬁt

(i) PGS B IR W RN I T WA
7o B WA 7@ R TEE @ € we
g F TOET &Y

(i) 1 (i) X T8 I §Q TR F W A F
Prafr ¢ 2 WR T A R A v Rfe fa
RS Rr W @ € HedE THE WA
:adl

(iv)ﬁﬁaﬁﬁmmaﬂmz{ﬂﬁmﬁﬁm
T Ry A @R WA [ B B

P.T.O.
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5.

6.

eIV W WWIT T g F
(WJT'@" s | W%.%
A W @ 9 W fram

Write short notes :

(a) Effective rate of protection
(b) Comparative advantage in Intertempory] trade

(c) Leontief Paradox (5.53)
|y feoh o

(F) wam & ™d =

(@) sawmfrn =mr ¥ g any

(7) P fRunm

HAT-F
SECTION - B

‘@

AA and XX schedules explain

() With the help of DD
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o) Examine the cxpendilurc-chnnging and Expendi
o “UI.'C'
correcting interna|
alances under the Bretton Wo

switching Policies in

external imb and

system. ods
(6)
(x) ¥8-

wm@ﬂmuﬁﬂmﬂwm
@Eﬂﬂﬁwﬁﬁmﬁtﬁﬁamﬁ'&mm

e .

RUEETC i ol S

-

/. (2) The balance sheet of the central bank of Moorland
1s given below :

| BXance Sheet of the Central Bank of Moordand

| Avsez (Pepees Billion) Lighility (Rupees Dillion)
Domeorzc Anvey | 1200 Deposits held by the Pnvate banks | 2500
Formom Assess t 25800 Currency in Circulation 1500
Tew! Agsery | 4000 Total Lisbiliues 4000

Explain the effects on money supply and changes
in composition of the balance sheet of the central

bank of Moorland :

P.T.O.
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(1) Non sterilized purehuse of foreigy D88ely

worth 00 billlon rupees,

(1) Sterilized snle of forelgn nssets worth 50p
billion rupees,

(3)

(b) Examine the effectivencss of sterilized sple of
toreign assets under imperfect nsset subslitumhilily

(7

Draw suitable diagram,

(¢) Does the unregulated nature of a global banking
activity leave the world financial system vulnerable

to bank failure? If yes, what measures have
governments taken to reduce it? (5)

(%) @ & W0 Yo g @ N few w3

RS & & I e g g

BITERRY (374 v) STl (3T T0)

:‘tunﬁmﬂm‘f 1500 | ¥ o $
AR R A BN [ 150
RRER TR 00 T TN 4000
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(i) 500 mwﬁaﬁmmmﬁ_m
w

(ﬁ)5nuﬁﬁm=rmﬁqﬁﬁmmmm
fersrar

(@) Jl R wiwms 2 o R wohm B
FTR R RN e N wiw )| I aita
T |

() = Aaw ew MRRR R afia R R A
Tt it S fvew & v aer R ¥ ok W@
27 2R & @ W ¥ T T T B R T

I51 B 7

8. Write short notes :
(i) Intcrest parity condition

(ii) Financial Trilemma

(iii) Liquidity trap in DD-AA model (5,5,5)
o ot o :
(i) = e @ T
P.T.O.
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(ii) freva Geem

(i) DD-AA wfawg A wwa o

(2500)
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1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any one question from Section A and any
three questions from Section B.

3. Answers may be written cither in English or Hindi;
but the same medium should be used throughout the

paper.
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Scction A (15 marks cach) - Answer any one.

WA ¢ (15 @ wdw) - R g o IR 2

I.  Analysc how the contemporary world of globalised
finance is different from that in the conceptualisation
that Lenin made in his book “Imperialism”. Does this
make Lenin’s theory irrelevant to the analysis of

contemporary capitalism and the world economy?

ﬁﬁwaﬁ‘ﬁq%%aﬁgﬁm “Trmaare” X fahe g
e ¥ dediga e R w2 s 2

wwéﬁ?a}ﬁzﬁraﬁmﬁqwﬁ{ﬁw
mﬁaﬁ—m%ﬁaﬁw%ﬁqmﬁmmg?

2.  Expl

ain the justification of ‘restrictive practices’
and *

price rigidities’ in Schumpeter’s analysis of large
firm behaviour,

! Do these promote econgmic
nefficiency?
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3. Do you think that in Marx's understanding of a social
system, the relationship between the economic and
non-cconomic domains can be analysed in a
unidircctional manner, in which the former determines

the latter. Discuss.

TG S T § oW @ wenfers woreh @ W A,
FfaF 3R - anfas &3 D T T90) =7 vEaesr Ry
formr s v 2, o ween Tt N PuiRa @ €1 ==t
-l

Section B (20 marks each) — Answer any three.
um EHl (TRE 20 #@®) - R dm w3 3

Explain how “technical progress” is crucial in Marx's
analysis of capitalism in (a) the internal logic of its
regular functioning and (b) in the context of various
capitalist crises, as both a cause and g solution to
different types of criscs.

P.T.O.
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¥

5. Decduce the relationship of the rate of profit with the
rate of surplus value and the organic composition of
capital. Elaborate on the working out of this relationship

and explain how this forms a basis for crisis under
capitalism,

a&ﬁuﬁﬂﬁa&hﬁaﬁaﬁﬂﬁmm%mm
ﬁm%ﬁa‘umﬁﬁﬁ:wﬁﬁu%wa&m
HUR Ta1 2 |

The rate and direction of cconomic development in a
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Explain Kalecki’s analysis of business leaders’
opposition to maintenance of full employment in
capitalist democracies, How was such an opposition

oyercome in the Nazi regime in Germany?

I UL S SR g
a i & woet @ Rvcaw 3 o w0 T @ T
TR N T e B Qg W R um war ?

Provide a Marxist framework to analyse the crisis in
global capitalism that broke out in 2008. How does
such a framework essentially differ from a Keynesian

one?

2008 ¥ I B I dfFaw oA ¥ Fwe @ e wey
7 U ve e T R W | 36 WE & 2 A
A o B Rean ¥ e 9w s e 27

P.T.O.
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10.

In what ways does Irfan [Iabib differ from the
standard analysis of the emergence of capitalism? In

that context explain how colonialism created the ideal

conditions for the emergence of capitalism in Western

Europe,

et vl forn a yalare B Ipm @ A faes |
sgr ¥ 7 @ v A wwg i Ba s T aen

QY A gEiar & e & g ey fafda =g

“It is therefore a profound mistake to conceive of

capitalism as being in essence a ‘private’ :conumic::

system” (Robert Heilbroner). Explain this statement

with an clucidation of the role of state in the capitalist
|

system.

“mﬁqﬁmﬁﬁmw‘ﬁaﬁaﬁmmﬁ%ﬁ’
A e A @ M T 3 (fad Yzaarw) | e
Wﬁ'mﬁqﬁmiﬁnwﬁaﬂtmmﬁm'
Eod -i

(
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

12

The question paper is divided into two sections.

3. Attempt five questions in all, sclecting three questions
from Section A and two questions from Section B.
All questions carry equal marks.

4. Answers may be written cither in English or Hindi:
but the same medium should be used throughout the
paper.

5. Simple calculator is permissible,

P.T.O.
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SECTION-A

1. (a) (i) Consider an cconomy that produces
automobilc parts and cloth using capital (K)
and labour (L). Unit factor requirements are
given as aea =6, a,,=2, a,.=4 a =4,
where a; is the number of units of factor i
required to produce one unit of j. Assume
that the economy is endowed with 6000 units
of capital and 4000 units of labor. In case of

no factor substitution, derive the economy’s
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production possibility frontier using these two
resource constraints. Calculate the production
point where economy fully utilizes both the

resources.

(if) In case the capital in the economy increases
to 8000, what is the new point of production

where the resources are fully utilized?
(5)

(b) How do dynamic increasing returns and learning
curve strengthen the case for protection? (3)

(c) A laptop sclls in the world market for $ 1000 and
the parts out of which the laptop is made sells for
S 600. Supposc the country imposcs 10% tariff on
laptops and 20% tariff on the parts, what is the

cffective rate of protection for the laptop
producers? (5)

() (i) v W srfarn W faar &% @ oo (K) R
s (L) 1 I99NT T e & el 3R

T2 W IR Gl B | FHE U JEEAY
a.,=6,a,=2 a,.=4,2a,.=4, & A A
Hﬁ’l%,m‘aﬁjaﬂﬁﬁémmmﬁ

& fw T i 9 sEws 3@ @ w2

= o fF 98 srdemEw 6000 I TW 3R

P.T.O.
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.} 4000 FaTS s A ST U VG RE R

3t T AR AT A W wEe g0 3nfagey
A e onen wn A ageafs A6 g
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fmE W ool I wd R

(i) uf ga snfamen A 4o eooo wwr ww Wy
I R, A Fewresr W aw Aqu [y ww vl swi
e w g Iwahr W R 7

(@) nfeie afem sfaws sk siftnmr aw wem =Qify =
qel @ AR AT FA R 7

(1) fava aow A vw Aveim A @hm Siwooo R I GeEr
| 7ol A Aveia T s ¥ I @ $ 600 ¥ 1 WA
e fn v 2w Aveim W 10% wien W Rl
Tl W 20% WIFR Ol R, A9 Iewed) @ Ay
A F WS T T B 7

2. (a) Explain with the help of diagram as to how
cconomic integration can lead to both winners and
losers among firms in the same industry if firms

differ in terms of their performance? (5)
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(b) Can international borrowing and lending be
viewed as a kind of international trade of present
consumption for future consumption? Discuss with
the help of diagrams? What is the relative price at
which the intertemporal trade takes place?

(4,1)
(c) Writc short notes on:
(i) Leontief paradox
(i) Immiserizing growth (5)

(=) sE D e ¥ T & oaffE e e
fHoqres ewal Qe WA 9 U Jan 3 R gER T
W F A 3R B Io A WR & ad
£7

(@) @ HEE W W IUR F A9 3 H AT B
I & e a9 ST 9 AEOEE @WER & 9
¥ ¥ o wEA & 7 M@ & Wew ¥ 9« @l ?
o A T W B R W e TR B 8

(1) iy e R
(i) st RrunT
(ii) Tl F3ie
P.T.O.
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3. (a) Home has 100 units of labour and Fareign has 200
units of labour. The unit labour requirements for
the production of X and Y at Home is 2 and 5
respectively. In Foreign, it is 1 and 4 respectively,
Both the economies have the same tastes and
preferences given by the utility function : U(X,Y) =
X04Y06 Assuming constant opportunity costs with
labour as the only factor of production, attempl

the following questions :

(1) Construct the production possibility frontier

of Home and Foreign

(ii) Between which relative prices [Pl(’p},}
would there be complete specialisation?
What would the relative quantity produced
when both economies have complete

specialisation?

(iii) Plot the relative demand curve and relative
supply curve. What is the equilibrium

relative price?
(iv) Is there full specialization in this case?

(v) Take the casc of Home and explain the

concept of gains from trade?
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(vi) Duc to some exogenous reason the labour
in Foreign declines to 100, does the same
pattern of specialisation continue as

before? (1,1,3,3,2,2)

(b) “An export subsidy unambiguously lcads to costs
that ¢xceed its benefits.” Discuss the same with

the help of a ncatly labeled diagram. (3)

(%) 2w A wm 9t 100 T ¥ R TR A A 200
T ¥ Ry A T X IR I Y & IR @
fou =g wm & sEwmEd W 2 3R 5 B gem
A, g5 &AW 1 3R 4 B 1 A ardemraraan ¥ e W
e Sk sftem 2 @ fF Swaifim wee UXY) =
X04Y06 grr Ry v & 1 oM IeweT &1 U WA

R fer sEwm avw wmeEw, Brefafas v @ o 3w
aﬂﬂmﬁ:

(i) wRm 3R "Ry @ I e gw @ R
Tl |

(ii) = wmer @l (Pypy) & S oof Rt
B 7 3 snfaraenal A oof Rt 81 w
AN IeTE W A w@r o 7

P.T.O.
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(ii)) wie o ad s wie gfd aw a fadn gy

HiH] A el Hedl il w7
(Iv) il 4 feafa 4 lrﬁ fafsiediam ¢ 7

(v) s @ W] W @ A ;A e o)

dfleed]] i |

(vi) facft wrgn vt A wedn A om WA QAT 100
il 2w fafedraam w YA weR ool

w7

(1) “yu; ffia wfarh qerza, and @ sfien =0 A gfa
W 1" v s A A A fay ey o)

gz A gaed) ad Wl
4, (n) Suppose the market demand and supply for
watches in Indus arc given as
Q=70-10P
Q, =10P-30

(i) Calculate the equilibrium price and quantity

for watches in Indus under autarky.
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(i) I Indus allows for free trade and I'= 4 on
world market assuming no transportation

cost, how many watches will it import?

(i) If Indus decides to levy a unit tariff of
1/- on cvery watch imported, resulting in
world price falling to 3.5, calculate net

welfare gain and loss.

(iv) If marginal social benefit accruing from the
increase in production, due to the tariff
imposed, is given by 100 - Q, calculate
total social benefit. How does it compare

against the production distortion losses?
(1,1,4,3)

(b) Silicon inc and Chang Inc are firms based in

Kennedyland and Sinoland respectively, capable

of making artificial intelligence solutions, with
Silicon Inc having a initial head start and committing

itself to produce Al solutions. The payoffs of the

firms arc given as below :

Chang Inc

Produce | Doesn't producc
(-50,-50) | (1000,0)
(0,1000) | (0.0)

Produce
Doesn't produce

Silicon Inc

p.T.O.
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(i) would Chang Inc. prmlucc? Discuss.
]

(ii) What would happen in casc the government
i ;

in Sinoland extends
Chang Inc, in casc they enter the

production subsidy of

100 to
market? Use Brander-Spencer analysis to

discuss the samc. (6)

mﬁmaﬁmﬁ‘nﬁ:ﬁ‘fﬁmmvﬂmﬁ

(%)
qff 5@ WK B
Q,=70-10P
Q,=10P-30

(i) ¥ sreiniar @t fafa & 3@ 3 i@ 2
fae wmg W= SR WA & IE =

(ii) af T8 @ @R @ fw s T R ek
fam aoR % P =4 W qRas owE I 7=
B oY & w6 et wfidl @ s @

(ii)) 7fe 2@ amnfem wld= wdt w1/~ & why =
W T W R g 2, fowa aftome
faa & abrm 35 & oo 2, A 7w AW
B N e DR
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() 4l avre A gl @ ons sy weefay s

TEURR I TN R USRI B B TN BN £ w
Wit At Yl el en el e o} e
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wto) \

(*0 Nl be 8% Chang tae, il ade faadde 2 |
w0, g fn um teen s R aus @ faad |
B Nilioon e R yrand wg wea ¥ o aw e wan
dhetttrt wand b Ry wRaa 1ol A e @R R
ne W

Chang Ine

SR | QRIS s an

JUIETY | (S0,-50) | (1000,0)

Silicon Inc | QRGN | (0,1000) | (0.0)

(i) @ Chang lne, Senga wdm 7o) ad

(if) o foal wen W s AR W Chang e,
m 100 @) engt ald AN X e w2
Chang Tne, wrsnt & wlane ) sndl @ 7 wiee - @
s8Ny o wdln o e ey o

L IR N
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(&) A country has two industries: pharmaceuticals ang
the automobile. The outpul of pharmaceuticy)
industry (P) is produced using capital (K) and
medical personnel (M) and that of automobile
industry (A) 18 produced using capital (K) and
encineers (E). It there 1s an increase in the relative
price of automobile, what will its impact be on
income distribution among factors of production.

Explain using diagrams. (10)

(b) Discass the domestic market failure argument

awainst {ree trade. (3)

() w2 ¥ % 3O ¥ wEEfeweT 3 HCHEEH |
A 45 (P) W weer TR (K) o
fofem w=fE (M) &1 IT Fd AR S
TiAr (A) 1 A (K) 3 Afmd (E) @1 39w
ik fean T % | Gfe SiCHERS # A 1w A 39
A 2, A Femed B A & A" g & e
T GRE AN TN OBNN 7 e @ S9an @
T |

(@) emr oo & s R AoR e 99 W Tl
Eall
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6. (a) Writc a short note on expenditure changing and

(b)

(=

expenditure switching policies. Diagrammatically
illustrate as to what combination of such policies
could be pursued to get an cconomy from the zone
of discomfort of uncmployment and cxcessive
current account deficit back to simultancous

internal and external balance. (5)

How do speculators attacking currency lead to
balance of payments crisis and collapse of fixed
exchange rate regime? How far government is
responsible for such a crisis? (10)

) =@ afEdT 3R =g TedE AT w vE W [T
fod | fam em TR A v SdEEEn @ A
I s O W W 9w Jglwm &7 ¥ R
giafte R TE0 gem @ faf A o ¥ w9 &
fav 37 Afdl 2 few Wi = W R s
27

(@) T W TRA 7 ua FaT J PEA GgaT qhe

3t fear faf @ =g9en &7 9o 94 8 o @ 7
I TWE D Gae @ Ty WER fhen fer 2 7

P.T.O.

Scanned with CamScanner



(2) “1 an coanamy starts al long man equihihoig,

14

a
sormnnent change fiscal policy has no net effegy

on 1he "\“I""i'“'[ while a |l:"I'I'I.]."II.ﬂ-"I.r‘_l{ hiscal t.ll..ihrt
iors the output”™ Discuss n context ol DD AR
madel nssuming floating exchange rates Uge

gingrams (9

() Write a short note of Interest Panty
Condition. The interest rale on rupec deposit
ic TP and on dollar deposits 2%. Assuming
that the expected Rupce / dollar exchange
cate is Rs. T0/S after an year. What will be

the present rupec/dollar exchange ratc?

(i) 1{ interest raic doubles on dollar deposits
what will the new exchange rate that brings
in egquzl rcturn on both the deposits? (Assumc
expected exchange rate 1o remain at
Rs. 70 per dollar). 1llustrate with the help of
diagram. (6)

(=) “nﬁwmﬂﬁﬁmﬁmﬁgﬂ?ﬁqﬁﬂﬁ‘%aﬁ

Wﬁai‘mﬁﬁmmwmﬁiﬁ
T JR gTa R, o s v R
S ¥ W a) o R " qRadaia ffwm A
ﬁmgﬂﬂﬂ-mm%wﬁaaﬁﬂmﬂa
TR ER |
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(@) (i) @ e woen A Qo G g
I OW A 7% B3N a9,
G A A G Dl Tl | R T
/3R R e 70/8 R wdaE vy
sier fafFm = @ wal 7

(i) @R Sfer s W @@ @ AER | DA
% fftm o A A A T D s
W W Wawd o ? (o [ wefa
ffm w 70 ™A Wi e W wA R) ) I
# 7eT A WEN |

8. (a) ‘Even as the central bank sclls domestic assets to
sterilize the purchase of forecign assets, the

currency may depreciate.” Explain using a diagram.

(b) Using a DD-AA-XX diagram, compare and
contrast the effects of monctary cxpansion

(temporary and monetary) on current account.
(8,7)
) 'wwmﬁﬁmﬂm%ﬁaﬁmﬁm
a0 |le @ P e & foe W dufe
Foar 2, IR@ H I T FAAN |

(&

pP.T.O.
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o & e fAde
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o ITA T A U € e e |
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1. (a) Let the demand function 3Y = 100 = P und ¢qy
function C(y) = 2y. Contrasl the profit Muximizing,
monopolist, an output maximizing monopolist, ay
revenue maximizing monopolist, Which is the bes

description of the public sector? (N

(b) Explain the decentralization theorem in context of
welfare gains from multiple fiscnl units. How do

individuals vote by their feet? (8)

(%) 7= A WM werEr Y =100 - P 3R T W
C(y) = 2y | T aiftverent o Uy iy, Jer
Jiftrwem TR AW vEiiEnd, S g o B o B P TS
mﬂmﬁwﬁ'ﬂﬂﬂﬂmmmtmﬁmﬂﬂm
Ty IeoT Ra mE W ¢l

(@) m{ﬁﬁumﬁ%ﬁa%uﬁmmtﬁiﬁﬁﬁ
RSt i = wrEm w1 @hk| e WA W
Y WHE T B 1

2. (a)“In a competitive economy with complete
information and zero transaction costs, the
allocation of resources will be cfficient and
invariant with respect to legal rules of entitlement.”
Explain this statement given by Coase with
reference to complete information and bargaining.

(10)
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(b) What are the concerns raised by Surajit Das
regarding the goods and services tax? (5)

(3r) “wer wfyendl spfarmear A pf S i IR S
AT A W, GO T e Avgan & e o
& v N A I ImftadNg wam o s W wa
A wewa ¥ W s B 77 o e el WAt @

@ A Mo gw R T A FAT A wAY |

@) ‘e T A A D A A ghE wm gm Ier T
fRramd = € 7

(a) Discuss the determination of optimal provision of
public good and the assignment of tax shares in
the context of Lindahl — Johansen model. (8)

(b) There is a large number of commuters who decide
to use ecither their car or the train. Assume that
commuting by train takes 70 minutes whatever
the number of commulers taking the train.
Commuting time by car C(x) = 20 + 60x, where
x is the proportion of commuters taking their car,
0<x< 1. (7)

(i) What is the proportion of commuters who
will take their car if everyone is taking her
decision freely and independently so as o
minimize her own commuting time?

P.T.O.
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(ii) What is the proportion of car users that

minimizes the total commuting time?

(iti) Compare your answer of 11 with answer in
part i above. Interpret the difference. How
large is the deadweight loss from the
externality?

(3r) fasEd - SeFew Agd & wel N wdafiw @ @
TEE WEuE R & M @ Ruien wowsl wid

(@) T8 ¥wem A g A FTR TR W A I =
1 BEe wR © 1 A b & 3 wm am A whal
F 70 fime @ ¢ oR TR 9 @ s N Ao
T BN W 9l €9 C(x) = 20 + 60x ®, W X
HE ER WA 1 IETE ®, 0<x< 1)

(i) o & FEE w0 ® W A F R o o 3l
& EE A v wmEE ek ol W R o
2 A% 9 AT T W F A G TN 7

(i) ¥R I@ETHAI 1 FAE | T W KW A

WU F AT E © 7

(iii) i % I & T ii H I I N g W |
AR 6 Rl T | R D GO G| R
THae oo @ 2 7
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4. (a) How the budget setting process and corruplion

are the source of the excessive public seclor

: 8
expenditure? (8)

on

(b) Analyze the effect of earncd income tax credit
hours worked and labour force participation tor
(7)

low income individuals.

(F) =i _T gfear 3R WK 23 s ansiE

P e i R I

) mmmﬁmﬁﬁﬁwaﬁamﬂmﬁﬁ:ﬂnwﬁ

(2
%ﬂ%aﬂtmmmﬂmﬂmmmﬁﬁﬁwuﬁ't

(a) Critically examine the solution of externality when

both economic participants generate positive

(7)

production externality.

(b) Derive the equilibrium in probabilities of cvasion
and audit in the ‘tax compliance game’. (8)

(3) TR B T 3 AR R W S A
e W ST IWET e I & B

() ‘T SO @@ ¥ A AR S R W R
fafy % dge T W
P.T.O.
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6,

(a) How probability of detection and fine rate cffects
the tax cvasion decision of individuals? (10)

(b) Explain matching open-ended and matching closed-
ended intergovernmental grants. (%)

(¥) WEU @) i st it w wfes w58 5
WA W WA onfed w7

() T Fom B fEw o W smw fmw o e
TEN R & @re Fd |

7. (a) Describe the organization of multileve! Fiscal
system in India. Briefly discuss the Tax ané

Expenditure assignments and intergovernmentzl [
transfers in India. (%)

(b) Explain the concept of deadweight loss of tax ang
show the deadweight loss on both producer and
consumer in the case of product tax. 7)

(%) va ¥ Fgeiy faxi vl & e @ T s
WA ¥ W IR =0 i Ue MR EE EEST W
Y A T4 W

() P FA R THE N SEUROT Y = K
IR T H A X IS IR I TR W
WU e fam |

(2500)
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SECTION - A
All Questions are compulsory and
carry 10 marks each.

R 7y whadf & qw g T30 HE

. An cconomy with the budget components (in Crores)
specified as follows:

Tax Revenue

Gross Tax Revenue = Rs. 1919009

Corporate Tax = Rs. 571202

Wealth Tax = Rs. 63

NCCD transferred to the NCCF/NDRF = Rs. 3515
State's Share = Rs. 673006

Non-Tax Revenue = Rs. 192745

Non-Debt Receipts = Rs. 115678

Debt Receipts =Rs. 586971

Disinvestment Receipts = Rs. 100045

Dividends and Profits =Rs. 91361

Calculate the following :

(a) Revenue Receipts
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(b) Capital Receipts

(c) Total Receipts (3,3,4)
e a9 I (s ¥) ® W v@ sdaaen & A
WY

T A

T & I = Rs. 1919009

famr W = Rs. 571202

wafer & = Rs. 63

NCCD = w&r@w f&m 7 NCCF/NDRF = Rs. 3515
T & f#®n = Rs. 673006

iR-T W = Rs. 192745

iR =W WA = Rs. 115678

=0 Wit = Rs. 586971
fafam wifts = Rs. 100045

W 7@ @M = Rs. 91361

P.T.O.
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(v) 4 =
(W) =

As per the given data of Balance of Payments (USS

L

Million)

Trade Balance = (+)5147609
Invisibles (Net) = $11531)
Goods and Services Balance = (-)§74544

Income = (-)$21028

External Assistance (Net) = $1002

External Commetcial Borrowing (Net) = S11777
Short-term Credit = (-)$5044

Banking Capital (Net) = §25349

Foreign Investment (Net) = $263 %0

Other Flows = (-)$10512

(a) Calculate Current Account Balance
(b) Calculate Capital Account Balance

(c) Define the term Balance of Trade (3,14)

Scanned with CamScanner



2088 S
e e (USS fifiwr) a1 s fe T 8
R FgeT = (=) $ 147609
¥gw (&) = S 15313
o] v@ ¥@ wgeT = (=) S 74544
Ja = (-) S 23028
@ weEa (J€) = S 1032
@ @EauE SUR (J€) = S 1777
I -He @ = (-) § 5044
e § (79) = S 25449
fdt W (@) S 26386

g wa® = (-) S 10813
(%) AT F@ A A I H
(@) {a%%mwaﬂmﬁl

(¥) =R WEW T @ e #X

P.T.O.

Scanned with CamScanner



2088

0

SECTION - B
Attempt any Flve questions,
which carry 8 marks cach.

faah wta gyl wr ger 3wk w Ww o P

Explain the structure of the revenuc budget and the
capitnl budget of central government, What is the

difference between plan and non-plan expenditure?

Bt T & s ware R wee @ v
X 1| Patfm aw k-Pafm wa w A siw wm ¥ 7

What is the union budget? How the union budget is
prepared. How it is presented in the parliament.

Analyze the implementation of the government budget?

wf T T ¥ 7 o g B w87 dee A
R A e o W ¥ 7 W@ T B 9w F

R e |
Growing MSMEs not only create profits for their

promoters but also contribute to job creation and

productivity in the economy. Do you agrec with

this statement. Explain.
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. \(SMEs B I TG T T T T
ﬁaﬁmﬁmmmmaﬁﬁﬁm
mg,mm%mmmi’?ﬁﬂwﬁi

6. Give an overall view of the Indian Economy in year
of 2018 and 2019.

2018 T3 2019 B T ¥ Wi e  w fw ¥

7. What are the major steps taken by India regarding
Climate Change?

Wmﬁmimmmwmmw
g7

8. What are the current trends in inflation? Also explain

the drivers of inflation.

Wiaﬁwﬁﬁﬁmi?zﬁmﬁ%mﬁmﬁ
R W

9. Explain the following :

(a) Which countries are the major trade partners of
India? What do you understand by Trade
facilitation?

P.T.O.
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(1) Lixplain the role of the FRBM (Fiseal Responsibility
and Dudgot Management) Act, 2003,

Pt w MAwT W

(3r) T w X R W I @R AR ¥ 7w

W Qe A I wn we ¥ 7

() FRBM (R Sereilder vd aoc Wauer) &, 2003
W i w R W

10. Explain the main highlights of thc Budget for 2019-
2020.

2019-2020 & U Toe @ T@ R & R
|

11. What do you understand by the term SDGs and explain

India’s progress towards the SDGs?

SDGs Y& ¥ Y o1 @ 8 9 SDGs & TWF MWE
T Wit & AT =X
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SECTION - ¢

Attempt any One question, which carries IS5 marks,

R @6 w1 w1 Ieie 2 ) s Y wr By

12. Sustainable dey

clopment requires cvery nation to
prioritize

their targets and carefully implement various

schemes or programs in accordance with local

challenges, capacities and available r

csources. Explain
this statement.

mﬁm%mhm'hﬂ?tm%mﬁmﬂﬁm
mmﬁwtﬁﬁﬁ,mmmw&wﬁ&m"

ﬁﬁqﬁmmmﬁﬁmﬁﬁmmmﬁﬁm
T W wET W R ay

13. Although India as a whole will enjoy the “Demographic
Dividends” phase, some states will start transitioning
1o an ageing society by 2030s. Qur Policy makers
nced to prepare themselves for ageing. Explain it in
detail.

Tof vRa T TN Caen w mmmfe
mj@mznauwﬂﬂﬁm“}“"“”wg
w1 o AR P By %m,mm

2 ot s ¥ 1 R A R
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LA i'
e o H

14, The Vounteenth Finznes

=
=
o
N
*
“L
L
&l
[
(h
W"
wh
.

the terme of relerence znd 1

' fasiryeme cyeleaie & werr .
previous finznce commistiuns. Erplzin it Wihat 4o

the Terme of Peference thet shzll oz tzieesn oo,

while making the recommendations?

Gorf 1 Zam fiwa P wEm % g T A 7
w5z wARa v w18 A w | B R T
7 F3 vzvh fra wam zm fren 3 Em AT 7
fzm 7 |

(2500)
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Roll N,
\
NN AU Py ¢ 2871
Ulnages Py Qe B EEANLL JC
Name 000N Papser » o Financial Feonomibes

Name ol e Ot  RALN) Economles—CNRCS-SEC

N o 11

Draration : ) Houry Maximum Marks: 75

(S vowr Rall N o the by imemediatel: on recelpt of this question paper.)
Noxe 2= Answers may be wrilten cither in English or in Hindi;
but the same medium should be used throughout the
paper.
Rooft 3w v W W et W 5= et @
¥ difwg AfF wft swi = owem @ e
Elligd
Attempt all five questions,
sclecting rwo parts from cach question.
Use of scientific cnl:uluic:r is allowed,
W& W A O W T E
it e W ® Iwm e
A e w1 WM "= ¥

P.T.O.
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(@ () Explain the concept of equivalent streams. Consider
the following cash flow streams A = (-100, 3g

30, 30) and B = (~150, 42, 42, 42) where the periods

are in years and interest rate is $% per annum,

Comment on the equivalence of the cash flow

streams,

(i) Explain inverted yield curve, 542%

(®) () Numerically explain how price sensitivity is related

to duration ?

(i) Using the formula for Macaulay Duration show that,

mL A+

\hhcreyisﬁcldpcrpcﬁod,mispcﬁodspﬂyw
and n is number of periods remaining, 34
() What is immunization ? What are the procedures o

immunize any portfolio 7 3%
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(31) () TTEA UAW (Streams) B sAMITM 761 749
wifo | frefafon wwe wam e (Sireams)
A = (=100, 30, 30, 30) 30T 13 = (150, 42, 42, 42)
W forem wMom oml smft ad o & am =
H T s% wfa ad &1 TR vEw w A
 feomoit wifeg
(i) JEaf@ ITA qAF B TN R
() () HE™E w9 H =en sy F wma #w5
Aie, safy | 43 wafam ¥ 2
iy el F g w1 IEm wa g feng
.ﬁﬁiflé1qummgqi$%'$1hq}mnﬁ |
w1 # ufafda fem o wewa ¥

D=1+yb_ 1 ]

my | (1+p)
vl y wfa srafy 39, m wia T swEfird @

n 9 eEfyd @t wem ¥
(@) fiwen 7 & 7 Feeh PR B wRRfw w0
% fau #F-dt wiFn # @ w1 wFa ¥ 2

P.TO.
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2 (@) () Explain the concept of yield to maturity,

(i) Suppose a company A. issues a Rs. 100 face valye,
five-year zero-coupon bond. The initial price is set
at Rs. 50.83. What is the yield to maturity using
semi-annual compounding 7 2Y4+5

® @ “"Tmisspotr:IIc?Aﬂ'nt-}‘mrﬂs. 1,000 par value
bond pays 9% Coupon rate. The spot rate for

year | is 6%, the 2-year spot rate is 12% and the

year 3 spot rate is 13%. Determine the price of the

bond.

(i) Numerically explain Annual Percentage Rate (APR)

of investment. How 15 it different from nominal

interest rate ? 41443

() You manage a pension fund that wil] provide retired

workers with lifetime annuities. Yoy determine that the

Pay-outs of the fund are (approximately) level perpetuities
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of R, | million per yenr, The hlsesel fuls 15 [ird s
ok, You plan to flly fund the oldigation il &y

maturlity and 20-year mnlotlly copon litids,

(0" Mow much mnrkel vilie of encl of s zoee eenigeny
bonds will be necessmy to fund the plan If e

desire an Immunized posttion 7

(10 Whnt would be the face value of the two e
coupon bonds to fund the plan 7 4%V
(%) (n ity ) 3w wY s o fagry
Hifor
(n W R GF wE A, 100 TR sfrn g
A g Aad Y= ww Atz ol wwm f
I wma w s083 T W fafrm fan
v ¥ :mi—ﬂﬁﬁ THAfE w1 I FQ
¥ I H 9igwEw F ok ?

P.TO.

.
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( 6 ) 271

(%) vz mtamh 7 wn A w7y
e W s W T I T R
al A Sy oflz w1 o, A o o
T 12% n WA A % A Tz g, 3
4= w1 wpm fdifra #ifam)
(i WW’?WWW 7 =T
(APR) R Zme2n #ifam) 7% 790w =2 =
UMt
(H}mwﬁwﬂmuﬁﬁdﬁaaﬂﬁirﬁ:%mﬁqﬂ
fvif #w@ € & om0 =1 ymm 7. | fafas
wfa ai & fRm ¥R (amm) W 3w =
T 10% 9fa a9 ¥ 39 5 =9 gfegwa @ 20
Hﬁqﬁmﬁz@qaﬁgmmﬁmmm
SIEY T B QI T F YR = w1 ae
T
() TR T F HFTER A 5 FY & el
&F 6T y=-aw At 5 sEwed
it o M uw sfinfem feafy wwy ¥ 2
(i) A F g F fag & - At #
S g frem dm 2

____-J
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3. (a) () Show how property of ‘non-satiation’ leads to
efficient frontier being the upper portion of the

minimum variance sel.
(I Describe the two properties of feasible region. 5+2%
(b) () - Consider three 30-ycar bonds with annual coupon
payments. One bond has a 10% coupon rate, onc
has a 5% coupon rate, and onc has a 3% coupon
rate. If the yield to maturity of each bond is 5%,
what is the price of cach bond per Rs.100 face
value 2 Which bond trades at a premium, which
trades at a discount, and which trades at par ?
(if) ‘““There is a considerable debate on the mn_ﬂ
appmﬁriatc criteria between IRR and NPV for
investment evaluation.” Comment. 443

P.T.O.
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—

Sppose 3 IVEe mvesss Re 10,0000 N
= two ecorreieed wocks A =l B The promaaa
dardvtion of retarms 00 2O A 2l B iy g

2t fallowmsy

Suteof | Protubdity | ReturmcaA | Retzrmacag
the Ecomoemy
Ot s ha s @,
Moderzz 03 LN =,
Pessmistic 02 -S% 1

(&)

Calculae the expected retumn on the pontiolio and

poctiolio standard deviation. -~

Tai

Consider securities X and Y with the following
cstimates : ‘
B =5%  E(ry)=15%

Oy = 10% Oy = 25%

If the portfolio comprises of 40% investment in
secunty X and 60% investment in seeunty Y, and
ﬁucomluimbcmmﬂrmmmmxmi\'is

=025, what is the portfolio’s expectad retumn and

-
risk ? 1+1%
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(31) m&'%ﬁ*{-ﬁﬁvﬁw
H I T TR Y I N 8
F WyS S & 2
(i) WWET S (Feasitle) ¥t I ROVES ®
fad= witwa
() () TMHF FTWT YA $ T8 TS 0T W
R fFER Sifed) TEE a F®OENE W W0,
T F 5% AW AR W30 T IR T®E
Al & IRTEEE W I s ¥ Wk W
JifFd EE P TEE AT W OWE W
¥ 2 FF-w A Wi W, WR-EGE W
a0 FA-W R | -2 wan b2
in ' Faw e @ e kR T NPV W W9
mmmmﬁmwﬁufwﬂ:“
feaqot wifeA |

1O
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Nl

() @ e fw e frRa D sl s

aar i i e w1t 10,00,000 0 B

&1 wrn A o v ufener ma o wife

(e (v g of (ke e %

swlerar | dwmw | AW W

W wftrser wftrre
ST 03 28% ISt
Iﬁﬁm 0) 5% 25%
frorameors 02 -$% 18%

W v srpnfm wfirre wm ddwifea

v foreem W) o Wi

(n P smwem W wm wingf x e v oag fam
wifo

E(ry) = 5%

ay = 10%

E(ry) = 15%

Oy = 25%

I qRwferd wfnfa x # a0 Frwm aw
- wfgfa v | go% Fram w1 wfae w g,
aw X IR v vfaww @ e wewEn -02s
¢ @ IRl w1 s wfrwe wm S
ot 2

—

—#
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(6) You are considering how 10 invest part of your retirement
 savings. You have decidad to put Re. 2.00,000 into three

ctocks 1 S0%: of the money in GoldFinger (currently

Rs. 25share), 257 of the money in Moaschead (currently

Rs. SQ'share), and the remainder in Venture Associates

(currently Rs. 2/share). If GoldFinger stock goes up 10

Re_ 30'share, Moasehead stock drops 10 Rs. 60'share, and

Venmure Associates stock rises to Rs J/share,

() What is the new value of the portfolio ?

(i) What retum did the portfolio eam ?

(iii) 1f you don't buy or sell shares after the price

change, what are your new portfolio weights 7

pJET AT T

(3) The inclusion of a finite line seament jOining the risk-tiee

asset and the old ‘bullet shaped region® creates A new
feasible region. Explain how ? ™

DT
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In the CAPM eguation, what is meant by 8 for a
security ? Explain the extreme cases when :

m B=0

(0 B<o. V2Vt 2V
5 faeR W R T 5 oAt Farfga 7= 71 fe=w

== FETEE ? o939 =S H 2.00,000 F. @R

=1 s foar € eS| 3 1 50% (T |

25 T Wid T, TIES | TR H125% (S H 80 T

Tid OER) TWM S S GEneee H (FaaR H 2 % Wi

W) | TR SRR TFHT 30 T WA T4, RS

HIFA 60 T- Wid TR 91 T SHHE wie a5

IR NAURAACG el

(@ VERIGE W T e TR ?

(@) WERhadt W fFan wiawa sfsa wom 2

(@) IRX JY FET NG D IR IR @A
T A T TR IS U IR MR

R ?
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( 13) 21

(3) T e T femm, s Sfas-ma v oo
0T ‘g FER &' w A 8, 9 o o
e &3 91 o= =@ &1 25 7

(F) capm wFm & fog, @& shaga 3 g g =
Fd w2 Nﬁn—._wﬂma 1 = Fi9g =49 :
S.mua
(i) B<o.

(a) mggﬁqunﬂrrﬁﬂngagonu&rﬂ&
a volatility of 50%, while Coca-Cola's has an expected
return of 6% and volatility of 25%. If these two stocks
were perfectly negatively correlated (e, their comrelation

. eﬁﬂanmg_w:;
() Calculate the portfolio weights that remove all risk.
(i0) If there are no arbitrage opportunitics, what is the
risk-free rate of interest in this economy ? $+2%

PTO
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(N Detdve the expression for the pricing form of CAPM.
Eagrlatn how this fomula resembles a fixed income security
like zero-coupon bond. T4

(¢)  Using the CAPM, derive an expression for how the
expected mte of retum of an indit:idual asset relates to
its individual risk, T4

() W 6 RE W R 26% F wIEFE wfawa
T 50% B fewen W ¢ & F FE-Fen w5
RIF 6% F I IRws aw 25% @ e
@ b o 2 2 e ;T e

%(mmﬂum-l 3 @

(O Wi fiw e s SR S
w fra i

(ii) ﬂﬁﬂﬁmwwﬁiﬁ;mm
ﬁﬁh‘q—‘(ﬁ'ﬂmﬂﬁ‘qwt)
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() CcAPM B T wu @ fog o & i
| frdem &t fF 99 IT q@, @ v
s Sy A - At St e E

(%) Cﬁpmmmﬂmmm.ﬂifﬁ?ﬁﬂ’ff"lﬁf*

23 =i e @ R w S
@ =fFTw Sfgn A wErtE R

15 1,800

e — T
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This question paper contains 16 printed pages]

\ Z ) Roll No.

S, No. of Question Paper : 2672
Unique Paper Code : 12273302 JC
Name of the Paper . Research Methodology

Name of the Course :  B.A. (Hons.) Economics—CBCS : SEC

Semesler |||

Duration : 3 Hours ' " Maximum Marks : 75

(Write your Roll No, on the top immediately on receipt of this question paper.)
Note :— Answcrsl may be written either in English or in Hindi;
but the same medium should be used throughout the
_ paper.
feuut —eq w-99 W IW S A et fed ww
T g afF ot sl =1 mem @ €@ e
iy
The question paper cunsisﬁ of 7 questions.
Each quéalinn carries 15 marks.l
"+ Question ‘No. 1 is‘compulsory.
Answer any 4 questions from 2-7.

Attempt 5 questions in all.

" '_ P-T- 0-
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™ TEEN 3§ | e '@ owen

T=F W 15 3% W ¥
TE . 1 aFEr

THEOF 2-7 3 X 9 4 v @ 3w

[ 5 TEE w OIW Gfem)

L Amempt any three parts 3Ix5=15

(=)

A reszarcher wishes to conduct research to study the

mmpact of incentives on the performance of employees

In an organization :

@

(i)

(iir)

She chooses ‘bcf;:sr:-nnd-aﬂcr‘ study design. How
is the impact of incentives (programme intervention)
calculated ? Explain using equation.

She then chooses the 'control group design'. Show,
using :qu;liuns. as to hmj.- the impact of
intervention can be calculated in case of control
group design.

Discuss how the ‘control group design’ is an

improvement over ‘before-and-after’ study design.
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TF MU OF § ¥ i @ wevn W
YITEET B UM FT YN SeTmR wO
?ITEHT'%:

() FE "TEA-TE-AR" HEH WES It ¢
WIEET & IWE (FANY & W) T 7o
R F W 2 wHEm @ swEm zm
@

(i) a® I “'FrEw wgE wew'' g ¥
mﬁmmmﬁgmﬁ%ﬁ
PR oqE wew S fefr ¥ wadw @
UNE H T H oS

@iy fed=sm w f& I 'fraww wx
ey ' TE-TE-aR WEY @ SR T
FUR ¥ *

() Choose the correct option from among the

choices mentioned in the parentheses. Also justify your

answer |

() Validity judged by how well an instrument

compares with a second .assessment, (Concurrent

~ validity or Predictive validity)
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(@ Do ye R omoaod cofee T (Tandimg queston
or Docbletarmeled quescuen)
() Age of the reypoodens I ostndy puguiasuen,

(Actve variable or ATiurs varabie)

(&) To Bave compless Seedom & 2eems of sooooies

Unsooenrad imeenview)

(v) Obsening 3 ooy without imterferioy & S oorml
activities. (Namral obsemvation or Coomoelled

obsenvanoen)

-5y

ST § ofee T ® W 3 S T8 S
TECl ST SW W TENed W OShET e
0 &ummﬁhmﬁ‘cﬁﬁ‘qﬁ'w
%mﬁ-ﬁ%maﬂ%%gm =
t (v dwm ow sem S
OIESES SRS T R R R T

(I v\ [ fEdm-sie )|

‘ I
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ain wm e # wfeErd ® I (<=
CRRW IEEY W)

() ", wE @ fawe-awg, W= @ IO
oy B FR oh w9 A w @
A1 (TRFA WA 1 STefaa HEwhi)

O WwﬁMWmﬁﬁﬁﬁmm

fpu fen @ (TEfoE  EEEA A
 frafia  srache)

A questionnaire sceks to collect information related to

various aspects of a departmental store. It comprises

the following statements :

Statement 1 : Price of Iproducts is reasonable.

Statement 2 : Staff is polite.

Statement 3 : Display of various products is good.

Statement 4 : The store duc;.sn't- have a large variety
of products.

Each statement has five possible responses: strongly
P.T.O.
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wicerinin, disagree and strongly disagree.

i, e,

[he rospones (o The statements by two individuals,

X and Y, are glven below

' Individunl X Individual Y
Statement no,
{2134 I 213 (4
Strongly agree v Y
Agree v v
Uncertain Y )
Disagree v
Strongly disagree | ¥ V-
Calculate the attitudinal scale using [:ikcn scale and find

out which individual has a ‘more’ positive attitude

towards the departmental store.
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( 1) iy
e o e e fi ymeqalf @ dulid
e s el ane g figgonn e
N g 4wl o olmfta e § o
U L (eqaing §1
w2 ¢ b e B
wort ¢ (i mam wn wedds st B
W4 W OW W W W R

. i €

v we & ula wwkm ww § o ogg A
T, o, SR, s s gga
aeHdal
i’lwﬁaxamv'ﬁmmﬁﬁn‘mﬂﬁf{q
T ¥

. =i X =R ¥

HYT HWE&AT
112|314 ] 21 3] 4

M ¥ e V|
Head - \ N
A=A N
ITHEHd - J
35 e 11 J

P.TO.
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fa?l!-n'é =@a & I T B sfvfes (attitudina,

.-Fﬁﬂuﬁmaﬁﬁmmﬂﬂﬁfmwﬁwmmﬁﬁ

favri SR F W | S TEEE Wt ey
(4

(d  Which mcasurement scale would you use for cach of

the following variables ? Justify your answer @

() Location of the house : Facing the park/Not facing
the park

(i) Temperature in Fahrenheit

(iif) Weight of adult women : Less thal;l 45 kg,
45-60 kg, Above 60 kg

() Gender : male/female

(v) Height in cm.

Freffan ¥9% W % fay ome SR A

e I FHA ? A9y IW F AEE

HIE - |

s e i P Sl =l -

Scanned with CamScanner



(e

( 9 ) | 2672
() W W UE R G qEeE
(i) TR : FREEEE 1

(i) IO |igen w1 a9F : 45 Framm A F:H,

45-60 Tretmma, 60 e & TW
) fam : qeuafeen

) SuE : e d)

‘In order to obtain an estimate of mean height of

teenageré in City A, a r#carcher X sclects randomly
a sample of size 2000. To obtain an estimate of mean
height of teenagers in City B, another rescarcher Y
selects a random sample of size 500. You are gi;.'en that -
the populations of the two citics are same and that
there is a greater variation in heights of teenagers in
City B as clnrnpared to city A. Compare the inferences
drawn from the two samples on the basis of le;:hniquc

of sampling used, size of the sample and extent of

variation in the study. population.

DTN
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( 10 ) pliyp)
e A H R w SfEd FEE W I
O & fog, TF WuEA X ARfEA w3
ST 2000 H T, F I F@A ¥l TR p
T frydl +t ofm 3OR & ITEA W w5y
% fou, @ =g vivEdl Y R 500 % anfes
TR OE I Fa ¢ e fem S
fe < el = o wEm ¥ S oW A
F g H W B A fRERI w1 SEmE f

-ﬁwfﬂmﬁimﬁqw?@ﬁ

THAh, T & AR IR AT =Rl H
= = 1 & omr W D TR A E@.
T FIEA W gEEn Fif

Define research. Discuﬁs the classification of research -

from perspective of objectives of the stu;ly.

Why is there a need for ‘editing' the data collected ?
Briefly discuss how is editing donec in case of

quantitative studies,

Briefly describe any nvo ways in which literature review

contributes to the rescarch process. How is a literature

review difﬁ:rent from a summary of the literature ? 5+5+5
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( 1) nem

(F) M N sfonfrg w3fm, AT B T B
R R W D i w1 forr @i

() wmeh foe ¥u 2 9w # s
¥ ? U s w feafy 6 AR
TR f&m s & 2 wdw # favemm #i1fm)

(M /Y ¥ = [ @ w1 oavig
R wfta-wia s@um wiem 3§ dmem
it mﬁﬂ—ﬁ%ﬁf&ﬂ%ﬂmﬁ Sy
Wt 2

(@) What do you understand by ‘ethical behavior® ? Discuss

the practices of the sponsoring organization of a

research ‘study that can be considered as uncthical.

(5)  Explain the classification of study designs in quantitative
research based on the reference period of the study.

Also give one example for each category.

(¢) Differentiate between Quantitative and Qualitative

approaches to research. (Any five points). = 5+5+5

P.T.O.
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Wre v owo advezess :od feo Ssedvamess of

2 quesirmaie. Give ome case where you will prefer

Descrite brisfly the ceps mwvolved & formulanion of 2
TeseaTh problem. S4545

g __:_ - -
SAERS T4 S T qdi9 3Gl = :=Edl

O — Sl ey 1Y o~
(9T TSY T SETS AN T T

T 1 T qiaa =49l Sl 9=al % ?

-

e STaEcl = IQ'FE_i T:{.LT "1-—: agr i‘f E-Tﬁﬁ':ﬁ

-

Fi W TSR W Sga i)

= TN T % e 3 whihn weS
1 988 ¥ faaws s

Describe the following study designs -

(1) 1F0cu5 group Interviews

(i) The matched control experimenal design.
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_(b) - Discuss how the following graphs can be used to

_present the findings of the research study :
(d The Arca Chart
(i) The Stacked Bar Chart..

(¢) How is research writing different from other writings ?

List any four systems of writing a bibliography. 5+5+3
(%) Frefafan s wedl w1 faaea &g

() HIEH WYL TR

(i) A FrEEw wEhTtE wEd )

(@) fad=q wifa f& Ty s & Fresd wegd
w4 @ foy freffan T @ ST D
e w1 WHE@ ¥ :

(H & =R
() WFHE aR WRI |

(1) #2 < G o ded A Bk 2w
Tig-e de F R R W e
Hifed |

P.T.O.
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( 16 ) | AN
7. Write short notes on cach of the following : S+54
(@) The cight-step model of the research process

(b)) Extemal and intemnal consistency procedures

(c) Types of h}'pﬂlhESES; )

frofafan § ¥ O W uwa G fofo . |

(%) Yy wfFEm w1 3E-yg Alsd
(@) 9§00 TE W& IEITHE  UGaEl
(M) 9iEFET ® WER|

%R 16 . 1,800

Scanned with CamScanner



1.1 I.

[Thin questlon papo contatinn 11 printed |muun|

Your Roll No, | sonnnannpnanennnnpnnifis

81, No, of Q."'apor | ARG JO

Unique Paper Code P 12A7H 101 - O

Name of the Courae L QI Tor (Honw,) |
Koonomios CHOH

Name of the Papor 1 Intraduatory
Microsconomion

Sementor v /10

Tme : 3 Hours Maximum Marks : 7H

Instructions for Candidaton }

qOenffat & R Mda

() Write your KRoll No, on the top Immedintely
on receipt of this quenstion paper.
Q1 WU e B YR e v s
Qe ey e

(b) Answer may be written either in English
or in Hindl; but the same medinm should
be used throughout the paper,

LU EY UK BU IR ool w Y Bl w
st 31 IR, QEET vl SO U @ winr o
B s

P.T.0.

e ——————— e e
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(c) Question No. 1 is compuliscTs-

s 1 == =

P s, ot
(d) Attemptany four guesfcascuici TS —
No.2to 7.
A T 2 S5 7 = === S =3 = =¥+
Z
1. Attempt any five pars: S3I=Io

(1) Why is the producton possibility curve
concave to the origin ?

(i) If the government permanenty increzsss tha
price of cigarettes, will the policy have g
larger effect on smoking within ona vear from

~-n Ak Wil

now or five years from now ?

IR AR e @1 i & o =

@ﬂ%,ﬁﬁﬁﬁ@ﬁﬂm&?%w
TEFH X HH TWA T T F gfee o

2y

2

e —— — = wm_aa e -
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(1) What determines how the burden of a tax is
dh‘id;}d between buyer and sellers @
B et Rdwalt D s areire B P
T, T o Pl wwe kP

(Iv) Do total revenue and price of a good affect
cach other ? What factors influence the
Nl:ltiunsilip between total revenue and price ?
TG T AT ST W gL W WS
FW ¥ PG TR T A D W Wt
Fr- /e s aRa R 2

{v) Why does marginal rate of substitution

diminish along an indifference curve ?

SRRITT W AT X SURIEAT WE SHES 0
w5 &Gl @ omh § ?
(vi) Whatare the causes for the emengenee of manopoly ?

@Wﬁ‘:mm:ﬁmﬁwt?

3 P.T\O.
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2. (i) The market for ice-cream con

c h.'ElS the
following demand and supply schedules :

ST & Feng ¥ wiTT ar qff sTggEl
Preiffenr ® - 2x2=4

Price ()

S (3

4 5 G 7 |8 9

q)

Quantity Demanded | 135 | 104 | 81 68 | 53 39

S ) A

Quantity Supplied |26 | 53 | 81 98 | 110| 121
‘ . .

oftf @t T A

(a) What would happen if the actual price
in this market were above the
equilibrium price ? Show
diagrammaﬁcé]ly.

T BT AR W SO X aratas Fe
T I W SR @ ? o @ werE
& e HE |

i
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(b) What weould Heagrgrtn if trie Hetiah Lees
in this market were beleor tee ery A
prige 7 Shew dingearnnaticaniy.

L L 4 reoertrrs, At
thgerst yry A iy ar 7
@ w1l |

R Bk

'._-d---.#H-i"

(ii) Does a floor price fized by the goreiis

(iii) How do deadweight loss d“d tZX TEVED

always change the market cuteszae 7 27, AR
-

using suitable diagrams. ~
T IR B Fdf mn s T
AT & afters w1 e 2 ?‘?*{ﬁf"“""'z{J
1 [oTm - W ArwEr w

eTInS
vary with a size of

Diagrammatically.

Drug'interdictinn or drug education, which
policy helps to reduce both drug use and drizg
related crimes ? Explain using suitatle
diagrams. 6
g1 Afdeasy sger gl wE-tl Sie &9

- IUET qGT F GEdd STRrdl @ o ®IA =
AT BI & ?_aﬁ'a??:ﬁm ANET Sl

S P.T.O.

-
T B R ——
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(ii) Why did OPEC fail to keep b pacs

- A -

the long run ? Explain with e :

e Yon ¢ 333 rray 1V i

suitable diagnuns, 2 ad
ORE dnferw g e Sea WEE W

——— S o J— T
TH o7 2 iR P oy [T R0

Py - BTaIN
(iii) A market is deserd e following
demand and supply equations

4

ra
L
rr

e
P
o

4
Fr=iae siv ma g @it A W 31
=1 Remr o R :
Qd = 2p
Qs=300-pP
If government impaoses tax of T 10 Per unit
on the buyer, then find out the price paid by
, buyver and received by seller after tax., )
TR TART AW STLIOY
& = %,..q”..%“.af fiaci etk
VW R AT SR WA W Y
T arrsr &t ot s oy g

4. (i) How do interest ra i
. s tes  aff
Wohmmﬂmm:oz- saving ﬂﬂo?wﬂ.un“.mnon.n”h
vidual at pres in using suitak
sty present ? muﬁrpﬁzwnﬁmzzﬁﬁa
L
=AY adEe 3 Rl Ry SRy
BIL EE RS = R s L EH IR T B o
STIH RGT F ST Ry §C SR my,

6

o —

— —

——

Scanned with CamScanner



“n

(M) Draw the indiiigionge vinag i

({

)

SRILR

Wl '.l.n,-t.nlll'l

W \\\Hlt

i
: ' i bt bl TR
and e, it p.r,:.mh'.\'- Lk LA B A e

TOTTRITR TR

\ll.*.»'.'i\liui.: By Lo ety b Ll

W :\;‘HS h\"l\'&-‘n_ Ay \I\L‘fk,l 'q.:I.,H W l”

BN OB i st e l

‘.

Rt SR TR U SR LT N il s

. _ _ ond

huhl Q“i‘} “”Q} '{-'.'{R\‘l fi "'\}“i d"\’tt“ﬂ\“ b '{ﬂl;t.lll

QU s e 8 I il E "l“'l*,\‘n |

WS R L B 8 W LGRS AR AL Al bt A
WA A w |

My, N epertes & unit whiete Cetnpaleia e
ﬁssv:ztblml. Rix Average wal vost sy bl
is given below {
Tt L LU AU LI st

Sore S B 1 i ot R i wigg e

ey T < —

total cast (1)

Quantity of - Avorage
Computers
FuEs R Rl el m*:_nﬂ___{? ,
— 0 ' IR ERAN
01 = 18010y

MNTO,

|
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1
After he sells all the 200 compute™s
assembled by him, he gets a custo=eT w50
wants to buy a computer and is wiling

pay < 16000 for it. Should Mr. X assemble
one more computer to sell to this customer?

Give reasons for your answer.

-
—

ENES I 5%z [0 7T T4 200 T &59 ©
T, T T ST i & o O e SO
BT & T THS [T &% 16000 % = e
FH B @RS T RN T T eSS
IoH % e o oIk Fger fow s e ?

, 9T ST & o 78 )

(ii) How does a firm's "U” shaped average total
cost curve show the cfficient scale of output ?
Explain using a diagram. =
el & & "UT @ STER T Sien oW o%
IS D JITG 991 Il 59 561 Bama & 2

(iii) A profit maximizing firm in a competitive
‘market is currently producing 100 units of

output. It has average revenue of ¥ 10,
average total cost of ¥ 8 , and fixed cost of

< 200.
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(i)

(i1)

20500

ol morre i wra i e A i
T T g 100 gangedl w0 seser el

OB oftaa owm 10, afad GE

W 8 X ar R e 2008 F

(@) What is its profits ? 2
ST @y A P

(b) What is its marginal cost 7
g i @ A P

(c) What is its average variable cost ? 2
sy i aferdsia @ @4 (e

xplain

With the help of a suitable dingram ¢

the shut down point for & competitive firm.
‘ 4

o Sg S T A gfrarft o &
Rro gwre g4 BT @ 6y (AT fefg) aot
e 1 | |

Explain the derivation of long run supply

curve of a cumpclil.ive firm. 5

gfrarl & & mtﬂim_qﬁqﬂﬁm%w
B & e H1]| |

9 P.T.O.
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(D v thine hat quantiny UL

holil hj.' ARLUTIIT T il
P ont by |

I"'I"I il
oW e Bai i hl"'p'

(!

" b iy vonext shiow the dead
Wi

el lonn Viviley PORwOROly, kg sviltalyle
Mg,

N
RGO RV TR A EATY Wl g aeplan

AR AN o) el e U T PR TRy TR
WA NN N D g et it ST -wum; ALl
W e b afada ailaine NN
wldl |

T (1) Now doen nn Intdgration of worlern affect
lalture demand | the marginal product of the
lnl.hn'.u' i the equilibiium wage ? Show
dinprammatically, 0

ML s Qmias s o nly, s B Wil
S dgert ot g s senfaa
My &P oder e wala

(1) What may couse o shift in the supply curve

of labour ? O
Y - o & oo wor A ougfd wm
WOUIET W TR ¥ P

10
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(i) n_':Hr:ri he hovw a competitive profit maximizing
lirm decides how many workers to hire ? 4
At g ofmndf wrq afmesm ST aE

Wl gD faoty e b fe e gt @ FEE
L n o

e 7 T 11 S 500
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S 3o oaQ Py = ITTX = S

Ty Ty, T, T

oo e Onde = 22N

R ol T Lomse =S Ins Eams
Tonnamiss - ORCS

Indme Tormneny 1

21
]
|

|

S
g el e ¥ Mot TS

2} Wt oo Nl No o the 100 immedhiately

o reoe=nt of s QUesSom naDeIT,

) ™~ -
—_——— S SN T =X é'\n‘. --.zf..---uI SR

{ﬁ

-

- - : "
LI R s |

i-:‘I-E :_—.{-—u.- '—"t}‘ ‘L._\'..." ﬁ-__il:-:f:: ‘-'.'i:h-.": i-q mli‘h
T W, Wi, B h:“—lr -

T T e AT e s smem s ——— T v ﬂ.‘.::"* vl
o= a0 . - aiiaqng

- - -
-F - S —— -—.--.-I.iq,lu-h -H‘ - -
— iy o — l—.E_-ﬂ—l. [ — ?:—'—?ﬁ*-\.
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(c) Attempt any five questions out of eight
questions. ‘

T oS N T A R 9 SR B Swid S|

(d) All questions carry equal marks.
qW Ul B 3 99 ¢ |

1. Describe the state of India's Economy at
Independence. Critically evaluate the Nehru-
Mahalnobis model of Development in terms of
the various challenges faced by policy-makers
at time inception of planning in India ? (6,9)
wWaEar #H qI-HEr 93 9Rag ofeaw ™t & o r
g9 o ? oniees e & oW # Sifa-Fmiarst
I R e gt geersti &1 arar Bar S5
g=H 7 JeE-HeeHied ke died & STae-eis
i I |

2. Critically review India's growth experience in

the post-independence period, with special

emphasis on domestic savings and capital
formation. How can revival of Public Savings
and Public Investment improve the overall rate

of growth and development in the economy ?
(7.5, 7.5)
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relupment ezperience. How have
erala und Tarml Nadu manaped

ter nutritinnal, health, and
sducatinnal outeomes compared to other stales
: T r

=
:'11-

and what policy-lessont can be lewrnt f1om
their expenience ? (5,5,5

s % fTmm % g o pifra sroqureen N
- - s 2l - At ppard &
o= == ST | w5 T A sy, wen v A

AR K (L

1wre =t «4-i, fﬂ.l'.*h o oImnvn =
= -

A7 o fmE B o 7E AuE A “nim-faeiem
% o == wew TR 7 T P

‘Despite impressive Economic growth, the
progress in advancing general health stulus
hae been slow and uneven in India’ Critically
evaluate the given statement, elaborating the
various forms of ineguality prevalent in
provisioning 1o health-care in India. 15

- - " - '
=T T ZTyn A HWe Wl T IEE TG,
= 2 =TS :1'-1'.'.:'-1:':' Z J\IaE A9 & =4

- - .-
SIS, A @l AiTiTEnITe e =T

Al

‘ticzlly evaluate India’s policy-experience of

Cni
dealing with rampant illiteracy and poor
s cztivnal attainment rates. SUBEEST suitable

to improve the structurc of school
~ in the country, 1o ensurc a more
cess to education for all. (7,8)

3 P.T.O.

d
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T R et Rrer-mifar w1 4 FaEs G
sy Frerar @ [ et S |

R @ SNRY-Or @ e Jer o
SRRl E?wﬂﬁxﬂ qga YRR\ TG
Ria wRer 3 wgelt R @ I @ guret @

IUYART I P |

Explain how discriminatory access to education

and a slow rate of diversification in

employment opportunities pushed women oul

of the labour-force. Explain the continuing

challenges to a modern labour market. 6.9)
!

Yg-wrg quf Rrer sruE aur IR B Sl &
el iy @ RARNwer 7 g gwre wfterst @
S-ger O 9T Uehen 8, et ;e o
s gt @ Fmfer # BT e grieh

It 9 arEEr Sk

Examine briefly India's demographic transition.
How is urbanization an integral component of
demographic transition ? (9,0)
AR 7 i aRacd = wr e aderer i
qredleper sk ARt @1 uwmer gew fsa
TR ¢ |

Make a comparative analysis of China and

India's success stories. Why is China's
economic growth story a puzzle ? (10,5)

URA a4 T @B OGRS w geronh
Raer RIS ) onfle ok A aorR o

W q¥ch w1 ¥ ?
4 5000
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[This question paper contains 8 printed pages]

I

vour Roll No. S veeesnssesssases

sl. No. of Q. Paper : 2778 JC

Unique Paper Code . 12275303

. GE for Hons.

Name of the Course
Economics - CBCS

Name of the Papcr- . Money and Banking

: 111

Semester
Maximum Marks : 75

Time : 3 Hours

Instructions for Candidates:

it @ R FEAO: ‘ |
(a) Write your Roll No. on the top immediately
on receipt of this question paper:

mnﬁ-ﬁ%waﬁmgﬁaﬁétmm
et waT R | _
(b) Answer may be written either in English -
or in Hindi; but the same medium should
be used throughout the paper.
-5 WL sish ar R el ©
ey & T, A e oex T g A i

a9 =nfea
P.T.O.

__—_
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(c) Attemptnny flve quentiont,
fard! er wel o ooy AL
() All questionn carry counl murks,
aft ugil @ sl e U

1. (a) Assuming other things remaining constant,
determine the impact of cach of the
following events on the moncy supply :

7
o A @A aEm oum, uE w9 a9
Crefofe oE % 9 A

(i) The central bank lowers the required
reserve ratio.

HE &
(ii) The interest ratc paid on deposits
rises.
STt 9 A g ZL 5% |
(iii) The central bank raises the discoun!
rate.

> H5 REpee 5T 9erT &

(b) Explain why the money supply might
change due to changes in the behaviour of
commercial banks and the central bank ?

7
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ImﬁﬂWﬁﬁ%ﬂ%%
aamre & agem & e ger gif FEe
B ?

Suppose the interest rate on one year CD
is 5 percent, on two year CD is 4 percent
and on three yecar CD is 8 percent.

9

e R B o are @ CD 9T & TS
nﬁrm%,a"rmaaﬁrcoq*r::nﬁ‘mﬂaﬁr
St Qe & CD 9% 8 ufrera &1

(i) Describe the shape of the yield curve.
3997 G B OMHT FH AT HL |

(ii) Use expectations hypothesis to
determine the markets forecast of the
one year rate next year.

o ¢ @ | # T H AT GAGAA
Fr Faier &3 3 e e afEea
H ITART BT |

3 P.T.O.
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%

in

2]

(=)

)

(i) Wkat is the market's forecast of the
coe vear rate 1 two years ?
T F IT T OIET T

—

- I

&
"
51
il W

-y

|
6J

Whkat is the Principal-Agent problem in
equity contracts 7 How can it be solved ?
6

™IS FIAT = I AT AT ST RT & °?

-

Q"anﬁxﬁmmmbf

Differentiate between exogenous and
endogenous money supply Curves.

7
T AKX EEE 5W [ o B A
T T
Explain the various strategies adopted by
the banks for countering asymmetric

informaton. 3

mmﬂawwﬁ%mﬁﬁ
T ST T R EREt @ e
1
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4. (a) Can the central bank choose raansy
aggregate as an intermediates taifzet?
Explain the points in favour of 4066 agad st
the moncy aggregate as interriadiz
target.
qar wp aedm N um wad wen A e w
Ny geera A gt Wi ¥ 7 sl e
3 wq o N qgead 4 o A i & ik
Farg |

(b) Explain the various pros and
dercgulation of savings bank depanits
intercst rate. 7
e e oy At 7T % (A & A

arq g eeat 1 are w4

F o
o~
I

Pt S A

PR L]

5. (a) Explain the various Implicztior:
. Basel-1II on Indian Banks.
ad S av FEa-lll & Ee= s
ZreEAT FHE |
(b) Explain the commercizl paper markat 20
certificate of deposit market =
TR qF ATy HT A S = A
e FL

=3
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6. (a) "Long run price level largets can be met,

(b)

7. (aj

but long run out put target cannot be met

by the central bank." Explain the statement :
using suitable diagram. oy
“OWfeTT A Wt e Rear o |
wrar ¥, e el s wdt ay
STGHRT B &1 SwE 0 FRm @ g
Explain the various main and sub-cbjectives

of financial reforms introduced in 1991.

8

lgglﬂmﬁﬁhﬁmgﬂﬁf%ﬁﬁwg@
A IU-IRLE H R %X

"Credit cards are often used to pay for
items purchased at retailing outlets.” Are
credit cards money ? Explain. 6
“RRIT s oy @i T AmE § R
TR BT W€ P ggam Reur St & 17

-W%%Emgm%?mmq%

6
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(b) Assuming that the required reserve ratio
is 25 percent, The desired currency 0

deposit ratio and the desired cxcess

reserve ratio are both zero. If there is an
eof ¥ 2.00,000. What
3,3,3

open market purchas

will happen to !
a8 W §U e oty SRR ST 25
afvere & ) aifer s S ST ST O

Gﬂﬁﬁﬂﬂammﬂagmaaﬁgﬁ'ﬁlm
2,00,000 taﬁ@mqﬂz%ﬁﬁ-ﬁﬁﬁ

o

(i) The total deposits of the banking

system

S omell A T I
(i1) To the loans

el
(iii) To the total rescrves

g R

P.T.O.
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8. Write short notes on any two of the following :
7.5,7.5
Brey & @ Rl & v dftrer du ferd

(i) Moncy Multiplicr
1

(ii) Role of clearing houscs in futures market
arger AT # e adt @ g )
(iii) Liquidity Adjustment Facility
e GATaeE gaun

B 3500
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Instroctions for Candidates
1. Write your Roll No. on the top immediately on receipt
- of this question paper. i
2. - Answer any FIVE questions.
3. All guestions carry equal marks.
4. Answers may be written either in English or Hindi; >
‘but the same medium should be used throughout the
paper.
e & faw Bdw
1 . I ve-TF B Pt B W R W AuRe =m W) S
SHEE o | .
) .
o  aeEida v ® IR AR 1

P.T.O.
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. 1

. TETE-TT I SN T AR R o v X S, A
TH T W TSRS O © NS Wiy |

B ]

i

1. (2 W21t 2re t2e determinants of market demand?
Deseride the movements along a demand curve
a3 sRift in the demand curve.

(%) Find the equilibrium market price and equilibrium

- market quantity for the following demand and

swoply function & |
Demand function: P = 50 - 2Q - % 3.
Supply function: P =5+ 3Q (10,5) |

(=) mﬂw%ﬂu&wmwf?wﬂnmm%
T T R Ry W i 9w '

(®) N KR ™ W wwr v 9 v R Ry aww T
““‘fﬁmmmmﬁm: |

i W P“'SU—ZQ

T_ﬁm: P=5+3Q
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6.

_ " (a) Distinguish between returns to a factor and returns
to scale.

. (b) How is the lopg run average cost curve derived

7.

* from the short run average cost curves? (8,7)

(F) v T * wRee o W B wRwa ¥ RN
AT |

.'(w) FETT A AR AW ¥ ww SEw dn T
e vor wa o W 7

(a) Describe all equilibrium conditions of a firm under

perfect competition in the short run.

(b) Why is it said that the equilibrium condition of a
firm under perfect competition in the long run is

allocatively efficient? (10,5)

(%) e X g wRARE # Fehw om o @ wh
dqe fufadl = T W |
L.
() e ¥ O SR B s v ) dge
FaEm N AT THA WA W ¢, Y& W W A
7

LN

P.T.O.
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) What do you understand by price controls? Explain

Jhe consequences of effective price ceiling.

s

) Describe consumer surplus. How is the consumer
,ufplu: affected by an increase in cquilibrium

price? Draw appropriate diagrams, (8,7)

(%) m‘ﬁ““ ? W ¥ Ay o vy
sftream dn Prom & oftomn wroafr Wi o

(w) i SRS w1 v W 1w o A iy na
o I Sfaftw frw wwn wifta o @ 7 wyfos

frz @ FE@a 4 TNV |

8; (2) Discuss the concept of clasticity of demand? What
is the relationship between elasticity of demand

and total revenue?

(b) The “demand of a commodity X increases from
100 units to 250 units due to an increase in price
of another commodity Y from Rs. 30 to Rs. 40.
‘Calculate elasticity of demand using average

method. Comment on the relationship between the
(8,7)

two commodities.

(%) = %) S @ suren vawd | W 6 A T

. WX w87 _
P.T.0.
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]“ﬂﬁmlﬂﬁ:% ﬂﬁz"'n"'ﬂfig-‘
yort € ; ‘
sl adriyie ﬁz%ﬂﬂ*‘wm

ﬂtlﬂﬁﬁﬁ?ﬁw a Ty |
mmlﬁﬁﬂﬂﬁﬁ |

: eXPlain
Z  (2) Using indifference curve 1echnigé® the
sonsumers equilibrium. _
rice cOPSUmption

(10,5)

»A/mﬁm%‘aﬂmﬁmm

=R W |

(b) Derrve law of demand from P

(u)ﬁ:sﬁnw%ﬂh%ﬁmmﬁm%a

3 What do you understand by average variable cost,
average cost, average fixed cost and marginzal cost?

Using sppropriate diagrams, illustrate the relationship
among average variable cost, average cost, average
fixed cost and marginal cost. : (15)

e Rebim W, e T, e Ry T @
A W ¥ I ww R ¥ 7 TR R o e
Mmthmqmwl
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B . II (a) Distinguish between returns to a factor and returns

-}999 :

10 scale.

- (b) How is the h&mn average cost curve derived
" from the short run average cost curves? (8,7)

(“)Wm%mwhﬁﬁgﬂmi‘m

TR |

,. (=) e s A w ¥ Adww shew S T
frg weR e fw @ 7

7. (a) Describe all equilibrium conditions of a firm under

perfect competition in the short run.

(b) Why s it said that the equilibrium condition of a

firm under perfect competition in the long run is

allocatively efficient? (10,5)
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8.

Write notes on any two of the ful!awing;

(a) Production possibility curve.

(b) Elasticity of demand at different points on
straight line demand curve. :

(c) Derivation of long run supply curve of an increasing
cost industry under perfect competition.

(7.5,7.5)
N AR R A W R e -

(W) S=mT v o
(¥) v W Y wim o & v AR i ) i

(") ot SR & sivte v R e o @
et 1 o = K

(700)
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S.No. of Question Paper : 3370

Unique Paper Code ' 61271101 , €€
Name of the Paper : Principles of Microsconomies-1 .
Name of the Course : B.A, (Prog.) Core—CRBCS

Semester v

Duration : 3 Hours Maximum Marks ; 78

(Write your Roll No. ‘on the top immediately on receipt of this question paper.)
Nole :— Answers may be written either in English or In Hindi;
| I:'ut the same medium should be used throughout the
paper.
Rwoft .y yva-m w1 3w ol w =D fiedt o v
L Ay e T T W e T e
. Wy '
" Answer any five questions.
o * All questions carry equal maric.
U el oe Y @ 3w S n
T e ® aiw w6 i

'\_ -
| PTO. . J
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( 2 ) 33

: ‘@ Hw does & Fﬂdmhﬂ possibility curve (PPC) used
. a

: 10 .:pllin the concept of scarcity, choice and

."_' ' ity cost 7 What are the reasons for ourward

ﬂliﬂ in PPC ?
Find the .quﬂﬂl'hl’ﬂ marke( |!'IH and equilibrium market

()
qull'.lliljf for the following demand and supply

L

function :
Demand function : P = 192 - 3Q
- s;‘ﬂymm:‘}'zp'zo s
(5) STE W, WG T T W SR W
o s I wWEm WE w1 I few

wer v §?

. (-mwmmmwmﬁiwﬁﬂww
v T AW W Wi
M W : P = 192 - 3Q 1
o W : Q= 2P - 20

iﬁ' 2 (2 Using sulsble disgrams, ‘explain the effects on the
demand of X commodity, if :

(0 the price of the substitute commodity Y rises
(i) the price of the complementary commodity Z falls
(i) income of the consumer rises.

Scanned with CamScanner



( 3 ) 330 |

®) What do you understand by price control ? What is
the difference between effective price floor and effective

price ceiling ? 69

(1) wofem fest ) woram ¥ Wy x W W W
TR T WA W weiR . wif aR

() e aR v w owm F afp oot #
O T T 2% v wh oo b
iy IR W s F ogfy e b

(@) w o } smoown wawd €7 g
ﬁmﬁw@mmﬁmzﬁ
99 ;| FW t?

()) Explain the concept of income elasticity and cross pt;cc -
t;lusticiw. Also explain how the nature of a commodity
is determined by positive and negative values of
income elasticity.

(5) Income elasticity of demand of a milk is equal to 1.5.

If the income of the W from 10,000 to !
r

20,000, how much wil'fic demand of milk be increased
if the initinl demand is 50 litre per month ? Use average

method of calculating Income elasticity of demand. 9,6 {
P.T.O.
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() @t w o dw s TS

ty X decreases. Using

able diagram, explain
of substitution effect

(@) The price of an ihf:ri?r commodi

. indifference curve analysis and suit
that the price effect is the sum
and income effect.

Derive demand curve for a giffen commodity with the

b
’ curve (PCC). 96

help of price consumption o
(ﬂ)@mﬂﬁXﬂﬁmﬁMMtl
et favdw @@ wfem o 5 wer
]} ™ "'@mwﬁmmm
wru’ﬁ?ll:,mm| |
(i)ﬂﬁﬂﬂﬂﬁﬂmﬁmﬁmmm;
- g =1 frern Fifed) -
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S (@ What e the rAree Hagen of produetion ! Why should
n firm produce only In seoid slage of produgtion ?

(8  Using sulsble diagrams, describe relationahip between
average cost, average flxed cost, avernge varlahle coul

and marginal com, TN

(31) T W) wiw srrend wiweh 87 ow vl )
wii fif sem W @ wom won wifvd ?

() T ot ) o & st s, s
- gt wom, Shwm wftefrviter oo oft v
W N wEey W o il

& (@) Explain the short term all equilibrium conditions of

perfectly competitive firm, Will a firm necessarily close
CUf it is incumingosses ? |
-[15) How is the supply curve of a competitive firm derived ?
' Explain 103
(3) Tn 7 e o w1 sreqwet wigem Rafivd
W Tl oW ok e B h W W o
T W IORA vd ff W wy M )

(W) T [ ot wd @ g we W e
PR TR R 2w el
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7. A fim under perfect competition shows (he following ¢y
and revenue data :

- . o - . ) -
“WF" _
. L

» Output . Total Cost Total Revenue
0 3 - 0
l 5 6
2 | 8 12
- | F 3 - " it
4 17 . %
3 | 2 0 | #
g 6 | 2 | 2 |
7 18 : .
(@ What is the equilibrium level ul_' output for this figm ? -

(6) What is the amount of profits at the equilibrium level
- o} output ? . 87

T T wivirh v @ frg Prefufen o
RN | wmw o | w amw

L 0 3 0

1 1 5
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n
1]
M
X
)6
Q

NN

() W W W Hgem s ww fewn 7
(V) WO O WA W e feen 47

Explain the following using suitable disgrams wherever

pecessary
(a) Deigpninmu of elasticity nf_dtmmd

(8) Properties of indifference curve

(©)  Long ‘run supply curve of a constant cost competitive

industry.

3,55

W smveE ® oael! wgfen faw w wEEm R

mmmﬁﬁﬂi
~(R) W W v B Prufw T
- (W) wwm ww W g

(R) fert wrm o wr ¥R v w el
1w
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but the same¢ medium should be used throughout the
paper.  °
ool 5w ¥¥-9% ® IW AW W et fee o v
i dfwy; AT T I W TER TE § R
arfea|
Answer any five questions.
All questions carry oqual marks,
fest oiw vl ® I S
™t v R dw wm b
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31

W@ WRAE dn w winderstamd ty Production i‘*‘“thh;}
arve S tow ahwes o belpow evplaining the centry)
perdiins b an SR © Alse show the effect of
e prawmth oa this cune

M) WA the aquihitoum market powe and quantiny iy

domand amd apply functions ane as follows

Demad © Q = S0 - Q3P

Sy 2 Q- -0+ P 1S
(N) TURT VWM 9% ] NN ¥ RN XD U
NSy W R EHEAl ¥ AR FE OJ

7% ffg TER TOOH OHE OR? T/ OSF W
yids fvm 1 v &) v v B

u}ﬁrqﬁquﬁnsh‘{ﬁiwhq%m.dqm
SR O MR T fEedt ¥ .
TR : Q = 50 - 0.5P

R weR

(&)  Discuss price

Q=-10 +p

control. Explain the consequences of
effective peice floor and price ceiling.

(!)  Given a straight line downward sloping demand curve,

show that price clasticity of demand varies from zero

1o infinity, 105
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(31) o Frimw @ favaow #R0) @ W
fyyftor sik I=ga9 wha Ao & SR @6

o HiTod |
(@) & frdt @ @it mhn Y@ w oA S e
Y= ¥ s aw ot €, FUA R

(@) Describe the decomposition of price effect into income
effect and substitution effect with the help of indifference

curve analysis, when price of a normal commodity
decrease. Use suitable diagram.
(b)) Explain the indifference curve when :

() goods x and y are perfect substitutes.
(i) goods x and y are perfect complementary. 105
(37) TF 9O a% F! HEd § FH I W R
YU H1 A IV eﬁ‘ﬂmwamaﬂa
e g% F1 geEd Q Fed | gyfad M@
7w wifed |
(4) T qF H AT w94 (R
0 TG xRy P vl awgd #
@ T x ARy wE Tl ¥

P.T.O.
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()

(b

(3)

(F)

(a)

()

( 4 ) 337

Explain Producer’s equilibrium with the help of lso-quant
curve and Iso-cost line,

Distinguish between returns to a factor and retums to
scale. 10.5

W9-ETA YEn a9 6H-39E A% W qEEa €
U IEEE B H(EA & A9 Hifd

M ® view @ WA @ wfawa s

w2 Hifva |

At every level of output, calculate Total Fixed Cost
(TFC), Average Fixed Cost (AFC), Avernge Variable Cost
(AVC) and Marginal Cost (MC), from the given schedule

at each level of output ;

Output Total Cost
0 20
| P
2 %0
3 %
4 102
s 120

Explain the derivation of L long run average cost curve
ﬁ'ntl;lshnnhnl\rtngcmﬂmﬁ. 9.6
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0 Q0
! 80
2 O
3 | 95
. 102
§ 120

- (W) aegwE oftma wwi ¥ SefwweiE sia @
T @ Ffeyn w1 oavl s

(@)  Explain the equilibrium of a firm under perfect

competition in the short run and long run,

() Explain allocative eMiciency under perfect competition. 9,6

(a1) orevwme wi deme § i widfirn @ sl
vl @ wge W oA wiRe
(w) i yhedfen @& ol SR AR W

PT.O.

—— - — — |
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( 6 ) 137
Using suitable diagrams, explain long run supply curve for
an industry in competitive market in case of
()  decreasing cost industry
(i)  constant cost industry, 15,75
Frfafen feafs & simfn © Wi aow § o
XM w1 e 9 ww W e w v
wifad1 wqfam s &1 wam
() WHIH &\ Iuh-
() Fer o Ia |
Write notes on the following :
(@  Consumer surplus and producer surplus

(6) Total expenditure method of price elasticity of demand

(c)  Price consumption curve. 5.5.5

ﬁwferfaﬂmﬁmﬁﬁfaq‘
(mmmmmm

(a}#ﬁmé\ﬂﬁmﬁuﬁ-mmﬁﬁ
() smMa 399 =%

6 - 1,000
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Ingructions for Candudates -

it & for ™

Attormm any e pecem
fet o TwT § FET SNE

il oo S TR TN
T oer F RN T

Q.1 Wi shon notss on ans TWEO:
(i) Nommal GDFP and #t=al GIW
(ii) Determmants nf apgregatr conammRGT
(iii) Investmen: Muluplesr
(rv) Mcasurss of monsy suppiy

= o = Wik Th Teisn

(%) HAits FHs TR, TUT T TRASE TEE TRE, B
{w) ¥=u v ¥ e

(m) Fen T

(@) = g & =

Q2 (i) Using the circular Mow dingram nf et <xcot-asmmey “Ouw. [0k (e e ol e pvale
mvestmen! and povemmen: srendme eouak Ty S ey sk lan
(ii) Explain the limitations o7 G 2 ¢ measree o welin
)
() Fo—<rin siae=n & o= SoE TETvE & I AT e oy B ) ey
mmucmwmmzrzw:w r
(@) v F AR ¥ TR N TS WE IR oA x

Q3  Explam the mcome methnd nf zstimeating ratora inesese Wk 2. wad te D ke
while using this mathnd? ()

TR S IS W OWR AR s alier
T & S I TR W S west 3 e (@
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Investment : |~ ta
Clovernment spetiding : G- n

() Vind the couilibelum Income,

(b} Fimd the governmen dellcit.

() Suppose governmen spending s cot by 33 bitlinm, what iy the new coplibhum s moe’

() What is the net govermment deficir?

(ily With the help of n dingram derive the saving function from the comsumptien fenctien. (10, %)

(@) i) dikarren Ay A vy apentd A ad B (oh (o Zac AR

Sl A : = 100+ 0K Yd
mi . Te= —|150v025Y
A : | = i)

IR mn : (= B0

() wierEa ann s Sy |
(@) wrwrd Wz v g |
() W T T 6 Wi B w a7 m o b o ad e s e B
(2) A IRw e @ B2

() PN @ D W m egeed v o) e a A

Q.5 (i) What is the net export function? What nre the factors affecting the net export function?
{ii) What are the motives for holding money? (7%, T%)

(®) Pz Prafa e &7 Avg Pafa wem @ onfea a3 o aes 70 2
(@) 7&1 @ ® g qa 8

Q.6 (i) Define money market equilibrium with the help of a diagram.
(ii) Explain how a decreasc in the money supply affects the rate of interest in the money market?
(7.8)
(%) TF A W werww | e TR A wgen B i i )
(@) e TR ¥ g gfd F @0 # e B W B owifdm s &2 aoiE

Q.7 (i) Prove that the open cconomy multiplicr is the reciprocal of the sum of marginal propensity to
save (MPS) and Marginal propensily 1o import.
(ii) Expluin the balanced budget multiplier? (8,7

() fog =0 5 yefayeven ¥ Yra Tua 3 W wgft @en s ) e
*mﬁqﬂﬁmmﬂﬁ ™
(@) wafea woe e w aviE R

Q.8 (i) Whal are the functions of money?
(i) How does the central bank control the moncy supply in the economy? (7.8)

(®) 7= & = ¥ &2
(@) srfmmea 4 3P fs g@ 9 B AR Prafm aww &
(4000)
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Name of the Fapey . Principton ot Macioes oo |
Name of the Couse : CHOeS WA (M) DISC
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Dracation © ¥ oy Nt Nwrka 175

Note: Answvees may b weitien eitber b Unglishoor b i, Tt e s sed i shisibd be il
thrvughaut the page

H UL B 02 MO IRy 1 LT A LA TTOR T T I R LR
¢ e gy

Instructions fve Candidates

i) & [y Ndee

AN any Hive questions

It e uedd @b e @gg

AL questions cairy egqual ks
o el @ e By

Write &t neles on any

() Tncome determination in wa secton coonvmy thiouply agpeegate expemditime approay

(M) Induced investment amd autonmmons investient

(1) Muotives For holding 1hoey

(w) Money Multiplicr (VAT

B 2 w1 R Rued) fafhy.

(®) w0 wm gfeam @ e A R-A0y sedaawn § ann Pode
(@) M@ Adn ga wama N

(m) e WA W agdtv

(@) e e

(1) What are the major concerns of macrocconomics? Explain.
(ii) Explain the circular Now of income in four seclo cconomy with the help of wdiagram. (7, K)

() wifte ambemes & wpm g am & ok o
(8) v ey o wewmn [ wr au sebaren N s @ wla wme w ok A

What do you mean hy national income? Explain the product method of estimating national Income,

(15)
W U RN A @ ) &2 G 30w ) gine AR an ek A

(i) Derive the saving funciion with the help of linear consumplion function

il present the
relationship between consumption and saving through praph.
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Q8 (D Youare given the Rllowing iInRmans TSI
Nl (LU TR BWd=Y -
1 = Ra$ onoees
G = Ba i onves
T = Ratd) cooees
Answer the Rallowing:
() Determine the aquilideium bl of i
() Value of consumption expomditune at squibiboum tenel of invvawe
(€) If G increases o Ra 130 cnones, what is the pew equilibemm kel ol ivvine
(i Explain the paxess of income datenminain A ThIde sChMY ORI g ARRepate
cypenditure appovach. (9, ™)
() NTEE! (T weharEn @ AR N e el ) ng &
C=100+05Yd (YWd=Y-1
| = ®.80 N3
G = B30 TS
T~ W60 IS
fr=1 w1 IR ffa
LEEECERNE RS G N
(a) w2 B WYET ®R W 0T @y ® R
(m) =i wd TIHT 150 A B oen & v Wt el agqee s e &

Q6

(v) Rz Prak oa & & Rys Aake sam o) oofa s o vew an &
An increase in marginal propensity to import reduces the eguilibrium in an open econsmy while an

increase in sutonomous exports Increase the oquilibrium income, Explain with the help of diagam
(15)
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Name of the Paper :  Moncy and Banking

Name of the Course : CBCS B.A. (Prog.) DSFE,
Semester .

Duration : 3 Hours Maximum Marks : 78

(Write your Roll No. on the top immediately on receipt of this question paper )

Note *—  Answers may be written either in English or in Hindi;
but .r.hc same medium should be used throughout the
paper.

fzmﬁ:_mm-wmmsﬁﬁwﬁitmm oL
¥ Zifag; AfF o 3wl w1 om @ e
wifeq |

Attempt any five questions,

fel ota vl & s g

I (@) What are the changes in deposits, currency holdings
and the money stock for an open market sale of
Rs. 10,000 if required reserve ratio is 3%, desired excess
reserve ralio is 2% and the desired currency to deposit
ratio is 20%. 9

P.T.O.
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( 2) hagls

(b) Why do economists typically not consider credit capys

to be money ? 6
10000 ¥ F et IO R F g, e
m,mﬁmwmﬁwmm
afz aifea @ IIE 3 Wi ¥, aife
sfafaa i SOA 2 Wiava qwn fea i
o o 20 Wi &2

b SHTER AR W Bfee FE R O A T

T §?

2 What is meant by moral hazard in financial markets ? Wha

(@)

are the possible solutions to problem of moral hazard ?1§

fad s & A @ =1 oF oad ¥? Afw
TR ¥ wrEn @ s A wn §?

3. What is segmented market hypothesis ? Explain its rationale

and limitations. 15
wfEn T v v 2 v sifee i dime
1 =& FifA |

4 Define financial crisis. What are the factors that causes financial
.‘tl'is't!? 15
friin W% #1 sfonfen wifg) fadig d@e @
T AW ww WY B
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(V) 27

v ) Discuss varlows banking reforms in India ]

(M Discusy how Basel-lT Is an enhancement over

Nasel 11, 7

@ v A fafsem 8w aprd wr owed wifa

)  VEE- WwE- wogm dA b, W w
wiforg | |

& (@) Explain interest rate and monctary aggregates as

intermediate targets for monctary policy. 8

() What are the [;mblcms associated with the operation

of monetary policy 7 7

@ few difn ® fog woad v ® w9 A

=T 1:1 sl Hdfiw wyedl 1 s=rEm wif)

k) fiw At & wued | Y wweEd w=@ §?

2 Explain the role of futures contracts in [linancial market, 15

mmﬁmmﬁﬁmmﬁﬁm

P.T.O.
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Write short notes on any mwo of the following : 7575

()  Oplions contracls
(if) Interest rate swaps

(iif)y Types of money.

frafafam § @ fFll @Y w afya feuoit fafag .

» faEw sgEy
() =9 W |AY

(i) T ® TR .
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This question paper contnins 4 printed pages]

"}(b : Rnli‘Nn.

S. No: of Question Paper.' :. 2277 ' .

Unique PaperCode - : 62277503 : Jc
: >
Name ofthe Paper * - @ Economic Development and Policy in
India-1

Name of lhu- Course CBCS B.A. (Prog.) DSE

Semester B2

Duration: 3 Hours - e Maximum Marks: 75
ﬂVHrfJ-&u} Roll No. on the top immediately on receipt of this question paper.)
Note :—  Answers may be written either in English or in Hindi

but the same mgdiurﬁ- should be used throughout the

feouft 55 wer-va = S siih @ it ferelt o
LT g dfe ol S W e T e
R Answm- any fm questmns '

fm qu&stmm carry equnl marks.

wﬁﬂamﬂi%wffﬁm
mff‘ﬂ'-ﬁ‘én‘mwﬁi

P.T.O.

- —

Scanned with CamScanner




I

( 2 ) nn

What are the main features of an underdeveloped

cconomy ? Would India be characterized as an midcn.;lmlnpcd
or a developing economy ?

sfarfaa sdsgaen # qed favmad =0 82 w0
wra @ sfamfen A fawmeie e % w9
# wrm Smam? |

What are the main causcs. behind the rapid growth of
population in India ? What measures have been mlu;n by the
government to control the population growth in India ?
e # wREm @ A A T B G T
7 &7 wa § wwen gfs W frbw A @
fow w@R Y T wm feg ¥?

Explain the rationale and the main fr.amras of the New
Economic Policy of 1991 in fndia and its impact on the Indian
economy. T

v H 1991 # T aiE AR R sifem ik
T RSl SR WA e WS R
s Hie | o |
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4  What do you understand by deficit financing ? Analyse its.
purpose, -advaniages and disadvantages with. special reference
to the Indian.cconomy.
ﬁﬁm%mwmt? mmhawmm
# faim we A R R, TR A THEA
fagereor aﬁﬁ'ﬂl

5, What is the role uf ph)'su:.al capual fonnaunn in promoting
gmwth in a developing -economy ? 'What are the pmhlems

faced “in raising the ‘level of: physical capital formation in
India 7 Also 'di.;cuss thu-nmu’mreﬁ'adopied by the government
- of India 'in this regard. |

ﬁa?mﬂﬁ spfegaear A ﬁﬁm  sgEn 2§ e
it Frfor =t F £ w & o 0
Formton & W/ OB c TR kL O R B
wEy # AR FER T cﬂm T A T Wit

- = ﬂﬂﬁi’n |
6. 'Discuss tha nmre uf ruml unmplognnent in India. Briefly"
mrmw the pollcius nkun hy thu snvmnncnt of India to reduce

rural un:mﬂoym:nt.

.wﬁmmﬁmmaﬁmﬂ{
mﬁwiﬂmﬁaﬂwmﬁ%ﬁqmmm

ﬁ"tﬂiﬂfdﬂiaﬁﬂfwﬁﬂmaﬁﬁﬂl

IL o . - " P-T-Q#

LR
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7. Discuss the objectives, 1ools ahd Vmitaions of ysing »

monetary policy, with spacinl refsrsnca 1 Hljn,

wyiw o P el A, oMb D m ey s

W atgdl, aewel she dbnstt e s whteg
8. Write short notes on nny fwo of the follewing « 157+

(@) Sustainable Development

(6) Income Inequality In India

(¢)  Occupational Suuc.tun:l in Indin

() Center-state financial relationships in India,

freafafe 4 @ feaff g w dfurmn fromf

fafera .

(%) 'GIZ'ITI_ forra

(|) 'qmr 4 s sEmrn

(m v # e o

(W) Y@ 43 &x-tw faflg tmn

%M_ﬁ O T e
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: r“".,”unun PAPer contains 4 printed pages)

,ﬂ Roll No,

5. N Of Question Paper ;2323

Usique Paper Code : 62277502
Name of the Paper : Moncy and Banking
Name of the Course t B.A. (Prog.) CBCS-DSE
' Semester ¥
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediaiely on receipt of this question paper.)

Note -—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.

fuuft : T T-T9 F IW N A fe<t fEet wE v
§ Zifmy; dfFT @it 9 =1 WmEm @ € e
ey | |

Attempt any five questions.

fat ofe Wb & I o

P.TO.
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(2) 823

Explain the concept of money and various monetdry

aggregates 10 measure money supply in Indin. 5

vrea 3 w1 A W W A e fafv= i e
AN X F @MU F STEA HI |

(@)  Explain the various determinants of money supply, 6

(b)  Assume that central bank increases the monetary bage
by ¥ 50,000. Calculate the changes in currency holdings,
deposits and total money supply, if currency to deposiy

ratio is 0.15, excess reserve ratio is 0.05 and required

Ed

reserve ratio is 0.20. What is the value of money

multiplier ? 9
@ T IR & fafim fuist |1 s s

) WA wifwg e FEa T ks SR 50,000
YA A o ¥ | afE FE I e o015, tfafEm
SRPET ST 0-05 WA STUTRTG SRR SO 0-20
t, @ P g oufd, sl qm wEdh AfeEn §
a6 FI T O g Y ?

Explain the risk and return characteristics of options when the
option price is ¥ 5 and strike price is ¥ 300 in the .fnllnwing

cases : 15
()  Investor has long a put option.

(i)  Investor has short a call option.

T R TR Y R e e S

Scanned with CamScanner




(1) 2121

firsfafan & wed o fawra & afam va ufiore %)
frdrenaii & @t 3 @y Atz faweq qea s T R A
TIEF g 300 T3

0 o féww 3 @ fawes @im ¥

() el fve 3w fawe aw ¥

What is preferred habitat hypothesis ? Explain the various

shapes of yield curve under preferred habitat hypothesis. 15

mmmmtammw
% e I aw H1 fafu=1 swpfadi w1 FamEn #wifau)

(a) Explain the various monetary policy instruments, Ly

(b) Explain the monetary policy goals. 7

@ faf= difs ifa anEl 51 =ren it
o) WfEF it F e F1 Fnen wiftag

What are capital requirements under BASEL-III norms ? How

will these impact the profitability of Indian banks ? 15

AG-111 AAZE & Ed det H SEvaEand ® € 7
T YRAE dhi HI TYIEA W R FWE T 7
What are the problems caused by asymmetric information in

financial markets ? 15

fordita aromdl & sTemfia a1 & SO0 F1 TN I9H
et & 2

P.TO.
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Write short notes on any fwo of the following : 7.5.7.5
()  Commercial Paper
(i)  Centificate of Deposits

(i) Fiat money and commodity money.

ﬁqﬁ?ﬁﬁﬁﬁﬁﬁ?i‘ﬂﬁﬂﬁﬁﬁfﬁm:
() =ffsgs gy

(i) S F Wy

G fPee w1 o wfes Ll

4- 400 .
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. Yoar Rell N
[ Na o Qooctine Pagee = IS 3
Uhngue Prree Sndie S AT
Nume 28 The Pyrer - Prncinies O Nhomaoroeemes
Nume a8 The Jucss - CBCS G Ry (o)
Someste Y
QDursinar - 3 hours Mavomar Mams @ TS

. Wimhe weur Rall Vo an the 109 monddiataly On [0l
o TnS JUSSTINn DETET.

. Answer any $ qooshams.

3 AN Qosmoms STy &S] manks

L. Apswess max D owmmmen ather in English or Hindy
g The seme madiom showld e usad thrawghoat the

== = e Biw

1 I TS-TT S A B SW % w AUy e w =
F=pwE BT 1

»  E durs wIWERRN

P.T.O.

Sl
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. AR ST
N nm-nwmﬂﬂmﬂﬁﬁwwi&m.ﬂﬂ?
% 3R = o v § g e |

1. Define the production possibility curve. Explain the
concept of scarcity, choice and opportunity cost with

the help of PPC. (5,10)

FARAE oF T TRWRE A | FREE T At FeEd
¥ v, T SR FER AR W AU W s
R |

2. (a) Define the law of supply. What are major

influencing factors of supply?

(b) What will be the effect on market equilibrium if
supply curve shifts downwards? (10,5)

(¥) 1 B P = Rwfte | 1| gid = ofe s
TR [ FRE T RT X B 7

(@) R I = P A Sk Rrew ol ¢ F TR TgEE
W @S T AW Bm?
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y of demand? Prove that price
o to infinity

2158

3. (a) What is elasticit
clasticity of demand varies from zer

on a straight-linc demand curve.

nd schedule given below,

(b) For the market dema
demand if the price falls

calculate elasticity of

from Rs. 20 per unit to Rs. 19 per unit. (10,5)
et | 22 | 20 | 20| P 18 |
Quantity 120 | 180 | 200 | 240 | 280

i demand
(%) mmaﬁﬂm%?mﬁaﬁuﬂwwmw
o i & g A s ® &= e B
(@) ﬁ&ﬁ?ymmﬁlﬁri,mhﬁﬁmmﬂﬂﬁﬁm

mazom&i’rumwmﬂﬁm%l

A ki ] | 21| 20| 19| 18

i @ am | 140 [ 180 ) 200 240 | 280

n substitution effect and

4. Decompose the price effect i
4. Also explain why

income effect for 2 giffen goo
law of demand is not applicable for these goods.

(15)

P.T.O.

Scanned with CamScanner



2158

4

Wﬁﬁqﬁ%ﬁﬂmmﬁmmﬁm
ﬂMﬂlifﬁhﬁhﬁ'#Hﬁil‘ﬂ!1ﬁ'lﬁq1ﬁfiiriqiﬁﬁﬁfi?
frg win = P ww W@ T8 den @7

5. (a) What are isoquants? Show its properties.

(b) How does a producer choose an optimal input
combination to maximize output subject to a given

cost?

(a) T T R Rt w

() 8 ¥R vE Jeew R R AW ¥ IR =
w3 * Ry I ST w8 7

(7.8)

6. (a) Why average cost curves are U shaped? If
marginal cost is rising, does average cost is also
increasing? Why if yes and Why not? Explain with

diagram.

(b) Calculate TFC, TVC, AFC, AVC, AC and MC
from the following table.

Qutput (Q)

0 | 2 3 4 5

Total Cost
(TC)

10 | 20 | 28 | 34 | 38 | 42

(6.9)

i =F, :‘!‘!": ’ s -
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(F) hea ame =% U 3reR w1 W 8RR 7 2R Wl
R g o A v stew SR W Wl Toe

1, w7 Ry 3 A Wt

(7) Fr=faRm ol F TFC, TVC, AFC, AVC, AC W
MC =t v S |

AT (Q) | 0 | 1 2 | 3 [ 4| 3
FE A | 10| 20 | 28 | 34 | 3® | &2

-3

(TC)

7. Distinguish between perfect competition and monopoly.
Which market is allocatively efficient and why?
Explain with the help of suitable diagram. (13

f s IR TEER IO FER X W W
FIR | T W AAR FAECARETS FIA ¥ AR WD ? I
T Ta v AR |

8. Write short notes on any two of the following :

(a) Long run industry supply curve of a decreasing

cost industry

(b) Accounting cost and economic cost

P.T.O.
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(¢) Binding and non-binding price floor
c

(d) Price discrimination (7.5,7.5)
R A W e o

(%) A F Tom & AEEE g @

(v) A o S S

(v) e v W PR T FEE

(7) e

(3500)
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This question paper contains 8 prinied pages.

ﬂ?\ Your Roll No. .riveeecssennn:
SI. No. of Ques. Paper : T028 J
" Unique Paper Code  : 52415501 :
Name of Paper : Principles of Micro Economics
Name of Course * 1+ Generic Elective
Semester 'V
Duration : 3 hours

Maximum Marks : 75
(Write your Roll No. on the top immediately
on receipt of this question paper.)

9 T & A @ aw o m} it
o W R s el )

NoTe:— Answers may be written either in English or in
Hindi: but the same medium should be used

throughout the paper.
ﬁmﬁ:—mmwmﬁﬁmﬁﬁ?ﬁﬁw
grar ¥ e AfFT g I9 I AT @ §

gir Seq !

Attempt any five questions.
Marks are indicated against each question.

fad ofe vl & 3w T
vvil % 3% 3% g ifea &1

1. (a) If the demand curve is a rectangular hyperbola,
what will be the value of MR? Comment on the
P.T. O.
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nature of relationship between price elasticity of
demand and TR.

afe Wi &% & SUaER dfawEerd }, @ MR
¥ e & M2 WM H e o9 aw TR A
waw ® Nafa W feolt g | 7-5
The table gives two demand schedules. Using only

the Total Expenditure criterion, determine if
these demand curves are clastic or inclastic.

A @ Wi Front A Wi AggE TR 21 T T
FaA W A F@ g i St &F e

(b)

% Sravie ¢ @ A a8 7.5
P (Rs.) 6 5 4 3 2 1
Qy 100 110 120 150 200 300
Oy 100 | 150 | 225 | 325 | s00 | 110
Or (¥uaaA)

(a) Table below gives quantities bought of comm-
odities X, Y and Z beforec and after a change in

their prices.

Commodities Before After
Price (Rs.) |Quansity/Month |Price (Rs.) |Quantity/Month
X 40 300 30 400
Y 20 150 10 100
z 1S 100 20 90
X 10 150 10 120

Find cross elasticity of demand from the table

Scanned with Cam_S_canner
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given between X and Y (exy) and between X and
Z (cxz) and find the naturc of their relationship.

wegal X, Y am z % el ¥ aftadT @ v
aq A ¥ 3T @i aeil #@ A wnef o

i — T

fear ma 'B:
wep] L wz i z
wY (%o) | WwEW  [wv (%) | W/ '*
X 40 300 k1] 400
Y 20 150 10 100
Z 15 100 20 90
X 10 150 10 120

atn # wfree B @ T EEot ¥ T R S
X T4 Y (exy) 3R X @1 Z (exy) Twidl @ a0
ITH Ta" F WHfa st Ja FEQ 7-5
(b) Does a change in producers technology lcad to a
movement along the supply curve or a shift in the
supply curve? Docs a change in price lead to a

movement along the supply curve or a shift in the
supply curve? Explain with diagrams.

IqRH F aEAtE F fEdT F= oAyl T F

Y S F AR & o ¢ @ R Al aw Q
giada #t AR ? G ¥ augn | 75

2. (a) Draw the Budget constraint for a person with
income of Rs. 1000, if the price of good X is Rs. 5

and the price of good Y is Rs. 10.
_' P.T.O.

.
- -
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What is the slope of Budget constraint?

ﬂfﬂﬂﬁx;:rqa'szatmaqx'mzﬁa
lﬂsatilm:nauﬁmmﬁwfﬁa‘a:ﬁqﬁ

XX A F A AL 7-5

(b) Explain Consumers equilibrium with the help of
indifference curves and budget line.

mmmmmﬁmﬂm ‘
* W ® gAY | 7-5 1
Or (Zua)

(a) How would changes in consumer's income affect
his choice? Explain with the belp of indifference

curve and budget constraint.

YN H s 3 wf@dd fFa SR TR W
2 yaifad FA 2 «@E A I9 ITHAM TH
F wgraa 4 gaany | 75

(b) Whalt do you mcan by Price Consumption Curve
(PCC)? Derive the demand curve from PCC when

demand for a good is clastic, unitary clastic and
inclastic.

‘I?"'o""ﬁ"fﬁ(rcqﬂmwm%i?
Wmﬁ%mmﬁaﬂm:naqaﬁ
st dravite 3, dredea §, @ @ S A
t 7.5

3. (a) Draw the Marginal cost curve and Average cost

_ Q]
Scanned with CamScanner
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curve for a typical firm and explain why these
curves cross where they do.

@ Yo W ¥ ferg o @ aF @m st
T a% fAwifee awr gugnRy & 3 a% @&
T & T Fed ¢ ol A FRE T 7-5

(b) Define Economies of Scale and Diseconomies of
Scale and explain why they might arise.

R sdeEen au i @ fagnfadl @

o ST a0 TUERY & 4 =l 39 |

ahdt ¢ 1 7-5
Or (3rvEm)

Explain the law of variable proportion. In which stage
does a rational producer operate?

qfadeie sua & fam & gaERy ) fF ' W
maﬁmﬁmma‘mi? 15

. Compare Perfect Competition and Monopoly with
respect to:

(a) Price and Output
(b) Welfare.

wfmﬁmmwfmﬁlmm%mﬂ

I,
(a) TET T IEA
(b) FEO1I 15

Or (¥4an) '
P.T.O.

[~ e
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Explain short run and long run equilibrium under
monopolistic competition.

Eiasrt st ¥ dufafe ao =@y s<e
ml ' 15

5. (a) In the long run equilibrium, all firms in the
perfect competitive industry carn zero cconomic
profit. Why is this true? Explain with a diagram.

dfafy wqem F Qi sfeaifiaess 3O o o d
wH ¥ anfdE o AT ¥ W AR WA R 2
X =1 "graa | |RERY ) 7-5

(b) The price paid to each factor adjusts to balance

the demand and supply for that factor. Explain
with the help of diagrams.

& & & [ T o s s @
30 TR & W T Rl @ | e 31 wer @
HHARY | 7-5
Or (319an)
(a) The prisoner dilemma in an oligopolistic market is

an cxercise that will show the participants that
cooperation is a choice. Explain.

FEEst aeR ¥ & AW w [ oA 3
W wfawimal St feamm § 5 weia @ fawe

21 W 7.5
(b) Why do we get a backward bending labour supply
curve? -
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' fi)4h

1 I B T T T T R T
0 )

8or Vinualty Ohallvaged Candidates only
e vt srvfalel i

Attenygy any five questiony,
Al quextions carry equal marky,

Al wiw v & aed @fig
& & MW 0w st 8

1. Explain the Law of Domand, What causes o movement
along the Demand Curve and shift in the Demand

Curve?
whr % Praw & wwwye | vt aw % we afy ok win

% ¥ qitads feR s e ¥? 15

2 Explain Price Elasticity of Demand and the factors
affecting clasticity of demand.

gt R Fh@ @ F FEERY @ A7 § o dN R
TWITEd 1 T & W Tany | 15

3. Explain the Law of Variable Proportions. In which
stage will a rational producer produce?

yfEdIvie SquEl & Fam @ awERe ) JdET
mmﬁwwqtmaﬁm? 15

4 Explain the characteristics of Perfect Competition.
P.T.O.
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o Ffa@fma 2 frimal 81 ugagy |

wh

-

5. What are the causes of Monopoky! 1ms & sy /it
always carn high profits?

mfm%mmﬁit? w7 4,
i Z=3 @9 35 17 .

e 1 l‘.ﬂ‘ ﬁ’,f

o
s

6 Dcﬁnc Market What e 1he asumptions
& Thufv Hfam i sExmdna 4

-

T 17 15

7. What a2re the factors of production” How n
dmzndzndsnppiyohmmdk}"‘w;"ﬂm 2oy 1o
of factors of prodaction?

s mE T i = E AT
uqﬁfmmm%mﬂisfﬂﬁt? 15

2 Write short notes on zzy two of the iollowmg
(z) Marginz] 20d Averzge Cost |
(®) Retzms 10 Sc2ie |
{c) Backward Beading Labour Suppiy Curve.
=3 § & 3 w 959 oo aes
(2) S917 7@ S W0
® S = I
© BESRESsEESE= 1S
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i *':*-FH- -j-.ﬂq-n‘-l-ﬂ-p M-
o [ i
L] .

\)\\’b\]h

. I\umhmwmuh:ﬁﬁnﬁm

> Wouur BN NV wetyarismpissmsmmssisnes s

L N Quees. Paper & TON0 o

Desge Paper Code 1 3418502 A

Nawe of Paper t Economics of Reguiation of

Domestic and Forelgn Exchange

... Markets '

Name of Course t Generic Elective

Semeester 'tV -

Duretion : ) hours

Maximum Merks 1 758

(The vear Rt N an the top brmediasely
.-mafmwhmj

(7% rR-IT & Mt X et At
e W N TR e

Nott:— Answers may be written either ‘in Engfuh or in
Hirdi; but the same medium :haufd be used

throughout the paper.

'm-wmnmwﬁwwmﬁ

¥ A afeT @ I ST T &
- & SR
Anmpuﬂﬁuc.rﬁam. —
All questions carry equal marks.:

qvit s ifErd T
o s & 3w T e

2 P.T.O
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-
N ol :
;'. :L _"- '
b 4 .
= 1. w\
[ - " - “ b
ﬂ =

() Jlrmatiention ol Beernalie,
pyeBxtanal Cost and Inuﬂ'igi{._.ac}“ R o
;.) WE TS T W
b) ww SR T s

.
J

Vg7
Or (3rwan) %
‘.h (2) Durect Control of Natural Monopolies
(t) Allocative Efficiency. -
" SRy | 87

- _%4-1»4"_-1 (a)-Describe -‘thé objectives .of Mc_&hmdh: Exports
from India Scheme (MEIS). Also discuss the

j . eatitlement and ineligible categories under MEIS.
i e R =R figfa @ (MEIS) F e @
i T R MEIS & 3T THa T @y

o AR E QR S |
-‘ : i - ®) What are! the objectives of . Vishesh Krishi and
. - - - Gram Udyog Yojana? Discuss the inceative scrip
\e .. . vailable for agricultural infrastructure under this
o wheme. - -

!
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(a) Statec the maio features relating to  Export
" Oricntell Units (EQUs), Elcctronics Hardwarce

‘J+ oo .: Technology Purks (EHTPs), Software Technology
87 | r | Parks (STPs), and Dio-Techaology Parks (BPs).

Prufe-aa sagdl (EOUs), TARIFMG TEd®
Sirafdl wdh (EHTPs), WRAW Igrarsit g
(STPs) T FEN-ZEREN Th (BPTS) b
walfaa e friarsl W ARy |

(b) What is SEZ? What [acilities are. available o
SEZ's?- State the bepefits and disadvantages of

. SEZ:I- v 1. & vl . ‘,
87 . SEZ wm §7 SEZ's. W W gfrard, 3w gl
¥? sEz ¥ adl 7 gifrgl | o TR | 87
Kporis o
:E;I: } 3. (a) Statc the main objectives of Current Industrial
R ?‘ Policy, 1991. Also discuss the policy measures
& / adopted under Current Industrial Policy, 1991 *
i aﬁmaﬂu’tﬁaﬁrﬂ[jml%wmﬂqqﬁ? -
. Fima st Ay 1991 & adv swmy W
i and Aif It & R g ) |
scrip - ST i

‘i (b) Explain the compogition: of Nationsl Board for -

R R . .PRTO .
.; o
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M'll.':ro Smﬁll and : Medium 'Entérprises. Und !

L=y

remove a- ﬂlcmber [mm lhe Ennrd 7 Dlﬂ“"" the
functmns of lﬁe ‘Beard. "

ti
.. which' candllium, .may the. Central" GovernmeR ‘*;

a;mr&rmmaam.
T oy (rerem)

)“Dilﬂ‘illl {he ptovisions of the Competition -Act;:
"“*'2002" with respect to the composition of the

®) State ilic: provillom of Micro, Small and Medium . .

Competihnn Commission .of India. How and for
what -period arr: the Chwpersun and the other

members of the Competition Commission of India .
..nppnintr.d? Discuss.

L
&
I
u\‘_

A aqmmaﬁnﬂﬁamﬂﬂ“ﬂm*{l
"'.mmm’rmmmmqﬁﬂzrﬁlﬂﬂmﬂmu
.'mmﬂwwahmm%?m‘

1,_1

{;.

".'

mmﬁm%mﬂm-”

nﬁmufmhﬁmzmzﬂ:mmﬂmﬁiﬁa
A (it wfvEd M ¥ wew 3 Iy

well 2 fet @ % Ry ik Rew TR Prge

ﬁ?mm%? ﬁﬁﬂq!ﬁﬁt{i

Eﬂtﬁf‘p’ﬂlﬂ Dwnldf.:m:nt Act, 2006 with respect

ib the delayed plm:mtl by the buyer to the Micro

afd Stasll Enterpf
dﬁé“ni&hqmmqmﬁ\ ¥ ¥
& ﬂrmﬁwqh 0 o S Py
ﬁhﬁﬂtm%ﬂﬁﬂﬁm| 87
:"fr ’

- -
- ';_---.'1‘-1:': 7 ‘r -

. -1‘-'-*-' I- I. .' = .,
SR v s e

i

LTV

1
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) What 4 iafdhes .h:npnﬁﬂsnmé /hat. o (he
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Unique Paper Code  : 22415103

Name of Paper : Basics of Accounting

Name of Course : G.E. ;: Commerce

Semester ] |

Duration : 3 hours

Maximum Marks : 78

(Write your Roll No. on ihe lop immediately
on recelpi of this question paper.)

(rw -7 & fowt 60 o fed md e
mr v s e )

NoTe ;- Answers may be written either in English or in Hindi;
but the same medium should be used throughout

the paper.

Rapft : 37 YEAT @ I S -ar R Rt o wmar
¥ Afrd: T ot ST I AT U & F
qInRT |

Attempt any five questions out of eight questions.

Don't write anything in the question paper
except your roll number.

| R4 ot g¥il 3 S B
T¥ ¥ W AT To & Famar 39 ot 77 dilaxa I
PT.O.
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1. Explain any five of the following basic assumptions and
principles : |
(n) Business Entity Concept
(b) Going Concern Concept 3. .
(c) Accounting Period Concept
(d) Historical Cost Concept
(¢) Prudence Concept
(f) Dual Aspect Concept
o TEvE wraarit ol Rt § 4 Rt e @
THARY -
(a) TR T STERON
(b) |IRY, I HFEren

(c) TEiHT HaAMRY SEREM
(d) Yftete ar SEEren
(c) Frdaqel Sraamom
(f) B THT TR | 3x5=15
2. Write short notes on the following :
1 ot Wit feopoft fafag -
(a) What are the advantages of double entry system?
el yRifte ot & @ Wy ¥ : 5
(b) Users of financial accounting information and their
need. '
Rt e TE B ST Ty St AT |
| 5
8421 2 : 8

—
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(c) Basisof Accounting: Cash Basis and Accrual Basis
AgiET W AWK : T8 TR 79T MEHaT A 5

3. Journalise the following transactions :

Ist January, 2019 Started business with Rs. 10,50,000

Ist January, 2019  Deposited into bank Rs. 5,00,000

4th January, 2019 Brought machinery worth Rs. 3,00,000

sthJanuary,2019  Purchased goods from Ram & Co. for
Rs. 40,000

5thJanuary, 2019  Sold goods for Rs. 35,000

7th January, 2019 Paid telephone rent for the year Rs.
15,000

8th January, 2019  Purchased goods worth Rs. 10,000 from
M/s Gamer

9th January, 2019 _ Paid for repair Rs.12,000 through
cheque

Oth January,2019  Paid for advertisement expenses
Rs. 3,000 |

10th January, 2019  Purchased computer worth Rs. 60,000
from M/s Realton Computer on credit

11th January, 2019  Sold goods to M/s Laxami & Co. Rs.
32,000

12th January, 2019  Withdrawal from bank Rs. 15,000 for

. private usc

14th January, 2019  Sold goods to Rawan for Rs. 45,000 for

1 cash
8421 3 Turn over
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I $th January, 2019

16th January, 2019

24th January, 2019

318t January, 2019

Heceived vash from M/a | anaml A&t o

e, 11,000 and disconnt allowed Ma

1,000

Iastied cheque for Re, 21,0000 favour

of landlord for rent for the month ol

January 2019

Iasued cheque in favour of Realton
Computer Ra. 58,000 in full settlement

of their claim.
lssued cheques for Salary Rs. 45,000

Prefafer a7-3A1 & e B

| JafY 2019
1 Il 2019
4 Fadt 2019
4 T 2019

5 Jqd 2019
7 AAAY 2019

8 Fad 2019

9 Ja{r 2019

9 WAL 2019

10,50,000 To H AT JTTH o

5,00,000 To &% i I
3,00,000 Fo t wYAT FHQ
40,000 To T WA 79 WO HAT |

L i |
35,000 Fo T AW AT

ad & T 15,000 To T PR
T R
mﬂﬁ'{ﬂ'lﬂ,ﬂﬂﬂﬁommm
frar

T & g 12,000 To & YA
& ¥ R

3,000 Fo R =g & A B

4
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10 ol 2019 e 1o Negel fregmesy maengze & 40107,
to W mezt gy A

11 e 2000 92,000 o w1 e Ko ey rere
o &) 4

12wl 2019 vy weivr &t 15,000 B0 %5 7
Py

14 TTdl 2019 45,000 To 1 UTA AN 7Y F5Z 41

15t 2010 frad wwlt qur R @ 21000 o
s wrer AR T 1,000 %o 71 377
faar

16 ATaN 2019 T 2019 & A & BT 7 g
vt & g # 21,000 5o F =
frffter R

24 T 2019 58,000 Bo T % RART T #
I 31 & POf A & forg e
faan

31T 2019 ¥ B R 45,000 To B ¥ Priia
e 15

4. Big Bazaar provides the following information relating to its
inventory for the month of March 2016 :
Date Particulars
IstMarch,2016 ~ Opening balance 1,600 units @ Rs. 40 each.
4thMarch, 2016  Purchase 1,370 units @ Rs. 45 each.

6th March, 2016 Issu_cl.SDGmits
8421 5 Turn over
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ShMarch 2016 Isswe 1,250 uniss |
152 March 2016 Purchase 1,400 wnits @ Rs. 30 each

19th Mzrch 2016 Issue 1,300 umits

26ch March, 2016 Purchase 1,500 units @ Rs. 60 each s,
29th March, 2016 Issue 1,130 units _

You are required to find out value of closing mnventory with
Perpetinal and Periodic Inventory System by adopting following
methods of valuation of inventory :
(2) First In First Out (FIFO) Method
() Weighted Average Price (WAP) Method.
A 2016 F WE N I AEgE S TEEST 7T T9R
TR = g S &g i k-

AR R
1 77, 2016 RIS 99 1,600 IHE 40 To TS
4 T, 2016 w1 1,370 HEAT 45 To TS
6 ITd, 2016 it 1,500 =Tl
9 TTH, 2016 it 1,250 =l
15 9, 2016 & 1,400 IHEAT 30 To TIE
19 7, 2016 iy 1,300 TR
26 U, 2016 WA 1,500 THEA 60 To TS
29 W, 2016  FiRE 1,130 Taar
S Fd AR SR el worRt § seEy sifta whRa
W I e ¥ el @ gwiet & By Rt =
T FS

8421 6
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8421

(a) TR MTTH YO AAE (FIPO)
v st ol At (WAR)

15

From the following trial balance of Mr. Vineet Dansal, prepare
Trading and Profit and Loss Account for the year ended ) lst

March 2017 and Dalance Sheet as on that date :
Trial Balance as on Jist March, 2017

Particulars In Rs Particulars
Computer atcost  1,83,800 Mr. Vineet Bansal's
Purchascs 712800  Capital
Cash at bank 40,000 Sundry Creditors
Cash in hand 28360 Bills Payable
Furniture & fittings Discount Received

at cost 15400 Sales
Rent 125400 Retumns Outwards
Bills Reocivable 67,200 Rentduc
Trade charges 9,200
Sundry Debtors 341,560
Drawings 52,000
Dnsoount 5,400
Wages 18,000
Salarics 1,67,800
Returns Inwards 10,000

17,716,920
Adjustments :

(i) Closing stock on 31st March, 2017 was valued at Rs.

2,56,000 at cost

In Rs.

600,000
1,30,000
1,02200
2,20,000
6,07,200
1,14320

3200

17,76,920
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& =53 28360
TR T ST
. WFR W 15,400
Fewan 1,25,400
™ W 67,200
ANR T 9200
RRT 3|—R 341560
ST 52,000
R 5,400
8
e T ———

(@ Deprecianon on furmiture and titangs shall be providad at

% pa

() Provide tor doubotud debts at $% o Sumdiy Debtorx

(%) Goods cosanyg Rs. 13,000 were usayd by the propoeton

(v) Sm-!dnquhIlﬂmnmshnm:‘lsmlmhmll

(1) No degreciation oeed o be provided for compuiter ny it
Bad beex purchased oa 315t March, 2017 and not put into

use

RATT ¥59 3 PP 399§ 31-3-2017 T TWTST mf & N
TOR @ WY-8 6T a4 4t RRr e Rz dar

SR

AR R
AT W EX 1,853,800
=T 712,800

LR 40,000

R R

fro R <wer
Fr $oit 6,00,000
R fwr 1,30,000
QT faw 1,02,200
& 2,20,000
[LE 6,07,200

WEE gt 1,14,320
R 3200
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Tl 18,000
EOE | 1,67,800
HEF T9H 10,000

17,76,920 17,76,920
WA

(i) 31-3-2017 & fT T &1 = AT W 2,56,000
YR ar)

@ T T WA W N 10% s
&

@) AT ¥R & 5% W aw 3o & yEuR FEr
t

(iv) 15000 TIX TP P T B QAN TR0 T4@T R
|

(v) YA 3 12,000 TYY 31-3-2017 Y 37 &

(V) TR W i [0 & I7uE 76 e b w1
E 31-3-2017 B HY RRaT T e ol g @ g
ar| ‘ 15

6. Attempt any three from the following :
(a) Difference between Straight Line Method and Written
Down Value Method
(b) Difference between Perpetual Inventory System and
Periodic Inventory System
(c) What are the importance of accounting ratios?

242 i 9 Tum over
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(d) Vrite a shext rafe €5 ferton G ey Aormped oy steng
Principles (GAAFS)
trey 4 71 Pt A % T A
| (a) Hrh T v A v = e E 5
| mmv{a’rﬂﬁrmmaﬁﬁﬁﬁ

(c) #aFA FIAET 71 7N A X
(d) WA A Hed 48EA mas T SEE

frareft ffEd Sx3=15
7. (a) What are the objectives of Financial Accoumting?
(b) Write advantages of Straight Line Method and Dimengiemg

Value Method
(¢) From the following balances extracted from the books of

Mr. Kuldeep Jaryal, a trader, prepare Triz2l Balance 2s oo

31stMarch, 2019:
bn is. In Rs

Sales 1050000 Purchase 7.50,000
Camiage Inward 27,000  Salaries 1.20,000
Advertisemnent 24000 Bad debt 16,000
Machinery 75000  Stock 186,000
Office Sationery 20000  Cashin hand 42,000
Cash at bank 1,68,000 Bills Receivable 1,80,000
Sundry Debtors 246000  SundryCreditors 324000
Capital 500000 Drawings 0008
Bills Payable 1,60,000

842 o
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) Rafle Ratsd @ ®n oo M K

) AN Rl ofte vl v vl & e ey

©) Ol gede witae, o) geed @ g e
R R AN W AT WY

L) v
L 1050000 Y 7,50,000
NIIE WIH 27200 AW 1,20,000
R M000 YW W 16,000 |
T 75000 WY 1,86,000
TN R 2000 'R AES 42,000
iy 168000 Wy A 1,80,000
RRT ™R 246000 AT AwR 3,24,000
= 500,000  JTEXT 1,80,000
W e 1,60,000 5x3=15

8. (a) ATS Pvt Ltd. purchased a machine (M1) on 1st January,
2017 for Rs. 6,00,000. Depreciation is charged with Straight
Line Method @ 10 per cent per annum. You are required
to pass the journal entrics and prepare necessary ledger
accounts and in the books of ATS Pvt. Ltd. from 2017 to

2019.
ATS STo ffo X 1-1-2017 Y 6,00,000 T B & T

i I8 W et e vaf & 10% i T
mmhmmsmumoaﬂgm’tﬂ 2017

Turn over
B2l 1
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2421

3 2019 3% T4 TAES L5AQ 3 WD °O TR

FRT | -
(b) What are the causes for depreczation?
FIGT & I T BA 87 )
(c) What is the importance of profit 2nd loss 2ccomr?
AN g & & wa 8 P
\
i
11 Al
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This question paper contains 4+2 printed pages)

" A Roll No.

S. No. of Question Paper : 8422

Unique Paper Code : 22415104 J

“Name of the Paper ¢ BCH 1.4(b) - Business Organization
and Management

Name of the Course : Commerce : G.E.

Semester . |

Duration : 3 Hours . Maximum Marks : 75

[Write yvour Roll No. on the top immediately ﬂ-l'.l receipt of this question paper )

Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

feopoit .—v0 weA-T w1 IW S W et e o v
7 Zifay; dfF 8 I = 9nae o 6 e
e |

Attempt All questions.

All questions carry equal marks.

wft v & Im S
ot wE & oiw wm &

P.T.O.
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N 11T

G INPIATA N AN N DR A A el e

LSRN EREA IR (T A TS I T A TR 1Y T T T T

A NN WMAAASIRIN AV A PN DT ksl !

() TR WA W) i o a0 s
o wEN U O W slta alnelvaell o) gy
i)

(X)) WUR R W® WM R w® N udia wl) ey
i)

On (W)

&) What s the Jditference between organized and
unorganiaad enterprises 9 L

WM What are the different pipes of business environment ? 7

(H) ¥ T SEIS SuWl ® WM wmy oRw & ?
(W) v vwrR ® w www w0 € 2

"R is the entreprencur who bears the risk of an industry."
Comment on this statement and explain the process of

entreprencurship, | 15
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« 3 ) i

e Ul @ X N F wdm @ SfEw W
T 0" W O W o sifwe qw sawwieE
w virm Wt =mem #ifg

Or(37erET)

What is the purpose of feasibility study of a project ? What

aspects should be included in such a study ? 15

fFt Wi & smerd@ v w1 Ry =
t ? W o # e wegell | owifve R S
wiftg ? | '

(@) What are the advantages and limitations of a company

fqml of organization ? 8

(5) What are the main challenges faced by family business

fims in India ? 7
() T T B wER R W owm ¥ 2
@) wRa § iR wmE W R w5

il =1 & 2

P.T.O.

Scanned with CamScanner



N

Qe )

@ BN I NN aoiiast i the fisianlation ol o
N
Nodimeas v hatrateny

) WAR i oAt By faily husiness Y What are the metits

of Dewid Nusinesy i lndia ¥ 7
m\qwmm-wﬂ’fﬂlﬁﬁﬂfﬂlfi?ﬂﬁm RIER]
SR Wi
) TRwRs SEm ¥ v ow b o? v H
Tiwie SR ® 'y ¥ € 2
(@ What is the significance of communication in an
organintion ? .8
(» What are managerial skills 2 What skill mix is
expected of the manager at the top level of the

organizaton 7 7
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( §& ) s

(®) Tk the w § 2 W B Wi /W
R TANS R fFy whm fRym & IR
L S
Or (YA

@) Explain the qualitative techniques of managerial

devision-making. 8

() What is motivation ? What does Maslow's need

hierarchy tell about people’s needs ? 7

(¥) wavsTg fvfg 8 Y OTTS TEARI DI S
BifAC |

(%) Fhekw = ¢ 2 T w AEEEm WIETEH
i st owedl ® W O§ wn oW 2

Write short notes on any (wo | 2x7.5=15
(@) Distribution channels
(6)  Significance of leadership in organization

(© Industry analysis

(d) Career Options in Business Management.
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( 6 ) M7/

il WY W wfa fropf e
(31) ferrm A
(W) ¥ W ge w1 e

(|]) 3um faydwy
() =wmm wwva o Wi fred

6 3000
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[This question paper contains 4 printed pages.]

L 9

) 5 Your Roll No....... veressse
Sr. No. of Question Paper : 8257 J
Unique Paper Code 1 22415302
Name of the Paper . Project Management
Name of the Course - Commerce : Generic

Elective
Semester . 11
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all the questions.
3. All questions have internal choices.
4. Use of calculators is allowed.

1. What is project management? What are the key
objectives of project management? (15)

OR

(a) Define project management. What are its features?
(7)
P.T.O.
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\2§?

() Eaplam the mam OBV A et planiiing
(N

(@) What aspavis awe consitered e technical analysis!
L)

LE

(M) Explain any o qualitative technigues ol demand

forevasting. (N)

OR

% N % .on "W
(2) What are the components ol cosl ol project’

Dhiscuss, (N)

(5) Explain various sources that can be used for rasing

funds. (N

(2) Discuss briefly the aspects of business environment

that nead to be monitored, (7

LPY ]
.

(d) What are the factors that help in business

growth? (M)

OR

What do vou understand by PERT and crM?
Bring out the difference between CPM (Critical
Path Method) and PERT (Program Evaluation and

Review). (13)
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3

(a) What do you understand by SWOT Analysis?
Explain with the help of an example.

(7

(b) What do you understand by social cost benefit

analysis? Explain the significance of this approach.

OR

project evaluation?

(8)

(a) How is the data collected for market survey for

(7)

(b) Mr. Rohit is concerned with the liquidity position

of his firm as he has heard that liquidity problems
are one of the most frequent cxplanations for
business failure. The following data is available:

Particulars

Cash in hand
Cash at bank
debtors

Bills payable
Stock

Creditors

Bills payables
Bills receivables
QOutstanding expenses
Goodwill

Land and building
Prepaid expenses,
Dividend payable

50,000
1,20,000

40,000
2,00,000

Rupees
20,000
30,000

1,50,000

80,000
50,000
60,000

4,00,000
20,000
30,000

P.T.O.
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8257 4

Calculate the following :
(i) Current ratio

(i) Liguid ratio (Ar)-H)

3. Write short note on any two : (7.572-15)
(a) Loan syndication
(b) Pre-feasibility study
(¢) Risk-analysis

(d) Legal considerations in Project Management

e o 2 (1m)——tu:h__ =

== =
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